)

Anniversary
f SHowa PRECISION

SHOWA PRECISION NC TOOLING CATALOG




ZELDER

SHOWA REECZBRVRE. HUNESTINET,
BE&) . Z2BRE KU RUREDHLICEHTHBIET,
P SIEORIRL. CERICEULELT,
TREDBEICEELCVEEETHK. BEVBLULEITET,

BIRZERILZET B HDERBETT O T RRVRESD N\ T —ITASRBBTHRA TER

ij RV E RS B SICRRBINEN RE T IEEHHIET,
FBIRZETOERZBBNELET,

HNEEUT T - A URDTER

WY —)LiRLS & Uy S PR THERERICEELU TERZIT>TTIE L,

BYEZY— LNV BT BBEE PINTICEF TRNELER. SEETEW,

WF vy IfHHTRARANT (. EHIEEDERR/NF Z T TERT IV, R/VFBHFERICHEREICE 1
T RZEDeHH L ERMBFFTTE,

WHEHICEY T BRI, IEDHOH A IFREBH EEN HEERTTU,

ITEDFES

WY —IURILY 7Z TR, HDVET AT VIR MIEE T B CSE TS BRRVER BURVISERLTTE L,

BOEE DY — )KL ROAEICF ANV T TSV BEOBNA GBI,

W Ih(E SR DRELE T UG - NEDBNAHIE T DTREN/N— (REXAREDERAZITD
ThRELY,

BEE7—SVMITORIRUEFE AEERICFLEZE D FBRVRICUTAERZT>T RSV BIEZ
FOlGE HENRTEHIT BN BIET,

WY —ILRIL9EZ  ARDBHLSHER U & D RRFTHOIRVT TN #EE BEDERTLEIFT
B RN FICKBDERSHDRERICIEIET .

RHIREROIEE

BF vy EZRGRESNZBESRE. NEZFrvvIIERUANAUTHERE TSIV FEHETOERERY
FI HEEZFrvvF VI UEFEFRARESINEESE. Ty E2—EEHT. BEFOELEZTO>THS
CERTEL,

WS EREIY GEY RSN EET O C. T—/ S PEITITEN O B UVEICARELT TS,

Pl BaREZECEAVCELICH IO TORE LOBRANKIEFRCTIN . SRREIEDIEFRGE. ZNT
NOBERWVWHIASICEEE L THIE T . CEARTIC. B TEIRVERIAEZHFTH FEL,
ZOMFHICOTTL TRV BHETHEVGDE T L,



Thank you for purchasing SH@®WA brand tool.
Before using our tools, please take note of the following.

Incorrect tool use can be dangerous.
Read instruction manuals carefully to prevent dangerous operation.

Pay partcular attention to those warnings maked with A\ .

Safety instructions for installing and removing cutting tools

BLook the tool holder in a tool presetter or locking fixture positively, for installing and removing
the cutter.

BDo not touch cutting edges with a bare hand.

BUse spanners supplied by SHOWA specifically for the clamping chuck. Engage the spanner
fully in a key slot of the nut and tighten by hand. Do not use a hammer or pipe to tighten
more.

BMake sure that the cutter is correctly mounted in the holder before setting the tool in the
machine.

Safety instructions for using tool holders

Minstall the tool in the machine spindle or tool magazine carefully. Do not release the tool until
it is properly clamped.

BNever touch a running tool holder or cutter.

BMAlways wear appropriate glove, eye-protection and other protective equipment to avoid
injury from hot flying chips.

BW\When high-pressure coolant is used, do not bring hands or body near the tool to avoid injury
from an improperly mounted cutter forced out by the high-pressure.

BDo not use tool holder for any purposes other than their original purpose. Do not modify or
disassemble.

Advices for storing tools

BMRemove the cutter from the chuck before storing for long period
Otherwise, clamping force may be reduced. If the chuck is Stored for a long period with the
cutter clamped in it, unclamp the cutter and reclamp it again before use.

BClean chips and coolant from the tools, and apply rust preventative before storing them.

Further information on our tools can be obtained through our distributors or
directly from SH®OWA.



N—=RFvvT

CSFvvo
NR=—U2YTFwoyI(ALybFvvT)
AU LTLYEF I (CTS)
Za1—2Z—/S—RUjL

N—=RFvvJ

IBEN—RFvvD
Za—E-UVITFvv I (FRIA )
CS Fvwwo

INEZE—UYTFroyD

IR LFovD

INEZE—UVTF oy (@RI A )
AUV FIIRILS (LF25—9 A1)
VAUVFIITHRIVS (Za—RULTAT)
aUVFRVIRIVG (TYFTA)
RULF v (> T—1FE)

v FILS (IEERT)
TCCEIYwFabwhk
BEESEEMNIY S RILS
TCRI9wFaLwh

B4 ROvIRILS AR

B+ ROwvIHRILS (RUJLR)

B+ ROwIHRILS DAY
E—ILAT—/\RILT AR
E—IVAT—/ VUKL BEY

FETSA A7 —/ AR
IEET7 51 A7 —/\BEY
IEET7 51 A7 —/\CE
FAETSA A7 —/N\IB (A ZHIVA)
TIAAZ)V7—/\HE (B9 —2)IU—11)
A RDyI 7=\
ZA)Uik—)LiRLS (B ROvIR)
FA)iR—)LiLS (E—ILRAT—/ )
FAIIR=)U\—=RFwvD
FAIIR—=)VINR=E—U T F o
FAIR—=ILIv FRILS

HARD CHUCK

CS CHUCK
COLLTE CHUCK

SLIM COLLTE CHUCK(CTS)
NEW SUPER DRILL

HARD CHUCK

SLIM'HARD CHUCK
NEW MILLING CHUCK(G type)

COMPACT MILLING CHUCK

COLLET CHUCK

SLIM CHUCK

COLLET CHUCK (G Type)

SHRINKING HOLDER(Regular Type)
SHRINKING HOLDER(New Slim Type)

SHRINKING HOLDER(TY Type)

DRILL CHUCK(SINGLE PIECE WITH SHANK)
TAP HOLDER(Clockwise Rotation)

TAP COLLET (Type TCQ)

DEPTH CONTROL TAP HOLDER

TAP COLLET(Type TC)
SIDE LOCK HOLDER
SIDE LOCK HOLDER

SIDE LOCK HOLDER(For ANSI type combination shank)
MORSE TAPER HOLDER(Type A)
MORSE TAPER HOLDER(Type B)

FACE
FACE
FACE
FACE
FACE

MILL
MILL
MILL
MILL
MILL

ARBOR(Type
ARBOR(Type
ARBOR(Type
ARBOR(Type
ARBOR(Type

SIDE CUTTER ARBOR

OIL-HOLE
OIL-HOLE
OIL-HOLE
OIL-HOLE
OIL-HOLE

A)
B)
@)
)

H)

ADAPTER(Set Screw Type)
ADAPTER(Morse Taper
HARD CHUCK
COLLET CHUCK
TAP HOLDER

Ol W | N O | DdlwW N |IN|—

O | N/ UMW =

18
19
20
21
23
24
25
26
29
30
31
31
32
32



N—=RFvvJ

CS Fvwvo

NE=E—UVTFovD
NBRE—VUVTFrvd (@RI A )
INRRAULFwT

VaUVFVIRILS (LF25—917)
aUVFVITRIVY (Za—RAULIAT)
RUILF v (Vv —1FE)

T+ ROVIRILS AR

T4 ROvIRILS (RUJLVF)
E—ILAT—/\RILST AR

IEET 514 A7 —/ AR

FEI 54 A7 —/\BE!

FEI 54 RA7—/\CEY
TIAZXZIV7—NNHE (Y9 —R)L—HHR)

N=RFpvT
NEE—UVDTF oy
VaUVFVITRIVS (RULTA D)
RUJLF v 7—/\
E—JVAT—/Vabwk

YA ROvI 77—\

SIS (IEDEE)
EEISA A7 —/\AR
FEISA A7 —/\CE

YA RAwT—7—/\

N’
/)

<NAE>N\—RFvyy

N> N\—RF v I (E—ILRT—/VIVTHE)

<RARA>N\—RFrvd (BELVRA)
<HAMA>N\—RFrvD (%Y B)
TSVIBIN—RF vy I ((RTHEF)
<NABER>STILS (QCRILS)
<STRILVI>AZHE WS

SRV AE(QCHILS)
<SHILI>T—/)NZAU—=T(S13bwh)
<SHILI>N—=RF v I(S20Lwh)
STV > TTARZ)VF7—/N(S3 T w )

HARD CHUCK

COMPACT MILLING CHUCK

COLLET CHUCK

COLLET CHUCK(G Type)

SLIM CHUCK

SHRINKING HOLDER(Regular Type)
SHRINKING HOLDER(New Slim Type)
DRILL  CHUCK(SINGLE PIECE WITH SHANK)
SIDE LOCK HOLDER

SIDE LOCK HOLDER

MORSE TAPER HOLDER(Type A)
FACE MILL ARBOR(Type A)
FACE MILL ARBOR(Type B)
FACE MILL ARBOR(Type C)
FACE MILL ARBOR(Type H)

HARD CHUCK

COLLET CHUCK

SHRINKING HOLDER(Slim Type)
JACOBS TAPER ARBOR

MORSE TAPER COLLET

SIDE LOCK ARBOR

TAP  HOLDER(Clockwise Rotation)
FACE MILL ARBOR(Type A)
FACE MILL ARBOR(Type C)
SIDE CUTTER ARBOR

<NT SHANK >HARD CHUCK

<MT Shank >HARD CHUCK

<NT SHANK >HARD CHUCK(A-set)
<NT SHANK >HARD CHUCK(B-set)
HARD CHUCK

<NT SHANK >S-HOLDER(Q.C HOLDER)
<S HOLDER > SET

S-HOLDER BODY

< S-HOLDER > TAPER SLEEVE(S1 Collet)
< S-HOLDER >HARD CHUCK(S2 Collet)
< S-HOLDER >face mill arbor(S3  Collet)

35
36
37
38
39
40
41
42
43
44
45
45
46
46
47

51
51
52
53
53
54
54
55
55
56

59
59
60
60
61
62
62
63
63
64
64



E—IVRT—/Vv I yNIEEET A )
E—IAT—NNVvTtyh (FAILik—)LRILS )
ANU—bI Ty IREES A )
ANU—bv Y TyNT Ly ieER)
E—IRT =NV v Iy T A )
E—IRAT =NV v> Tty (OHRILS FFEEAYR)
AN—h Ty FEEAYR)

ANU—b v TeyF Ly NEERFREAYR)
BAREEAYRR)

BHTHEANVRRA)

IORFVyav7—N

Za1—2Z—/—RUJL BEEAYRERK
Za—Z—/N—RUJL  FERAYREHE
E—IVAT—/V I IBk

OHE—ILAT—/V Ipo8F
ANV—h T EE
ANV—b vV I BT Ly NEiER)
T—2UNIVT

FBEEA R (E@ U TA)

BAE

N—RFvvIR 775 U—

CS FvyvIH 77t U—

CR JLwh

CRAA )LR—)LaLYNOHS A D)

CRA A )Lik—)LALYNCT A )

CRwZFabwh

CRZwFaLwk OHIATS-CIAS

INEZE—UY I FowIH 7Y U—

TIVRI R

trI—-2—= TILRIYR

EEISA A7 —NBIZV TRV (ERIZL)

FEISARA7—NBISV TRV

AN—hRU—=T

F—IRTF—/SRU—=T

<HSK  2vwT> IO—=SVNNAS

BEEFEINAES (B8

BEEFENAES (R FEIA)
=

SIEN:GETIEES

MORSE TAPER SHANK SET(Standard)

MORSE TAPER SHANK SET(For Oil-Hole Adapter)
STRAIGHT SHANK  SET(Standard)

STRAIGHT SHANK SET(For Turret Lathe)

MORSE TAPER SHANK SET(Flat Head Type)
MORSE TAPER SHANK SET(Flat Head Type For OilHole Adapter)
STRAIGHT SHANK SET(Flat Head Type)

STRAIGHT SHANK SET(For Turret Lathe)

BLADE(For Standard Head)

BLADE(For Flta Head)

EXTENTION ARBOR

STANDARD HEAD ASS'Y

FLAT HEAD ASS'Y

MT DRILL ARBOR

OH MT DRILL ARBOR

ST DRILL ARBOR

ST DRILL ARBOR(FOR LATHE)

COOLANT RING

T/C GUIDE(For Through Hole with Standard Head)
BLADE CLAMP

ACCESSORIES for HARD CHUCK

ACCESSORIES for COMPACT MILLING CHUCK

CR COLLET

CROH COLLET(OH type)

CR-C  COLLET(Ctype)

CR TAP COLLET

OIL HOLE CR TAP COLLET OH type/C type
ACCESSORIES for COLLET CHUCK

PULL STUD BOLT

PULL STUD BOLT WITH COOLANT HOLE

CLAMP BOLT FOR FACE MILL ARBOR(WITHOUT STEPS)
CLAMP BOLT FOR FACE MILL ARBOR

STRAIGHT SLEEVE

MT SLEEVE

< HSK SHANKU > COOLANT PIPE

High-frequency induction heater(Console model, Automatic type)
High-frequency induction heater(Console model, Manual type)

High-frequency induction heater(Bench model, Manual type)

67
67
68
68
69
69
70
70
71
72
72
73
73
74
74
75
75
75
76
76

79
80
81
82
83
84
85
86
87
88
91
91
91
92
92
93
94



T—UY TV AT LERA
(SF-DRU-15K + /m#E12=wh CA-1116A)

J—UVT ATy (SIIAEBIFZFENTHEIUFEA)
IT—=UVINvR ) PITI

V=)L Uty

V=)L UV T IEHY

BATER

BT v IdiER
NTY v IER

MTY w209 V1) kR

MT2 >0 (BlEAG R IR)TiER
HSKY v IHER

T—SUNNA THER

HSK w0 &5 A TORR-FHY

Example of cooling system use]
(SF-DRU-15K + CA-1116A cooling unit)

Cooling Unit (Heater not included)
Cooling head and adaptors
TOOL PRESETTER

TOOL PRESETTER ACCESSORIES

BT SHANK DIMENSIONS

NT SHANK DIMENSIONS(Manual Tool-Change Type)
MORSE TAPER SHANK DIMENSIONS(Tongue Type)
MORSE TAPER SHANK DIMENSIONS(Drawing Thread Type)
SK SHANK  DIMENSIONS

COOLANT PIPE  DIMENSIONS

VARIOUS FORMS OF HSK SHANKS AVAILABLE

95

96
96
97
100

103
103
104
104
105
105
106



IN—FF

HARD CHUCK

N—ILRIEEHSEINT
EEDOBE T

Outstanding power and \'V\ |
accuracy created by ball screws ,\«%\‘

RN —IL R IR

s Ball screw mechanism is employed first time

SHOWA®D/\—RF 1y J1&, R THH THR— LR T F vy SRR,
OYJES—FvvIEULT . BEREREEY - UV I VYRT LZEIIL. S5SNI TG IITBENICHASY—ILTT,
A long seller Collet Chuck which employs ball screw mechanism for the first time in the world.

Various shank types and sizes are available for wide range of applications.

HIENIUERD3~5(5ZRIR

Clamping power increased by 3~5times.

R—ILR VBRI BEZS | EABHTFrvvF I LFET.C The ball scrwe creates high clamping power by drawing E
NEE. R=ILRXIEBOR—=IVBICHNZ SN H 2058 in the cutter when the nut is tightened.

EICRU SHOWARB DR FUY 7Ly hARICK ST B The high clamping power is obtained in any place of the
EBANOTHhSRATUY I ALy N2 THREICHDITITE T,
ZORERMERD=—UV T F vy I D3~5EDREHZEIR
LE Uz,

spring collet. Clamping power is multiplied by 3~5 times
compared with non-ball screw chucks.

WMBEBDRATVYI ALY LR TERENESNET

Accuracy is increased by original spring collet.

ASARNR—=IVEEBIC K> T HORFFBEFICRIVUAN AT High accuracy is obtained, since the collet is free from
Y7 ALYMIELS5RBRVD T, ALY hOFOBEN . ZDFH twisting force due to the thrust ball structure. SHOWA
FN—RFryvIDRELBIET, original way of manufacture

SHOWATIS. REFDERE / INTZEN L. JRE ORLIE and heat treatment, high accuracy of the Spring Collet is
ZITV. BRETHAMDH ATV I Iy EREVTL

maintained for a long period of time.
FUTc,




A4 ERDERIBE

High rigidity is realized by thick wall structure.

N—FFvvIEFH5ZBEBRINIREICESVTHEALG Very thick wall of Hard Chuck
FryF VTN BNTABEZH#IFT 21T IEEERZ{th(C provides high chucking power,high rigidity and accuracy,
HEDIBWEREBETRIELTWVE T, even in hard jobs.

TREFDIR{FE

Very easy to clamp and unclamp.

SHOWARBOR—IL2IEBEZREBLTVDDT./\VRIL The SHOWA original ball screw mechanism provides
REDNBITRA. FYMEXOES BRI THECTIED easy chucking. A cutter is
BERNHRET . MBEOT L —FHIEZNRE) clamped and unclamped only by a half turn of the nut.

(The nut is fixed by a built-in
braking mechanism]

> Far

e

IRORBRG/INDT —

Wonderful power of steel ball

SHOWADN—RF vy T3 5k ($HER) ZEREiFE UTERL. Steel balls are used as a rolling transmission, by which
| FYNEEROERENSKBETX\YRIVEEDNETERZ the chuck can be clamped with less hand power. The ball
o FEOR—ILRYDEBNEHENREED U KK T NDER screw race of the nut and chuck body is finished by close

e MBHE IS BREEHEN L2778 VW IROPRGER ZE19 5 tolerance grinding, to realize highest accuracy, chucking

TEICEH>T . EBEDRIMEEEUREDRZVR—ILR IHEIE

power and rigidity.
ZEHHULE U,

\ 5; ‘\_

CS CHUCK

—RILRZUV T ARDEFRAICKY.,
7“/ b2 AU L{E. ALY RRICHENBENRRE
N—RF T &ﬂ%@?ﬂ%ﬁ’&ﬁﬁﬁo
?V‘J-‘-FJQ“H%(L?JEU)/EJ} Wizl EBEHURESS.




INBE—UVIOFvvT
(ALbvybFvvD)
COLLTE CHUCK

HHSWBIILICHTIRNT B
\—2wIiRILS

This chucks are most suitable chuck
for drilling, milling, reaming, tapping.

=t R
High accuracy collet

OEEBEL EFOILY M ERLTVE I O T ARIUEEIF =IOV E(, (DHigh accuracy collets are used.
@I YRS REANEHF DD G VTHEFEMD &H 2455 ZEELTHY @The Collet is made of quality alloy
FIDT.RHEECTMHAKICBN TSI, steel which minimizes strain and wear.

R/IVRO.5mm& Fvvd o olgE

Smallest diameter is 0.5mm.

CHUCK dLybAE(mm) IEIREEE (mm) CHUCK JLybARZR(mm) IEIREEE (mm)

COLLTE 1.D. GRIPPING RANGE COLLTE 1.D. GRIPPING RANGE

CTMO07 CTMI6 $1.5~3

CTM10 $4~16 1]

$4~10 CTM20

CTM13 $4~20 1w ]
$4~13

NAYEDHB316°T

DIN6499/1SO15488. U JERIRZEMFPTHZLERHEINT Standard 16°(DIN6499/1S015488) taper collet, the most
W2 8ZRA. popular in world.
BEAFEEEXA—NOEEIERF vy ILYNCHBEN Major CNC makers are adopting this collet as standard

JRFEY, items for milling collet chucks.




AULIVLYbM;FYYD
SLIM COLLTE CH}JCK

HBAYULIBINT 482EHIC K,

J—=7J-

BEOFS

ZE/|\RICHIZE T,

By a super slim body, it minimizgs

the interference of work & jig.

| Ld

HBAU LR YR RT 112

Super slim nut and body diameter.

SREAEDH 316 57—/

Super slim nut and body diameter.

DIN6499/1SO15488. UJERIG EMFRPTHZLERHEINT
Wa sz,

OFR/IMR0.5mMmEWF v+ I 0I5

CHUCK | T NS IEIEEEE (mm)
COLLTE 1.D. GRIPPING RANGE
CTS07 d1~7 0.5
$1~3 0.5
CT510 ®4~10 1.0
CTS13 ®1~3 0.5
$4~13 1.0

QOEBEBELLFOILY N ZEALTVE T DT RNEER
SJ0VESIL

@Y MIFIT HEANEH DBV EFEED B S457%
HZzERLCLE T OT. SREE CHALICBNTNET,

g

| NN

CHUCK FTyb - RFqR
CTS07 916
CTS10 $22
CTS13 ¢28

Standard 16°(DIN6499/1S015488) taper

collet, the most popular in world.

(MHSmallest diameter is 0.5mm.

(2 High accuracy collets are used.

(®The Collet is made of quality alloy steel which

minimizes strain and wear.

RNIEE

by ER

O

P |

AA#R

1umA

3umiA




—a1—ZXA=/\—RUJb

NEW SUPER DRILL

MAX.1800mm®;ZE7Thl T
Deep boring up to 15 times disameter!

mRWSHRIEERIR

High Reliability and Proven Performance

A—=IN—RUILOZFTCTEBVN VW THBUEITH LIS
BILI-&GmIEY ZB18 I SHOWAT I REDRERE KB = IE
FABIC. AR BREESTEFVWIE L. - DERFD
CEECBIATAEH BIFEVWRSEHICEERIEET.
HS5WBANNIICHIGT D —1—A—/\—RUILZRERLFEL
feeZa—X—=IN—RUEANYR, VvV I8 EHED ETIE
FEAIAIWIC.TIRTVYaV7—NeHER . TESEFR
MRS ICHBEERSEIIBENIVER—Ya VAR T —
BEBVSUBEICESTEUET,

=

SUPER DRILL was put on the market by SHOWA TOOL
CO0.Since that time, it was continuously improved through
in-the-field experiences. In responce to customer's
demands, NEW SUPER DRILL has been developed to
increase its flexibility, employing a modular system. The
basic set consists of a head and a shank. And, extension
arbors are added for deeper holes. SUPER DRILL's
ease-of-use is further enhanced by this modular
construction.

IIIEMINGSOMmM~MAX¢p270mmZ%Z1EDEETEROTIIIH e

Single Pass, precision boring of 50mm-270mm diameters

Za1—ZA—-N—RUILRBPREHICEYI-RUILZRBELTHIET
DT MIMCRYFRIIEVIEIBEZTIHENHIER A

R EVIRVILDHA RICIB>TERDIIIATREAE T,

A1S55-A265-B80-C100-D120fF# Y 1 XICE150-F180-
G210:H240:1270DKEY 1 XZINZ . 10FEEDANYRZRHATH

DEJ,

No center drilling or pilot hole required. Super
Drill's built-in center drill acts as an axis for
precision drilling. New Super drill is available in
10 standard head sizes, A15-55, A2-65, B-80,
C-100, D-120, E-150, F-180, G-210, H-240 and
1-270, for drilling 50mm to 270mm diameters.

=) NI LICEREMAX1800mm

Specialty of deep hole drilling

Za1—Z—=N—=RUILOYIEIFIE 28 GER -1 £3)
THEEEVIRVILTEBHRS N NS IFENRIFEICEL 0%
(FNS LTSN THHINET T O TR LICHRE.,

#ElMONITHhES

Able to drill even in hard metals

YRR EIC KRN, RZERLTHBIT T DT HEIMS
BAICINITEEY,

Combination of roughing and finishing blades form small
chips, providing efficient chip removal. No pecking or
dwelling required, even for deep holes.

New Super Drill cutting blades are manufactured from
sintered HSS, providing excellent drilling performance
even in hard metals.




Reusable blades and center drill

Tt LAYHIN ZRAE T BT EICIO>TIIRZERDTIEIC
TYNHRFET DT HERDY A ANRUIVEAES D (THEH
HNE9,

Za1—Z—N—=RUJLOLIEIRAIF. VI —RUIL-RER (7
H) -SHRH (L EIFH) D3BRTEAEINTSY.LWIFNHE
RENHES. EENERUILTT,

HAHERSR Re-sharpening fixture

R¥ (5&H) -SH (1 LIF3) BEHREDRR. LR Z 873 THER
IBH3BHDTYT,

A pair of roughing and finishing blades, can be resharpened
utilizing the resharpening fixture on the surface grinder.

D TiZEFEE - BEREH T RE/S HI I3

drill, a roughing(R) blade and a

finishing(S) blade. Different diameter of holes can be
bored by changing blades within the

capacity of each drill holder.

The blades and center drill can be resharpened which
reduces tool cost.

FLIWVU>Y7T Oil ring

SI7IN—IVEIRETERDZSICRERGHAE UTERL
ERS

Oil ring is used to supply coolant through the drill in
rotational applications.

The cutting edge of New Super Drill consists of a center

#BHEH - (Bi@NhIA) T/C Guides (for through hole)

B@IUITOZSICHTE. #w O mER R UhXY . EE ORI
M ENJRIRGICK T . BRBERICHEIRN T3 EN B,
PRI Z1815 - THELICD T RIEENHUE T . CDIHE. B
HA RZIRFB & IRNZR/IBRICBHEF T

In case of through hole drilling, the drill may vibrate immediately
before breaking through, depending on hole diameter, cutting
speed and feed rate, and rigidity of the machine spindle. This can
result in damage of the cutting blades. Using T/C

YIEIF DEEREE Sharpening the blades

- e = e

. I

®C39RF @c3osF
90~100 920~100
————

OBIRET 2S5H -RA2MIFHFTECRSTEICHRET 3.
QmEFAEBHERICHEL. —BERVBENTTTES,
@tYI—RUILIF140°ICTRE. NEZY Y VT LT ki
HAICTS

(D "R"and "S blades are ground to the same height.

(2 Both blades are ground in straight line. making first and
second clearance.

(3 Grind the center drill to the point angle of 140° with
thinning.guides when boring through

==
-
-‘M




HHSHEBEHBEARLBINLICHRULET

Easy Assembly, Flexible for Various Applications

— -
_- E—LAF =/t pUs ()

T . >392 7—)\ Morse taper shank (Standard
ESER A R IORTYav7—N\ ( )

Standard head Extension arbor

EIWRAT—NVvo
(FAIik—ILIRILS )

Morse taper shank (for oil hole holder)

A= vo
FHRAY R E-VYIFvyvIER)
Flat head Straight shank (for milling chuck)

ARU—bov2 T (59— v NiEER)
Straight shank (for turret lathe)

LT

Assembly

Za1—Z—=N—RUFEYI—RUJL-REERA (FEH) SEEA (i New Super Drill's cutting edge consists of three cutters a
L1FH) DIFEDYIRIA ZHII TR EICKY . BENT. B roughing(R) blade, a finishing(S) blade and a center drill.

NIERUILAYRZBRILE T, This combination of cutters gives outstanding drilling E
CNUICKWBNETUWIIATAED. efficiency.

. OEVIRVIVERENYRDPRICHEALTT,
Procedure ONYRD ENDZIENETNTVBRIDEICREEN GRH) ZEyhLET . D5
8.9V 9—RUILORAEODYLAEIC. RIZN GEX) OARHZ#HITEE.
BESETHRAEE I . CNICK>TEYIRUILOLOY 1L EFRICEE
DERBZLET DT HIDEWVRICEBS B TEMHIITTE L,
OSZIEND&HBFFITSHZH (HEEIFR) ZBMAIFTTEL,
@REICNYRFODREBORIZDOLT. EVIRVILZRZICOYILTT
TV (FERABZT 553 SHEH (L EIFW) OERfIEZ AU THE
FIFTTFEL)

(Dlnsert the center drill in the center of the head.
(2Clamp the roughing(R) blade in the seat marked with . The inside edge
of theroughing blade must contact tightly against the side slot of the
center drill, to prevent the center drill turning free.

(3Clamp the finishing(S) blade in the seat marked S.

(@Finaly, tighten the center drill setting screw.




= a1—2Z—/V— R U JLtHEIZEHE Guide Values for New Super Drill

DIN| 42CrMo4 | CK35-55 ST i
(S [UsA| 4140 1025 D W1-10 D2 40-50 PIV==T L
aterial ALUMINUM
JIS| sCM440 | S35C-55C | SCM440 SS SK3 SKD11 FC25-40 SUS27
NIR | O | %0 | @k | %Y | @ |2 | @R L | ®Y g | %
DIA. Speed | Feed | Speed | Feed | Speed | Feed | Speed |Feed | Speed |Feed | Speed | Feed | Speed | Feed | Speed | Feed | Speed | Feed
50-60 | 160-180| 0.1- | 160-180| 0.1- [190-210| 0.1- | 210-240] 0.1- | 80-90 70-80 140-150{0.15-| 75-90 [0.06-| 450500 |0.15-
60-70 | 140160 F2-12{150-160 [ 2121170190 | 9151190210 |9-18{ 80-85 5570 120140 2226075 1912 1400450 1 0-25
70-80 | 110-140 120-140 155170 170-190 70-80 50-55 100-120 55-70 350400
80-90 [100120] ; [110-120 140155|  , [155-170 60-70 | %98 745:50 |9-06| 90-100 0.15 5060 | 5 06300350 4 1
90-100 |90-110| . [100-110 125140| . [140-155 55-60 |0 15| 40-50 | o1 | 80-90 | .~ [4550 | . [300-330] -
100-110 |80-100/0.18[90-100 110-125]0.18[130-140 50-55 35-40 70-80 | 0.35 | 40-45 |0.13]280:3000.35 |
110-120 | 70-90 80-90 100110 120-130 4550 30-35 65-70 35-40 250290
120-130 | 70-80 70-80 90-100 105-120 40-45 30-35 60-65 30-35 230250
130-140 | 65-70 65-70 80-90 90-100 35-40 2530 50-60 2530 200230
140-150 | 50-60 50-60 75-80 80-90 30-35 2530 40-50 20-30 180-200
150-160 | 50-60 50-60 | | 7075 7585 | o4 [25-35 2025 35-45 20-25 170-180
160-170 | 50-60 5060 | .| 65-70 70-80 | . | 25-30 2025 35-45 15-25 160170
170-180 | 45-50 4550 |0.12| 60-65 65-75 |0.15| 25-30 20-25 35-40 15-25 150-160
180-190 | 45-50 4550 60-65 60-70 20-30 2025 30-40 1525 140-150
190-200 | 40-45 |0-06] 45750 5560 |0-06 6065 2025 |0-06[75.50 (00513040 | 0-1 [ 1520 |0-06[135.149|0-15
200-210 | 40-45 | 15| 40-45 55-60 |0.16| 55-65 20-25 .15/ 15-20 | g1 [ 30-35 [ 25] 10-20 |g.12[130-135] g5
210-220 | 40-45 40-45 50-55 55-60 1525 1520 2535 10-20 120-130
220-230 | 35-40 40-45 50-55 50-60 1520 1520 25-35 10-20 115120
230-240 | 35-40 35-40 4550 50-55 15-20 15-20 25-30 10-20 110-115
240-250 | 30-35 3540 4550 4555 1520 1520 2530 10-20 105110
250-260 | 30-35 30-35 4550 4550 1520 1520 20-25 10-20 100110
260-270 | 30-35 30-35 40-50 15 20 10-15 20-25 10-15 100-110

(-
G S D ARSI e o DL 30750% ST
Z it R B R o 530 3 CABBD S e

—N©TEJRe'duc'err|ll'sp'e‘e'd|by"3®,%!~5®%1|n’cas'e’@f!quelnlch'eld|and| tempered

Chromoly, structural steel, etc. . depending on.their hardness.

=&=Zé= SUIEIBESA=ES [Nlam

N L tJJﬁJ&TEF CI\/\aterlald 20559C N L tUﬁlJ f%‘: CI\/\aterlald 20559C
omina ut, spee m/min omina IR = ut, spee m/min
ﬂ%?a& S@[fe*g BIHLE Y Fecd 0.15 ”Eﬁi s@p%fg EDRE ) Feed 0.15
5203 (mm) | (Min-1) i on-m) | 08087 (W) | RS2~ (KN) 6] (mm) | (min-1) P (n-m) | 4080857 (W) | 25 (N)
Item Cut, torque | Cut, power |Thrust force Item Cut, torque | Cut, power | Thrust force
M50 ~ 55|50 127 0.17 22 4.8 185 34 157 5.8 14.4
55 116 0.20 23 5.2 190 34 1.64 5.9 14.7
60 106 0.23 25 5.6 195 33 1.72 6.0 15.1
A2-55~ 65 ¢ 98 0.26 26 6.0 G180~ 200 | 32 179 6.1 154
70 91 0.30 28 6.4 205 31 1.87 6.2 15.7
B-65~80| 75 85 0.33 29 6.8 210 30 1.95 6.3 16.0
80 80 0.37 3.1 7.2 215 30 2.03 6.4 16.3
85 75 0.41 3.2 75 220 29 211 6.5 16.6
90 71 0.46 3.4 7.9 225 28 219 6.7 17.0
80~ 100/—5¢ 67 0.50 35 8.3 H'%L%N 230 28 2.28 6.8 17.3
100 64 0.55 3.6 8.6 235 27 2.36 6.9 17.6
105 61 0.60 3.8 9.0 240 27 2.45 7.0 17.9
D-100~ | 110 58 0.64 3.9 9.3 245 26 254 7.1 18.2
120 115 55 0.70 4.0 9.7 250 25 263 7.2 18.5
120 53 0.75 42 100 | 540~ 770|255 25 272 7.3 18.8 —
125 51 0.80 43 10.4 260 24 2.81 7.4 19.1 \
130 49 0.86 4.4 10.7 265 24 2.90 75 19.4 .
E-120~ | 135 47 0.92 46 11.1 24 3.00 7 6
150 140 45 0.97 47 11.4 -
145 44 1.03 48 11.8
150 42 1.10 49 12.1
155 41 116 50 12.4 =‘ﬁﬂn@w1u1@sa@nm -
160 | 40 122 52 128 EEB@UBNEW S —
F-150 ~ 165 39 1.29 53 13.1 [?EWB@EW valliestfor
180 170 | 37 136 5.4 134 clifieient: CHling:
175 36 1.43 55 13.7
35 1.50 5.6 14.1







N—FFvvT
HARD CHUCK

SBTYU—ZX

Thru-the-tool Coolant Available

FEATURES

HIEBTEON—RFFryIBRY—UVIICEREINBRME(E  OThe ball screw structure provides high clamping power.
T SRIDVE -IRIEN -BFM) ERENICEXRELTVEITDT,  OEasy handling.
HOWBRFICH/NA VNIV THRINZSTVEBIEDBZWLWY —)LLAF  ®High accuracy and rigidity are kept long.

URHTIRETY

S
T
>
D)
|
z

¥SBT 94 FIEBT2 EHIREMINY — UV T TY. (BT I1 THMNELET)

7
| F SPRING ADJUST N/W
? MODEL ¢d t ¢C H G MIN. MAX. COLLET SCREW (kg)
- -CTH16-105 105 1.9
- -135 16 135 52 50 M18 X 1.5 50 80 C1e-(16) OR-M18 2.3
-165 165 2.7
CTH2009 | .5 | 90 | 45 | 50 | mI1Bx15| 50 | 75 | C20-20) | ORMI8 |—02
SBT40 -120 120 2.4
-CTH25-105 105 2.2
-135 25 135 68 68 M28 X 1.5 68 85 C25-(25) OR-M28 2.9
-165 165 35
-CTH32-105 105 M18 X 1.5 OR-M18 2.6
435 | 32 i35 | 89 | 79 Tmasxis | 89 | 9 | ©32032 Moemes | 33
-CTH16-105 105 4.2
-135 16 135 52 50 M18 X 1.5 50 100 C1e-(16) OR-M18 4.7
-165 165 5.2
-CTH20-105 105 4.6
-135 20 135 60 50 M18 X 1.5 50 100 C20-(20) OR-M18 5.1
% -165 165 56
it -CTH25-105 105 4.6
N -135 135 5.2
% 165 25 165 68 68 M28 X 1.5 68 100 C25-(25) OR-M28 6.0
-200 200 6.6
-CTH32-105 105 4.8
T — .
200 32 200 80 80 M36 X 1.5 80 100 C32-(32) OR-M36 68
-250 250 8.3
-300 300 10.0
-CTH42-105 105 5.2
-135 135 6.5
-165 42 165 95 90 M36 X 1.5 90 110 C42-(42) OR-M36 7.0
-200 200 7.7
-250 250 9.9
-CTH50-120 5 120 C50-50) 6.4
-135 (50.8) 135 105 95 M36 X 1.5 95 115 (50.8) OR-M36 7.2
-165 ) 165 s 8.7
SENL ATV DDy N BAEER) FIBLTVET, NOTE :1. A spring collet is supplied with Hard chuck.
DT A RDRTVY T ALy N HLOBISFIRS R LT TS, Unless otherwise required, maximum ID spring collet is supplied.
2. FryIUYFIE FRERIBABUTBIEE Ao BIRBRHL L, 2. Chuck wrench and adjust screw are sold separately.
3. BV ==L TTERDKI. FERY (ORI A ) ZRliEHRHLZT L, 3. For thru-the-tool coolant application, OR-adjust screw is used.



IMBIN—RF D

SBTYU—X
SLIM HARD CHUCK

Thru-the-tool Coolant Available

ONEN—RFry I R—ILR IEBORAICE>T. MI/E  @The ball screw structure provides high clamping power.
ERD=—UVTFrvID3 ~5ETT, ®Casy handling.

O BENEICLPEHICHR . BHDOFrET (NI TISELTVEY,  ®High accuracy and rigidity are kept long.

OITEDEHIE YN OIS BT TITA RIENBZTY .

| sc2

7|

|

|
od
oct

-

#34SBT &4 FFBT2 EHREMNGY -V T TT. (BT 94 TBHHHLET)

F SPRING | ADJUST | N/W

Lo g L | M jeCTiec2) H = MIN. | MAX. | COLLET | SCREW | (kg)

SBT40 | -CTH12L-135 135 OPTION 19
6~12 35 | 35 | 52 | 52 | M14x15| 50 | 80 | Cl2- | ORM14

SBT50 | -CTH12L-165 165 (6/8/10/12) 47

F N 2YA RAEYRIVRIV—ICTERTIRET T . (R IFOR 91 TEFIETIERLZELY)
2. AUV TIVYNIIBENTLFEAD T BEBENRDLIZE V.

Za—=—UTFvvvI(EEIAL )

SBTYU—X
NEW MILLING CHUCK(G type)

Thru-the-tool Coolant Available

-

5SBT 594 FIFBT2 EHISREMISY — U7 T, (BT 94 FTHMGHLEY)
F SPRING ADJUST | N/W
MODEL od L e H G MIN. | MAX. | COLLET SCREW (kg)
Max. 25,000min-1
-CT25-075G 75 M18 X 1.5 OR-M18 1.6
-090G 25 20 62 68 ° 78 C25-(25 1.7
-105G 105 M28x15 | o a5 +25) OR-M28 1.7
SBT40 -135G 135 1.8
-CT32-090G 90 2.5
- 105G 32 105 74 70 M18 X 1.5 80 90 CS32-(32) OR-M18 2.6
P - 135G 135 2.8
Max. 25,000min-1
-CT25-075G 75 90 2.9
- 105G 25 105 62 68 M28 X 1.5 68 100 C25-(25) OR-M28 35
SBT50 - 135G 135 4.1
-CT32-075G 75 95 3.9
- 105G 32 105 74 80 M36 X 1.5 80 100 C32-(32) OR-M36 4.5
% - 135G 135 5.1
R AT S BB BB CUES MOYAXOI AT TN RRORARES L Fan, 0T g coletis supplledwitn ard chuck - cupplied.
g Z;;rg_b;(y)l?_l;[;%ﬁff;%gpglfEi}t;;f(géu’9?§?§$§g§;<7'"¢'(" 2. Chuck wrench and adjust screw are sold separately.
4, REOHSORRE. BHROBIEEIND/N 5 A A S EESNET T, REPOERME BB EBNBIET, 3R g“gg;g“_;';‘;‘ggﬁ‘;g‘?n”;xfrﬁﬁr‘f:‘;:’:a 35{3§ﬂ3§efe'§§'{n'§ used

An adequated cutting condition should be selected for each case.

cd N mH &S N—C\VHH N—C\v—Hwn N—CWVAwnT



CS Fvwvd
COMPACT MILLING CHUCK

SBTYU—X

Thru-the-tool Coolant Available

M FEATURES
Q@IHED=—RILRF UV T AR =RA ®Uses unique needle bearing system
OREUIIRIBRURE LIBENZIRL. FvhZ AU LML @®Compact nut ensures stable repetitive accuracy and gripping
OF vvF VI IHDAEDRFHFAHHEEL performance

®No sinking of cutter during chucking

S
T
4
U
|
s

oC

%SBTY A FIEBT2EHISREIILY — UV T TY . (BTY A TOMILELET)

ADJUST N/W
MODEL ¢d L ¢C 5 H SCREW COLLET SPANNER (kg)
17} -CS16-060 16 60 44 45 60 OR-CS16-M10 CW16-(D) FK45-48S 0.8
=] SBT30 -CS20-080 20 80 53 50 65 OR-CS20-M10 CW20-(D) FK52-55 1.0
T -C$25-090 25 90 62 55 65 OR-CS25-M10 CW25-(D) FK58-65 1.6
= -CS32-100 32 100 69 60 75 OR-CS32-M10 CW32-(D) FK65-70 1.9
- -CS16-090 90 1.8
1120 16 120 44 45 65 OR-CS16-M12 CW16-(D) FK45-48S 19
ek 20 % 53 50 80 OR-CS20-M12 CW20-(D) FK52-55 1.9
SBT40 = B >
2120 25 120 62 55 80 OR-C25-M12 CW25-(D) FK58-65 o8
-CS32-105 105 2.9
135 32 135 69 60 90 OR-CS32-M12 CW32-(D) FK65-70 33
-CS16-105 105 3.6
-135 135 4.2
165 16 165 44 45 65 OR-CS16-M12 CW16-(D) FK45-48S 25
-200 200 5.0
-CS20-105 105 4.0
% :::: 20 12: 53 50 80 OR-CS20-M12 CW20-(D) FK52-55 22
i -200 200 55
-CS25-105 105 4.0
8 -135 135 4.6
*l 165 25 165 62 55 80 OR-C25-M18 CW25-(D) FK58-65 55
SBT50 .
-200 200 6.1
-CS32-105 105 4.9
-135 135 5.3
-165 32 165 69 60 105 OR-CS32-M18 CW32-(D) FK65-70 5.8
-200 200 6.2
-300 300 8.4
-CS42-105 105 4.6
-135 135 6.0
-165 42 165 86 75 110 OR-CS42-M18 CwW42-(D) FK85-92 7.1
-200 200 7.4
-300 300 8.9
ENVFBARN—RILYNCWI A N ERBLTHIET. NOTE:1. A spring collet is supplied with Hard chuck.
2.CWIbwh-2)NF - BERIBEBLTBUEE A Unless otherwise required, maximum ID spring collet is supplied.
3.BT30ICD T3 —Epe FRARD G fER TERBRVEEN HUFT . 2. Chuck wrench and adjust screw are sold separately.
4209 =2 —ICTTEADEE. AR V(ORY 1 ) ZFESRHIZE W, 3. For thru-the-tool coolant application, OR-adjust screw is used.

4. The above-mentioned maximum speed will vary depending of cutter.
An adequated cutting condition should be selected for each case.




INR=—U T FvD

SBTYU—X

#SBTY A FIEBT2EHISREIIILY — UV T TY . (BT A THMILELET)
HFAYFAFONBELE T D THRUMIFLIES W,

COLLET CHUCK

~

Thru-the-tool Coolant Available

¢d ADJUST N/W
A0 2s GRIPPING RANGE L eC 2 MIN. MAX. S SCREW (kg)
Max. 12,000min-1
-CTM07-090 05~7 90 23 M6 X 1 25 65 CRO7-(D) 0.6
-CTM10-060 60 55 0.6
-090 0.5~10 90 32 M10 X 1.5 30 75 CR10-(D) OR-M10 0.8
-120 120 0.9
-CTM13-060 60 55 0.6
-090 0.5~13 90 36 M12 X 1.5 35 70 CR13-(D) OR-M12 0.8
SBT30 -120 120 1.0
-CTM16-060 60 37 40 0.6
-090 1~16 90 44 M18 X 1.5 40 60 CR16-(D) OR-M18 0.9
-120 120 65 1.2
-CTM20-075 75 50 0.8
-090 1.5~20 90 52 M18 X 1.5 40 65 CR20-(D) OR-M18 1.0
-120 120 70 1.3
Max. 12,000min-1
-CTM07-090 0.5~7 90 23 M6 X 1 25 65 CRO7-(D) 1.2
-CTM10-060 60 70 1.1
-090 05~10 90 32 M10 X 1.5 30 75 CR10-(D) OR-M10 1.3
-120 120 1.5
-CTM13-060 60 70 1.1
-090 05~13 90 36 M12 X 1.5 35 85 CR13-(D) OR-M12 1.4
SBT40 -120 120 1.6
-CTM16-060 60 60 1.1
-090 1~16 90 44 M18 X 1.5 40 65 CR16-(D) OR-M18 1.4
-120 120 1.7
-CTM20-060 60 60 1.1
-090 1.5~20 90 52 M24 X 1.5 40 CR20-(D) OR-M24 1.5
-120 120 70 1.9
FEL Jbyb -FrvILYF -BEXIEHBLTEVE . NOTE :1. Collet and Chuck wrench and adjust screw are sold separately.

2. VI =2 —ICTTERDEE, CROH XIFOH FvhEBRHIIEE W,
3. RECDFEOEHE EHOBIEEIYDNS Y RCKELEEINFIDT,

REPOOGEHERBZDBENHIET .

2. CROH collet is used for thru-the-tool coolant spplication.

To supply coolant alongside the cutter, OH nut is used.
3. The above-mentioned maximum speed will vary depending on rigidity of
machine and balance of cutter.

An adequated cutting condition should be selected for each case.

N—CwH»

mH &S

o = 5

004



SBTYU—X

S
T
4
U
|
s

INR=—U T FvD

COLLET CHUCK

Fig.1

Thru-the-tool Coolant Available

2d
2C

E,:._l‘ e g ;
%SBTY A FIBT2EHRETHIIIEY —U VT T, (BTIA THILEUET)
HAYFHFEHREBLE T D THBUGFIEET L,
od ADJUST | N/W
JoRE FIG | GripPING RANGE| - | 9 G v, [wax | OUET | screw | (kg
Max. 8,000min-1
CTM07-090 | 1 05~7 90 | 23 | Mex1 | 25 | 65 | CROZ-D) 37
&) -CTM10-075 75 38
Hl 105 105 & 39
T a3 | 135 41
= 165 165 23
B 1 05~10 o> 1 32 | Mi0x15 | 30 . CRI0-D) | ORMIO [—32
225 225 5.0
255 | 2 255 5.1
-285 285 55
CTM13-075 75 o 38
2105 105 40
a35 | 1 135 42
165 165 44
s 05~13 oo 136 | Mizx15 | 35 . CR13-D) | ORM12 5
225 225 52
255 | 2 255 54
SBT50 -285 285 59
-CTM16-075 75 o 38
1105 105 41
53 135 1 135 43
i 165 165 46
- s 1~16 190 a2 | Misx15 | 40 . CR16-D) | ORMI8 |2
¥ 225 225 56
255 | 2 255 6.0
-285 285 56
-CTM20-075 75 o 38
105 105 42
35 | 1 135 46
165 165 5.0
1 15~20 190 152 | M2ax15 | 40 N CR20-D) | ORM24 2
225 225 57
255 | 2 255 6.1
-285 285 6.6

E ALk -FruILYF -BEXIEMBLTEVEE A,
2. Y9 =2 —ICTTERDEE, CROH XIFOH FvhEBRHIIEE N,
3. REDHBEEHIS OB IMDNS VR CKESEEINEIT DT,

REPOOGEHERBZIBENHIET,

NOTE:1. Collet and Chuck wrench and adjust screw are sold separately.
2. CROH collet is used for thru-the-tool coolant spplication.
To supply coolant alongside the cutter, OH nut is used.
3. The above-mentioned maximum speed will vary depending of cutter.
An adequated cutting condition should be selected for each case.




SBTYU—X

INERAU LNF w7

HOM
OitkmE(CTM YU—X) DFvhZERU AL
@0 —7 BETHDER
[l v
@Il yhE ERDEZH(CR O ) EAT

SLIM CHUCK

Thru-the-tool Coolant Available

FEATURES

®Nut of conventional product (CTN Series) made slim
®|nterference between workpiece and jig reduced

®Higher workability
®Conventional collet (CR collet) usable as it is

\g}

of U
4SBTS A FIFBT2EHIREMI Y — U T T (BTIA TERIGBLET)
HAYFHHORISBUET D THBUM TRV,
¢d B ADJUST | N/W
MODEL GRPPING RANGE L ¢C G (=E) COLLET NUT SPANNER | ‘c-orw k)
Max. 12,000min-1
-CTS07-060(G) 60 0.4
-090(G) 90 25~ 0.6
120(G) 05~7 130 16 | M6 X 1 0 CRO7-(D) | NUT-CTS07 | US-CTS07 0.9
-135(G) 135 1.2
-CTS10-060(G) 60 0.4
SBT30 -090(G) 90 31~ 0.6
120G) 0.5~10 196 22 |M10 X 1.5 48 CR10-(D) | NUT-CTS10 | US-CTS10 | OR-M10 0.9
-135(G) 135 1.2
-CTS13-090(G) 90 35~ 0.6
-120(G) 05~13 120 | 28 |M12x 15 CR13-(D) | NUT-CTS13 | US-CTS13 | OR-M12 | 0.9
-135(G) 135 52 12
Max. 25,000min-1
-CTS07-060(G) 60 1.0
-090(G) 90 25~ 1.1
120G) 05~7 1207 16 | M6 X1 0 CRO7-(D) | NUT-CTS07 | US-CTS07 TE
-135(G) 135 1.7
-CTS10-060(G) 60 1.1
SBT40 -090(G) 90 31~ 1.2
120G) 0.5~10 190 22 [M10X 15 18 CR10-(D)| NUT-CTS10 | US-CTST0 | ORMI0 — 2
-135(G) 135 1.8
-CTS13-090(G) 90 35~ 1.3
-120(G) 05~13 120 | 28 |M12x 1.5 CR13-(D) | NUT-CTS13 | US-CTS13 | OR-M12 | 1.4
135(G) 135 52 1.9
Max. 20,000min-1
-CTS07-105(G) 105 3.7
-135(G) 135 25~ 4.0
165(G) 05~7 165 16 | M6 X 1 0 CRO7-(D) | NUT-CTS07 | US-CTSO7 i
K -195(G) 195 4.3
-CTS10-105(G) 105 3.7
-135(G) 135 31~ 4.2
SBT50 165(G) 0.5~10 165 22 |M10 X 1.5 18 CR10-(D) | NUT-CTS10 | US-CTS10 | OR-M10 13
% -195(G) 195 4.5
-CTS13-105(G) 105 3.9
-135(G) 135 35~ 4.0
165(G) 05~13 Tes] 28 |M12x15 5 CR13-(D) | NUT-CTS13 | US-CTS13 | OR-MI12 [— =
B -195(G) 195 45

KENGIE, 12,000min-1 T TTERBVET,
ENL Obyb - FrvILyF BERXIBMBLTBUEEA.
2. Y9 —2)—ICTTERDEIE, CROH Iy b ESBRHLZE L,

3. BEAFRTIRERICE 315813 RRICG ZBIULTEE L. (Max 25,000rpm G2.5)

FYNRORINFHIG 91 FHARITIFIET

NOTE :1. Collet and Chuck wrench and adjust screw are sold separately.
2. CROH collet is used for thru-the-tool coolant spplication.

N—CwH»

mH &S

o = 5

006



S
T
4
U
|
s

mH &S

SBTYU—X

INE=Z—VUVITFvrvI (@EEIAT)

COLLET CHUCK (G Type)

Thru-the-tool Coolant Available

| G F
\
! | T / ol o
s s
SBTS A F BT 2E MR LMY~V T T, (BTIA FoRISBUET)
XY FHRDMDBLF T D THBRUMFEEL,
¢d ADJUST N/W
ee L GRIPPING RANGE L = © MIN. MAX. Settar SCREW (kg)
Max. 25,000min-1
-CTM07-090G 05~7 90 23 M6 X 1 25 65 CRO7-(D) 0.6
-CTM10-060G 60 55 0.6
-090G 05~10 90 32 M10 X 1.5 30 75 CR10-(D) OR-M10 0.8
-120G 120 0.9
-CTM13-060G 60 55 0.6
-090G 05~13 90 36 M12 X 1.5 35 70 CR13-(D) OR-M12 0.8
SBT30 -120G 120 1.0
-CTM16-060G 60 37 40 0.6
-090G 1~16 90 44 M18 X 1.5 20 60 CR16-(D) OR-M18 0.9
-120G 120 65 1.2
-CTM20-075G 75 50 0.8
-090G 1.5~20 90 52 M18 X 1.5 40 65 CR20-(D) OR-M18 1.0
-120G 120 70 1.3
Max. 25,000min-1
-CTM07-090G 05~7 90 23 M6 X 1 25 65 CRO7-(D) 1.2
-CTM10-060G 60 70 1.1
-090G 05~10 90 32 M10 X 1.5 30 75 CR10-(D) OR-M10 1.3
-120G 120 1.5
-CTM13-060G 60 70 1.1
-090G 05~13 90 36 M12 X 1.5 35 85 CR13-(D) OR-M12 1.4
SBT40 -120G 120 1.6
-CTM16-060G 60 60 1.1
-090G 1~16 90 44 M18 X 1.5 35 65 CR16-(D) OR-M18 1.4
-120G 120 1.7
-CTM20-060G 60 60 1.1
-090G 1.5~20 90 52 M24 X 1.5 40 CR20-(D) OR-M24 1.5
-120G 120 70 1.9
EAbyk FryILy T FRXIBHBLTEVEE . NOTE :1. Collet and Chuck wrench and adjust screw are sold separately.

2. VI =2 —(CTTERDEE, CROH XI(FOH FvhEBRHIEE .
3. RECOFBOMEHS  HOBIEEIMIDNS VA CKELEESINFT DT,

RECPOEERMERISHIEENGIET,

N

CROH collet is used for thru-the-tool coolant spplication.
To supply coolant alongside the cutter, OH nut is used.
The above-mentioned maximum speed will vary depending of cutter.
An adequated cutting condition should be selected for each case.




SBTYU—X

22UV RILY (LFa

7—

T4

EERBNUI—YayTRIIT -EEINTICHAZREE!

A wide model selection offering excellent roughing and heavy
cutting performance!

SHRINKING HOLDER (Regular Type)

Thru-the-tool Coolant Available

.

¥SBT 94 F(FBT2 EHIREMIINY —UY T TH . (BT 1 TOHRBLET)

H (TR )

( Insertable Length )

S ( &BE)

( Clamping Lengih )

—

‘ .
ol U
AN

R

MODEL od L oC s H N/Wi(kg)
-SF06-070-N 6 25 . 06
-SF08-070-N 8 - 27 " 0.6

<BT30 -SF10-070-N 10 29 i 0.7
-SF12-070-N 12 37 0.7
-SF16-080-N 16 50 35 20 o 08
-SF20-080-N 20 39 2 0.9
-SF06-075-N 75 12
-SF06-150-N 6 150 25 25 60 15
-SF06-200-N 200 17
-SF08-075-N 75 13
-SF08-150-N 8 150 27 25 60 16
-SF08-200-N 200 18
-SF10-075-N 75 13
-SF10-150-N 10 150 29 30 60 16

EEIA -SF10-200-N 200 19
SF12-075:N 75 16
-SF12-150-N 12 150 31 30 60 17
-SF12-200-N 200 2.0
-SF16-090-N 16 90 35 40 80 15
-SF20-090-N 20 90 39 48 80 15
-SF25-090-N 25 90 46 53 80 16
-SF32:090-N 3 90 53 55 80 18
-SF06-090-N 90 41
-SF06-150-N 150 43
-SF06-200-N 6 200 25 25 60 45
-SF06-250-N 250 47
-SF08-090-N 90 42
-SF08-150-N 150 44
-SF08-200-N 8 200 27 25 60 46
-SF08-250-N 250 48
-SF10-090-N 90 42
-SF10-150-N 150 45
-SF10-200-N 10 200 29 30 80 47
-SF10-250-N 250 4.9
-SF12-090-N 90 42
SF12-150-N 150 45

= -SF12-200-N 12 200 31 30 80 48
-SF12-250-N 250 50
SF16-105-N 105 )
-SF16-150-N 150 46
-SF16-200-N 16 200 35 40 80 47
SF16-250-N 250 52
-SF20-105-N 105 44
-SF20-150-N 150 47
-SF20-200-N 20 200 39 48 100 50
-SF20-250-N 250 5.4
-SF25-105-N 25 105 6 53 100 45
SF32-105-N 3 105 53 55 100 47
-SF42-120-N 42 120 65 70 110 50

-SF50.8-115-N 50.8 15 75 70 100 54

#SBT50-SF50.8-115N  ZREAICDEHLTIF FESBVGE TS,

#Inquire regarding the use of SBT50-5F50.8-115N.

cd N mH Z S N—C\H N—C\v—Hwn N—CWVAwnT



Thru-the-tool Coolant Available

L DAUVFVIRILS (Za—RULIALT)
S SHRINKING HOLDER (New Slim Type)

HOO# FEATURES

— . . . Ideal for high-precision machining, intermediate finishing , and
ERET -chtt EIF - EF TR finiohing machining!

! L
&
U ‘ H « 7##A & ) | ( Insertable Length )
I“ ‘ S ( Clamping Length )
A T Rk )

 ——

8d|

4

\ 3°

%SBTY A FIEBT2 EHISREMTINY — UV T TY . (BT §1 THOMNHLFT)

MODEL od L oC s H N/W(kg)
-SF04-090-NS 4 1 12 05
7 -SF06-090-NS 6 13 o 05
) SBT30 -SF08-090-NS 8 90 15 60 05
T -SF10-090-NS 10 17 - 06
= -SF12-090-NS 12 19 06
a -SF04-090-NS 90 11
-SF04-120-NS 4 120 11 12 60 12
-SF04-150-NS 150 13
-SF06-090-NS %0 12
-SF06-120-NS 6 120 13 25 60 12
-SF06-150-NS 150 13
-SF08-090-NS 90 12
SBT40 _SF08-120-NS 8 120 15 25 60 13
-SF08-150-NS 150 14
-SF10-090-NS %0 12
-SF10-120-NS 10 120 17 30 60 13
-SF10-150-NS 150 14
& -SF12-090-NS 90 11
i -SF12-120-NS 12 120 19 30 60 13
& -SF12-150-NS 150 14
) -SF04-105-NS 105 40
-SF04-120-NS 4 120 11 12 60 42
-SF04-150-NS 150 44
-SF06-105-NS 105 40
-SF06-120-NS 6 120 13 25 60 42
-SF06-150-NS 150 44
-SF08-105-NS 105 40
SBT50 -SF08-120-NS 8 120 15 25 60 42
-SF08-150-NS 150 44
-SF10-105-NS 105 40
-SF10-120-NS 10 120 17 30 60 42
-SF10-150-NS 150 44
-SF12-105-NS 105 40
-SF12-120-NS 12 120 19 30 60 42
-SF12-150-NS 150 44




aUVFITRILY TYTA D)

SBTYU—X
SHRINKING HOLDER (TY Type)

Thru-the-tool Coolant Available

HOO# FEATURES

J—IFBENDFiHZEIUT!
BERY—ILLA 7 IR

Faclilitates easy tool layout!

Eliminates interference between the jig and work!

H ( 7##i% ) |( Insertable Length )
S ( Clamping Length )
( REE )
T 4
\ " 2
7 S
| >
|
H ¢ 7##ik ) |( Insertable Length )
S ( Clamping Length )
( R’ER )
| —
EEN
T S| 8
|
50
|
%SBTY A FIFBT2 mHREHMIGY—U VT TT. (BT 94 THMGHEULET)

MODEL Fig. ¢d L ¢C S H N/W(kg)
-SF04-175-N-TY 1 175 4.1
-SF04-250-N-TY 2 4 250 ! 12 45 55
-SF06-175-N-TY 1 175 4.3
-SF06-250-N-TY 2 6 250 13 29 =0 5.8
-SF08-175-N-TY 1 175 4.4
-SF08-250-N-TY 2 8 250 15 29 =0 5.9
-SF10-175-N-TY 1 175 4.5
-SF10-250-N-TY 2 10 250 1 ¥ 60 6.0
-SF12-175-N-TY 1 175 4.6

SBTS0 -SF12-250-N-TY 2 12 250 19 36 60 6.0
-SF16-175-N-TY 1 175 4.7
-SF16-250-N-TY 2 16 250 23 44 80 6.2
-SF20-175-N-TY 1 175 4.9
-SF20-250-N-TY 2 20 250 27 46 100 6.5
-SF25-175-N-TY 1 175 5.0
-SF25-250-N-TY 2 2 250 32 °° 100 6.5
-SF32-175-N-TY 1 175 5.7
-SF32-250-N-TY 2 32 250 39 66 120 6.9

N—CwH»

mH &S

o = 5

010



S
T
>
U
|
s

mH &S

53
iy
&
ﬂ

SBTYU—X

RUJLF v (v T —{FEY)

DRILL CHUCK
(SINGLE PIECE WITH SHANK)

5

8

OUERDRUILF vy I KWL HENELIVINIRTY,
Qv IT—MEDBIC. BERIFHIEE Ao
OSLIIIDES. MEL Y F THih DL BHHFRE T,

@®Drill chuck is positively coupled with the holder.

FEATURES

®Short (L length) and compact.
@®Clamping force can be increased by the attached wrench.

#d

oC

,,,,, e
|
L1
¥SBTY A FIEBT2EHREE#M GV —U VI TT, (BTIA THRISELETD)
od L1 N/W
e GRIPPING RANGE (s OPEN CLOSE OPEN CLOSE (kg)
-SDC08-080 03~8 36 78 855 48 555 0.7
SBT30 —¢pc13-100 03~13 505 98 1055 655 77 13
-SDC08-080 03~8 36 78 855 48 555 13
SBT40 —¢phc13-100 03~13 505 98 1095 655 77 18
-SDC08-100 03~8 36 98 1055 48 555 a1
-SDC13-120 118 1295 45
160 158 1695 5.1
SR -200 03~13 505 198 2095 655 77 57
250 248 2505 6.4
300 208 3005 71

EL FRYILYFRMABLTEIET .

NOTE :1. Collet and Chuck wrench and adjust screw are sold separately.




cE g aN mH &S N—C\VH N—Cv—wn N—Cv=xwnI

¥ W

SBTYU—X

Ivw PRIV (1

LIV)

TAP HOLDER

(Clockwise Rotation)

OISy IEET

LEFNRITN IR ERICRES > THREI SYFHEIEIY

FEIHENSF BN BB P LS =9 LS, AF YL

FTOYHINVI IR TEZLE BNV IAENTIRETY

@®Torque limiter collets are available.
Tapping torque can be adjusted to prevent tap breakage.
@®Accurate thread are made with the tension-compression
mechanism,compensating pitch error of the machining

(ML IBEIFA—H—ICTHRS) center.
@ JO0—hEB(T

N/CT{E#EMEIC (& IEER. P EREF(CHED B F IR == HENNICH

EULAELKRELTHRIIDDAINEWIOALEN TR ERG

BEET.RBEDEVRITHESNET,

L
L1
L2 H1
| COMP. F2|F1, TENSION

PC3

L1

COMPRESSION  F2
e e

H1

F1, TENSION

&

LRDR !

?C3

‘ <P
¥SBTS A+ FIFBT2EHISREEMIIGY —U YT TY, (BTI A THRLHULET)
TAP N/W
MODEL FIG. D ¢D1 ¢D2 L1 L2 | ¢C1 | ¢C2 | ¢C3 | H1 | F1 F2 COLLET kg)
SBT40 -TPC20-150 1 M4~M14 | 20 | 5~125| 150 | 105 | 32 | 40 | 47 | 45 | 15 | 15 | TCC20-(D) | 1.9
-TPC29-195 1T |M12~M27| 29 | 85~20| 195|140 | 45 | 55 | 63 | 55 | 15 | 15 | TCC29-(D) | 2.6
-TPC20-165 1 M4~M14 | 20 | 5~125| 165|120 | 32 | 40 | 47 | 45 | 15 | 15 | TCC20-(D) | 4.3
SBT50 -TPC29-195 1T | M12~M27| 29 | 85~20| 195|140 | 45 | 55 | 63 | 55 | 15 | 15 | TCC29-(D)| 5.0
-TPC40-225 1 |M18~M39| 40 | 14~30 | 225|150 | 60 | 80 | 85 | 75 | 20 | 20 | TCC40-(D) | 6.2
-TPC60-195 2 |M39~M52| 60 | 30~42 | 195 75 106 | 39 | 20 | 20 | TCC60-(D) | 8.1

E 1. FIG1 ONVIFEEIESyF Iy NTCO) (CTITIES.
2. FIG2 OV IR S v TRV (A4F) ICTITS.

NOTE:1. TPC20,TPC29 & TPC40 of Fig.1 — Torque is adjusted by tap collet.
2. TPC60 of Fig.2 — Torque is adjusted by holder.




SBTYU—X

TCCEY9wabwhk

TAP COLLET (Type

TCC)

(w/;:fizg conirol
e e
Hz H3
H1 G1 e —
7 7 i
_\:77 1{1
{5 vﬁﬁ == (I 1
i S e A ; i
MODEL FIG. D D1 ¢®D2 *»C1 H1 H3 H4 G1 N/W (kg)
TCC20-(D) 1 Ma~M14 20 40 32 20 45 73 M4 - M5 - M6 | 0.35
TCC29-(D) 1 M12~M27 29 55 45 25 55 90 M5 - M6 - M8 0.84
TCC40-(D) 1 M18~M39 40 80 60 40 75 123 M10 2.0
TCC60-(D) 2 | M39~M52 60 - 75 - 124 219 M10 35
%SBT 94 FI4BT2 EHIREMHGY—UY T T, BT 94 TOMHHLET)
MODEL MQJIS B 4430-1972) UNC(JIS B 4432-1972) PF PT(JIS B 4445,4446-1967)
D D2 L H2 D D2 L H2 D D2 L H2
M4 | 5 195 | 5 195 22
was| 5 198 B I :
22 W
M5 | 5.5 (203 | 55203 "
M6 | 6 |205 | e |205
- R 60 (6.1 212 23
g M7 | 6.2 (207 - ]
N M8 62212 1
S Mo | 7 [214 )3 w7 217 23
= mo| 7 [217 : : i
M| 8 222 | 8 |221 24 el 8 [196 24
L M12| 8.5 (223|248 24| 29 [ R -1 -
R I I - | 9 |225]250 25| 30 ;
| W14 (105|228 252 25 | 31 9160 [105|230| 254 31 :
| ) - : A 11 |202| 226 25| 31
. - 560 | 12 235258 25 )
Q| [ms[12s[235]257 2533 : ; i
N mie| 14 261291 34 |14 266|296 34|34 R a 226256 34|34
) M0 15 266|295 34135 e 1 - 1 ]
w2[ 17 276304 36 w17 276|304 34 36 i
- - - - - Thas | |2a1)263 42
34—
=
PR 281|302 anlas : iEH R 243|264 43
L 1Q| [wr7]20 291312 U |20 286|307 34| 43 1 -
B3 : 10| 22 315 45 ;
T |wo|23 315 45 - Tl 23 265 45
- L L 1| 24 1323 a7 [ers] 24 1268 |47 |
M33| 25 1323 |47 | - - - - - -
: ; 1380] 26 333 47 P26 273 47
M36 | 28 331 49 ; el 28 275 50
| [[m9]30 340|299 50| 61 |11 30 335]204 50|61 - : -
|2 | 32 305 65| - | - - 32 243 57
o e L 1 .
g M45 | 35 305 70 |134] 35 1300 | 70| - | -] -
2 s | 38 308 720 - - S| g 243 62
g IRl
- w40 315 s - :
M52 | 42 315 s - - = |wrm| a2 243 67

mH Z S N—CVHS N—CV—wn N—CVUAnT

CE RN

o = 5

¢




N—CUARKnT

mH Z S N—C\VHS PNE

CE R ON

B W

B

e =BT YT RILS

SBTYU—X

DEPTH CONTROL TAP HOLDER

L1

L2 H1

F1: TENSION
2F1 F3 F2 : COMPRESSION
Y F3: BACK TENSION

1

" 1
g | E—
‘ - [m}
gl gl g §
%SBTY A FIIBT2EAREHIIGY —U VT T (BTIA THRLEUET)
TAP N/W
MODEL D @D1 ®D2 L1 L2 | ¢C1 | ¢C2 | ¢C3 | H1 F1 F2 B8 COLLET kg)
SBT40 -ADC20-150 |M2.5~M16| 20 | 3~125| 123|109 | 32 | 40 | 47 14 6 14 2 TC20-(D) 1.6
-ADC29-195 M12~M27| 29 | 85~20 | 163 | 143 | 45 | 55 | 63 | 20 8 18 7 TC29-(D) 2.6
-ADC20-165 |M2.5~M16| 20 | 3~125| 138 | 124 | 32 | 40 | 47 14 | 6.8 8 3 TC20-(D) 4.2
SBT50 | -ADC29-195 M12~M27| 29 | 85~20| 163 | 143 | 45 | 55 | 63 | 20 8 18 7 TC29-(D) 4.9
-ADC40-225 M18~M39| 40 | 14~30 | 173|153 | 60 | 80 | 80 | 20 10 18 9 TC40-(D) 6

(RYUFEEHIPRIEE) EBTEJS;E  (Depth limit device) How to set

O@ADCHIE. RIFSHEENICREDHIREBZHIHAAL TN D
B ARIFREDERICREDTT YV TALTRED/INSYFE

E+0.1,
@5y 7ILybE. MLIUZYHZERDIRVCTCE Yy TN E
CERTEL,

FIEAEROTCCILYM(MLIUZY I HTHEATERT
O3y, AVTLyyavnDTO-MEBOEIECKDY Y TE
;Tt%ﬁiib@%ﬁ%’éﬁiﬂﬂl:ﬁIEb\EE@EU*‘“)EZD‘H&'
£

®The ADC tapper, in which the limit device is incorporated to
determine thread depth automatically, can decide thread depth
accurately. Variations in accuracy of depth tapping is 0.1.

® Please use TC type tap, which has no torque limiter. In addition,
traditional TCC collet having torque limiter can be used.

@ |t automatically corrects the error in the machine and feed tap pitch
by the action of the float mechanism (tension-compression), which
can make it tapping with high accuracy.

BLARTOTS LA | Example: through-hole program

2520 EOEEELE
Rapid feed Stop feed rotation
— EERR XD

- Back feed at reverse rotation

2RL
Quick return
— . )
‘ 1IEbRTO5S Ll | Example: blind hole program
— EDELE Stop feed
g KSTIL
sa’f.c? feed Bz, Stop Dwell rotation

Sy ITACHER | jpmEen i
Threading feed amount EEE  Reverse rotation

= ROIL
g%b EUixb Dwell back feed
Quick return

‘ RO IIVESREDET&EE | Calculation method of dwell time
) #vJ/{— : ADC20(ECH#ER6) (Exampiel
lapper:
w7 M12X1.75 (1h$gading feel amount 6)
[E#EE% © 180min'(3RPS)

Tap: M12 X 1.75
RO T)UERE=

Rotational speed: 180min-!
Dwell time

(3RPS)
x2=2.3%

2.3seconds

____ 6
1.75X180/60

E

_'T

Tap stop point -

i

1

i

EY RILEBEIE

4

5 g&L@_ﬁj_z URSERE

Tap depth setting

5

i

I Feed stop point

7JO-F8

T[T Approach amount
4

l| B

% Spindle movement amount

T

_ 4 | BCHERR+5

Threading feed amount F, +5

OF7 JO—FEXE @ approach amount setting

F1-BmmI[CREDSE. Fv T

DEGRE EFUHEFEDIC

EEULTTREL,. Set to F1-5mm. Set slightly slower or
equal to the speed of travel of the tap.

@R IILTHIIA @ Start tapping

®AEY R)LIEEE © Spindle movement amount

RIURESHREEBICLDBECHE

8F1%5|UL\fc~f5%,. Amount obtained by subtracting the
threading feed amount (F1) by the tap
depth setting amount.

@EDELIER @ Feed stop point

DX D % LD EEHEER DI

(RYI)V)ESZ B, Stop the feed of the machine,
and let only the spindle (Dwell) turn.

®RITIILIFE  © Dwell time

Ko _ Fy—ECHEERmm)
BB 2yJ0  FEMOERH
P(mm) (RP.S)

Tapper threading feed amount (mm)
Tap Pitch(mm) x Rotation (R,P,S)

®% v HMELEF ® Tap stop point

Dwell time = X2

M EMOEREE. Mo
(ROTIRUED (5 v TOR

RS EEFUICERE) Stop spindle rotation, reverse spindle
rotation (Dwell), and feed back
(setting to the same as the rate at
which the tap is fed back.).

@R IJI5ET @ Tapping complete




TCEY9wPdLwhk

SBTYU—X
TAP COLLET (Type TC)

H2 L
H1
61
HE
T
i
E 1 1 S
S || -
L
l A3
MODEL D ¢D1 #CT H1 G N/W (kg)
TC20-(D) M3~M16 20 32 14 M4 - M5 - M6 0.14
TC29-(D) M12~M27 29 45 20 M6 - M8 0.33
TC40-(D) M18~M39 40 60 20 MT0 0.70
TC209w 7Lk TAP COLLET
TC20-(D)
M - [*m2[m3 [ ma [ms [me | - [ms[mio mi2[ - [mi4 - M16
D UNC | - [No4| - |Nos|No.io[1/4]5/16] - [3/8] - [7/16 12 - orte] - [ss8
PT - PF : P1/8 - P1/4
D2 3 4 5 |55] 6 [61]62] 78 [85] 9 [105] 11 [ 12 [125
H2 195 205 [215] 22 23 24 25| 26 27 | 28
L 24.5(235[255(305/ 38 [40 | 47 [52]31[ 5658 |60]|62]64]35]68]67
TC299w 7Lk TAP COLLET
TC29-(D)
Mo mi2] - (w4 - M16[M18 m20| - |m22] - [m24] - |m27] -
D UNC | - [1/2] - Jorte] - |58 3/4 7/8 - 1
PT - PF - P1/4 P3/8 - P1/2] - |ps/8] -
D2 85] 9 [105] 11 |12 [125 14 5] 17 18] 19 20
H2 29 [30 ] 31 32 |33 34 35 36 |37 38
L 535557593063 |62]66]71 3170 79 [43[82]44][92]87
TC409wFaLwk TAP COLLTE
TC40-(D)
m | [T ] | (1]
D UNC | - [34] - |78 - 1 oe] - T 138 - 1172
PT - PF L AEED [ P34 P7/8 P - [pis
D2 14 15] 17 [18] 19 20 [22] 23 24 [25] 26 28 30
H2 34 35| 36 |42 43 45 47 49 51
L 66]71[31[70] 79 [38]|77[39]87[82] 90 [40]|98]43]98]106] 46 [106] 51 [114]109

EN FrvILYFRABLTSYUEY. NOTE:1.For JIS standard taps only. 3mark tap collet is manufactured to order.

CER NN mH Z S N—CVUHE N—CV—Hwn N—CUAwnT



mH &S N—C\UHE N—CU—n N—CUALnT

CE R ON

¥ W

SBTYU—X

Y4 ROvIRILS AR

SIDE LOCK HOLDER

Thru-the-tool Coolant Available

H1

H3 H2
G2 G171
VI a
N
I | |} ! ol u
E ——, 3
i
|
G2 N/W
MODEL od L oC H1 H2 H3 CINN (S e
SLA20-075 20 75 0.80
SBT30 e 2 z 45 70 25 20 Mo | mio 280
-SLA10-090 10 90 30 60 12 15 M8 M8 13
-SLA12-090 12 90 32 60 12 15 M8 M8 14
-SLA16-090 90 50 M10 18
150 16 150 48 24 20 M10 26
-200 200 70 M12 32
-SLA20-090 90 M10 18
150 20 150 50 70 25 20 mio [, 2.7
SBT40 200 200 34
-SLA25-090 90 M10 17
150 25 150 50 70 25 20 mio [, 26
200 200 33
-SLA32-105 105 M10 21
150 32 150 60 80 30 20 mio [, 32
200 200 42
-SLA40-120 0 120 62 85 20 25 Mz | wmiz 25
-SLA16-105 105 75 45
150 16 150 48 o 24 20 Mo | mi2 X
-200 200 57
-SLA20-105 105 M10 44
150 20 150 50 70 25 20 mio [ X
-200 200 59
SLA25-105 105 M10 43
150 25 150 50 70 25 20 Mo [ 50
SBT50 -200 200 58
SLA32-105 105 M10 45
150 150 56
1= 32 = 60 80 30 20 mio | o 25
-250 250 77
SLA40-105 105 25 20 47
150 40 150 70 85 mi2 | mi2 6.1
-200 200 20 25 76
SLA42-105 a2 105 75 85 75 20 M2 | Wiz 50

ENISYMIRN—h v VT NEEERT 3.

2. £V I —RI—ICTTEADKEIZ. BIRSEBUHIFTEL.




YA ROYIRILSY (FUJLF)

SBTYU—ZX

SIDE LOCK HOLDER
—

Thru-the-tool Coolant Available

ﬁ
[ i T
MODEL od oC #C1 H1 H2 G
-SL16D-090 0 S
XP1.
150 16 41 31 = 49 14 14 M10xP1.0 2
-5L20D-090 90 7
xP1. V)
150 20 45 35 = 51 14 14 M10XP1.0 :
SBT40 -5L25D-090 90 X
XP1.
150 25 48 38 = 57 15 20 |M12xP1.25
-5L32D-105 105
XP1.
38 32 61 51 e 61 15 20 |M12xP1.25
-5L40D-105 40 68 58 105 71 15 25 M14xP15
-SL16D-105 90
135 135
XPT.
es 16 41 31 e 49 14 14 M10XP1.0
-200 200
-5L20D-105 90
135 135
XPT.
es 20 45 35 e 51 14 14 M10XP1.0
-200 200 7
-5L25D-105 105 )
135 135
25 48 38 57 15 20 |M12xP1.25 T
SBTS0 -165 165 -
-200 200 =
-5L32D-105 105
-135 135
XP1.
es 32 51 51 e 61 15 20 |M12xP1.25
-200 200
-5L40D-105 105
135 135
XPT.
65 40 68 58 o 71 15 20 M14XP1.5
-200 200
-SL50D-105 105
X .
150 50 83 78 = 81 15 25 |M16 X P1.5

HRUVARRRERVELEBUET,

Y4 ROvIik)LS DEY

SIDE LOCK HOLDER
(FOI' ANSI type Combination Shank) Thru-the-tool Coolant Available

SBTU—X

=
MODEL ¢d L @C H1 H2 H3 H4 G W 'zlligv;l
SBT50 | -SLD50.8-120 50.8 120 95 33.1 339 3578 | 61.68 |M20x15] 11.18 6.6
JEANSIH RN IV ER—2avYv I TVRSIVA NOTE :1.For endmill of straight shank flat.

NOTE :For ANSI combination shank endmills. 2.Thru-the-tool application is acceptable.Please inform it when ordering.




E—ILAT—/\IR)LF AEY
MORSE TAPER HOLDER (Type A)

SBTU—X

S
T
4
U
|
s

¢d

@C1

HAN )

S o

\
MT No.
)
Hl -
I
=]
=<
e .

RUILSw>0ERFE  DRILL DIA. AND SHANK
MODEL MT1 | MT2 | MT3 | MT4 | MT5
£33
- FUILE LIFMIN. 2.0 141 | 231 | 321 | 50.1
E? DRILL DIA. LITMAX. 140 | 230 | 320 | 500 | 750
ﬂ #SBTS A FIFBT2EMREMKI LY —U VT TT, BTIA THMIGELET)
MODEL FIG. MT No. ¢d L L1 #C1 #C2 '2'(;’;’
-MTA1-045 1 12.065 45 25 0.43
SBT30 -MTA2-060 1 2 17.780 60 32 0.50
-MTA3-080 3 23.825 80 40 0.69
-MTA1-045 1 45 1.0
1 12.065 25
(BT30) 2 120 13
-MTA2-045 1 5 17780 45 - 1.0
SBT40 -120 2 120 15
-MTA3-075 1 . 3805 75 20 12
-135 2 ' 135 1.8
-MTA4-090 1 90 1.4
165 > 4 31267 | 50 o

EIVIRMT Ur VI HABZTERTEL. NOTE :1.For tongue type Morse taper shank cutting tools.




SBTU—2X

E—ILAT—/\IK)LF AZY

¥SBTY A FIFBT2EHREMMILY — VT TY . BTIA THRBBLEY)

MORSE TAPER HOLDER (Type A)

MODEL FIG. MT No. ¢d L L1 @C1 @»C2 TI:;;I
-MTA1-045 1 45 3.6
-120 5 120 3.9
-180 180 4.2
-200 ! 12:065 200 25 41 4.5
-250 3 250 85 43 4.9
-300 300 45
-MTA2-045 1 45 3.6
-135 5 135 85 85 4.2
-180 180 4.5
-200 2 17.780 200 32 455 4.8
-250 3 250 85 48.5 5.3
-300 300 49.5 5.9
-MTA3-045 1 45 35
SBT50 -150 150 4.5
-180 2 180 4.8
200 3 23.825 200 40 79
-250 250 5.7
-300 3 300 e 205 6.4
-MTA4-075 1 75 3.6
-180 180 52
-200 5 4 31.267 200 - 50 - 5.5
-250 250 6.3
-300 300 7.0
-MTA5-105 1 105 3.9
-210 210 6.5
-250 2 > 44.399 250 ’ e ’ 9.1
-300 5.0 1.7
E I VIRMT YV IHERTERTEL,  NOTE :1.For tongue type Morse taper shank cutting tools.
— )L ZAF—) LS BEY
t—J)LA I\NTR)LS B2
SBTYU—X
MORSE TAPER HOLDER (Type B)
L
8§
MT No.
%SBT 54 F13BT2 EHIREHI LY — UV T T, (BT 91 THREHULET)
MODEL MT No. ¢d L @C1 ®»C2 G ’\(lligv;l
SBT40 -MTB1-045 1 12.065 45 25 10 M6 1.0
-MTB2-045 2 17.780 45 32 14 M10 1.0
-MTB1-045 1 12.065 45 25 10 M6 3.6
SBT50 -MTB2-045 2 17.780 45 32 16 M10 3.6
-MTB3-060 3 23.825 60 40 18 M12 3.7
-MTB4-075 4 31.267 75 50 20.5 M16 3.7

E BIRIEMT vV IHEETEATEL,

NOTE :1.For drawing thread type Morse taper shank cuting tools.

mH Z S N—CVUHAS N—CV—Hwn N—CVUAKnI

CE RN




mH &S N—C\UHE N—CU—n N—CUAxw»nT

CE R ON

¥ W

SBTYU—X

1

FHI A A7 —/VAEY

FACE MILL ARBOR (Type A)

A71oL
23 *
2D
2C1

=<

P s
23
2D
21

2(5

o4

b4

M1

s
23
2D
21
G

4

20D
21

H1

’E"’ H1
#SBTS 4 FBT2EREMIIGY —UY T TY, BTIA THRGHLEY)

KEY CLAMP N/W
MODEL FIG. oD L oC1 ¢C2 H W K G BOLT kg)
SBT30 -FMA22.225-035 1 22.225| 35 40 18 8.0 4 M8 MBA-M8 0.57
-FMA25.4 -035 25.4 35 50 22 9.5 5 M12 | MNA-M12 0.72
-FMA25.4 -045 1 45 1.4
-105 5 25.4 105 50 60 22 9.5 5 M12 MBA-M12 2.6
-150 150 3.3
SBT40 -FMA31.75 -045 45 1.6
-090 1 31.75 90 60 - 30 12.7 7 M16 MBA-M16 2.6
-150 150 3.7
-FMA38.1 -060 3 38.1 60 80 - 34 15.9 9 M20 MBA-M20 2.6




SBTYU—ZX

FH IS4 A7 —/\AEY

il

#SBTY A FIFBT2EHREMHILY — UV T TY . BTIA THRLBLEY)

FACE MILL ARBOR (Type A)

KEY CLAMP N/W

MODEL FIG. ®D L ¢C1 ¢C2 H W K G BOLT kg)
-FMA25.4 -045 1 45 - 3.9
-090 90 5.0

-150 150 6.4

-200 5 25.4 200 50 o 22 9.5 5 M12 MBA-M12 7.2

-250 250 / 8.3

-300 300 9.4

-350 350 10.5
-FMA31.75 -045 1 45 70 4.1
-075 75 4.9

-105 105 5.7

-150 150 6.5

200 , 31.75 200 60 70 30 12.7 7 M16 MBA-M16 78

-250 250 9.8

-300 300 80 11.2

SBT50 -350 350 12.8
-FMA38.1 -045 45 4.4
-075 75 5.6

-105 105 6.4

-150 1 38.1 150 80 - 34 15.9 9 M20 MBA-M20 7.9

-200 200 9.9

-250 250 11.7

-300 300 13.6

-FMA50.8 -045 1 45 98 5.0
-075 75 6.7

-105 105 8.5

-150 3 50.8 150 100 - 36 19.05 10 M24 MBA-M24 10.4

-200 200 13.3

-250 250 16.1

-300 300 18.9
-FMA47.625-075 3 47.625| 75 128 38 25.4 12.5 - 8.0

S
T
>
U
[
z

mH Z g

%
filiy
=

PN




mH &S N—C\UHE N—CU—n N—CUALnT

CE R ON

¥ W

SBTU—X

1

FEIT AR

—/\B&!

N

48

S
—4

%SBTS A FISBT2EHIREHIILY —

[
W, -
o
«'\)
2C3

24

H3

|7

UVITY. BTIA THHBBLEY)

FACE MILL ARBOR

(Type B)

=

1 2(5

20
2Ll
G

24

H3

H1

L

20

H1

2C1

Hi.

KEY N/W

MODEL FIG. ¢D L ¢C1 H W K G CLAMP BOLT (kg)
-FMB25.4-060 60 1.3
105 25.4 105 80 26 9.5 5 M12 MBA-M12 33

SBT40 -Fl\ll:l:::z;-g:g 1 38.1 28 85 26 15.9 9 M20 MBA-M20 ;2
105 27 105 80 26 12 6 M12 MBA-M12 33

-FMB40-060 40 60 85 26 16 8.5 M20 MBA-M20 2.6
-FMB25.4-045 45 4.1
-090 25.4 90 80 26 9.5 5 M12 MBA-M12 6.1

-150 1 150 8.3
-FMB38.1-045 45 4.4
-075 38.1 75 85 26 15.9 9 M20 MBA-M20 5.7

-105 105 7.0
-FMB38.1F-075 2 38.1 75 110 26 15.9 9 M20 MBA-M20 6.6
SBT50 -FMB27-045 45 4.1
-090 27 90 80 26 12 6 M12 MBA-M12 5.9

-150 1 150 8.3

-FMB40-045 45 4.4

-075 40 75 85 26 16 8.5 M20 MBA-M20 5.7
-105 105 7.1
-FMB40F-075 2 40 75 110 26 16 8.5 M20 MBA-M20 6.7
-FMB60-075 3 60 75 140 25 25.4 125 - 8.5




FHIS5A A7 —/\NCEY

1

SBTYU—X

_—

FACE MILL ARBOR (Type Q)

r K
— 1<y ==
LN =
LA LA
SBTY A FIEBT2EHREL W IHY —U VT T (BTIA TERISELETD)
CLAMP N/W
MODEL oD L @»C H K W BOLT (kg)
-FMC25.4-060 60 2.0
. . X
105 25.4 105 70 20 5 95 M12 X 35L 3
-FMC38.1-060 38.1 60 85 22 7 15.9 M16 X 40L 2.5
-FMC22-060 60 1.5
X
SBT40 105 22 105 45 18 5 10 M10 X 30L >
-FMC27-060 60 2.0
X
105 27 105 70 20 6 12 M12 X 351 3
-FMC32-060 32 60 85 22 7 14 M16 X 40L 2.4
-FMC25.4-045 45 4.0
-090 25.4 90 70 20 5 9.5 M12 X 350 5.4
-150 150 7.2
-FMC38.1-045 45 4.2
-075 38.1 75 85 22 7 15.9 M16 X 40L 56
-150 105 6.9
-FMC22-060 60 4.1
SBT50 -105 22 105 45 18 5 10 M10 X 30L 4.6
-150 150 52
-FMC27-045 45 4.0
-090 27 90 70 20 6 12 M12 X 350 5.4
-150 150 7.2
-FMC32-045 45 4.0
-075 32 75 85 22 7 14 M16 X 40L 5.0
-105 105 6.8

cd N mH &S N—C\VHH N—C\v—Hwn N—CV AN T




FEH IS4 A7 —/NIE (A AAIVA)

1

SBTYU—X

S
T
4
U
|
s

FACE MILL ARBOR (Type

I %
9 L Q) S
=
| H |
SBTY A FIEBT2EHREL W IHY —U VT T (BTIA TERISELETD)
KEY CLAMP N/W
MODEL oD @¢C L H W BOLT kg)
-FM22-45-105I 105 3.8
d -M10F 49
ol 1501 29 45 150 17 10 MBA-M1
i -200I1 200 (M10 X 30L) 5.5
T -2501 250 6.1
g -FM27-55-105I 105 49
-150I1 150 MBAM1 2F 5.6
-200I1 27 55 200 20 12 (M12 x 350) 6.5
-2501 250 7.4
-300I 300 8.3
BT
Pl -FM32-65-105I 105 53
-1501 150 VBTG 6.5
-2001 32 65 200 22 14 (M16 x 400 7.7
-2501 250 89
-300I1 300 10.2
-FM40-80-105I 105 6.3
-1501 150 MBA-M20F 8.1
40 80 26 16
-200I1 200 (M20 X 45L) 9.8
% -250I1 250 11.7
ﬁﬁ A ZHIWHyI—BF7—NICIHE>THIET .




TTAAZIT—/\HE (B9 — A —H)
FACE MILL ARBOR (Type H)

SBTYU—X

Thru-the-tool Coolant Available I;
K
5
. y
Tk ;l(
777777777777777 f’F—I Soo
7N
,,,,,,,,,,,,,,, @=
P
S
2
21 | T Tj
L 2
K,
,,,,,,,,,,,,, o
/%Y
————————————— @ .
TS o
A
:J
5]
= |
z
#SBTS « FIdBT2EHMREMIINY —U VT T, (BTIA TERGHLET)
CLAMP BOLT Hyg— N/W
MODEL FIG. D L H | w | K g
o G| D | oC M 0 BIEZE | (kg -
-FM16H-37-035 1 16 | 37 | 35 16 | 8 4 M8 251 ¢ 30 06 )
saT30 -FM22H-47-045 L, |47 4 17 | 10 | 5 | m10 | 300 ¢ 37 0.7 T
-FM22H-60-045 | 2 60 | 45 17 [ 10 | 5 | m10 | 30U ¢ 50 0.9 -
-FM27H-60-045 27 | 60 | 45 | 20 | 12 | 6 | mi2 | 3sL ¢ 50 0.9 -
-FM16H-37-040 40 1.1
060 16 | 37— 16 | 8 4 M8 251 ® 30 =
-FM22H-47-045 45 13
-060 60 15 7
090 47 og 17 | 10 | 5 | m10 | 30L ® 37 5 i
-150 : 22 150 2.7 t
-FM22H-60-045 45 14 )
-060 60 | 60 | 17 | 10 | 5 | mi0 | 30L ® 50 17 U
-090 90 2.4
-FM27H-60-045 45 15
-060 60 | 60 | 20 | 12 | 6 | m12 | 350 ¢ 50 18
-090 27 90 2.4 i
-FM27H-76-060 60 21 i
590 | > 76 g1 20| 12| 6 | mi2 | 35l ® 66 - :
SBT40 -FM32H-96-060 32 | 9% | 60 | 22 | 14 | 7 | mi6 | 4oL 0 82 24 ¥
-FM22.225H-47-045 45 13
-060 60 15
590 47 o5 17 | 8 | 35 | m10 | 30L ¢ 39 S
-150 22.225 150 27
-FM25.4H-70-060 45 14
-060 60 | 60 17 | 8 | 35 | m10 | 30U ¢ 52 1.47
090 | 90 2.4
-FM25.4H-70-060 60 19
-090 254 | 70 | 90 | 22 | 95 | 5 | m12 | 38L ¢ 59 26
-105 105 3.0
-FM31.75H-76-060 60 21
76 30 | 127 7 | mi2 | 38L 62
-090 31.75 90 ¢ 2.8
-FM31.75H-96-060 9% | 60 | 30 | 127 7 | mi2 | 3sL ® 82 24

BT B NY I —DRICE O TRF Py TRIVNEEE T 2HENGHIFT




TIAAZT—/\HE! (B9 — A —H)
FACE MILL ARBOR (Type H)

SBTYU—X

;' Thru-the-tool Coolant Available
K
d #SBTY A FIEBT2EHR TN Y —U VT T, BTIA THMGELEY)
N CLAMP BOLT HvT— N/W
= MODEL FIG. | ¢D | ¢C L H W K " % e k)
-FM16H-32-105 105 4.1
150 1 16 | 32 50 16 8 4 M8 251 ® 25 3
. -FM16H-37-060 60 3.8
-105 105 4.2
T 1 16 | 37 16 8 4 M8 251 30
3 -150 150 ¢ 45
'f -200 200 4.9
2 -FM22H-40-150 150 438
-200 1 22 | 40 200 17 | 10 5 M10 30L ® 32 5.2
-250 250 6.7
-FM22H-47-060 60 3.9
. -105 105 45
% 150 150 X
3 -200 1 22 | 47 200 17 | 10 5 M10 30L ® 37 5.8
'f -250 250 6.4
2 -300 300 7.1
-350 350 7.8
-FM22H-48-150 150 5.2
-200 1 22 | 48 200 17 | 10 5 M10 30L ® 38 5.9
-250 250 6.6
) -FM22H-60-060 60 4.1
Hil -105 105 5.1
T -150 150 6.1
g8 -200 1 22 60 200 17 10 5 M10 30L ® 50 7.2
-250 250 8.2
-300 300 93
-350 350 10.4
- -FM27H-48-150 150 5.2
> SBT50 -200 1 27 | 48 200 20 | 12 6 M12 351 ® 38 5.9
o -250 250 6.6
o -FM27H-60-045 45 ® 43 3.8
Y -090 90 48
-150 150 6.1
T 1 27 | 60 200 20 | 12 6 M12 351 550 _—
-250 250 8.3
53 -300 300 9.4
ff -FM27H-76-045 45 0 74 3.9
g -090 90 5.5
S
-150 150 7.6
1 27 | 76 20 | 12 6 M12 350
-200 200 ® 66 9.4
-250 250 11.1
-300 300 129
-FM32H-85-150 150 8.7
-200 1 32 | 85 200 22 | 14 7 M16 40L ® 71 109
-250 250 13.1
-FM32H-96-045 45 o 74 4.1
-090 90 6.6
-150 150 9.9
1 32 | 9 22 | 14 7 M16 40L
-200 200 ® 82 12.8
-250 250 15.6
-300 300 18.4

B2 Hy I —DHRIC IS TS Fry TRIVNEEE T DUENHUET




SBTYU—X

TTAAZIT—/\HE (B9 — A —H)

#SBTY A FISBT2EMREMMISY — U T TY . BTIA THHBHLEY)

FACE MILL ARBOR (Type

H)

Thru-the-tool Coolant Available

CLAMP BOLT HvI— N/W

MODEL FIG. | oD | oC L H | w | K — = S | oo
-FM40H-100-045 45 073 43
075 | 1 | 40 | 100 | 75 2 | 16 | 85 NBA-M20F o 59

150 150 ¢ 106
FM22.225H-47-060 60 39
-105 105 46

150 150 5.1

200 | 1 |22225] 47 | 200 | 17 | 8 | 35 | mi0o | 300 039 538

-250 250 6.4

-300 300 7.1

-350 350 78
FM22.225H-60-060 60 4
-105 105 51

-150 150 6.1

200 | 1 [22225 60 | 200 | 17 | 8 | 35 | mio | 30 52 72

-250 250 8.2

-300 300 93
-350 350 104
-FM25.4H-70-045 45 41
-060 60 43

-090 %0 52

50 | 1 | 254 | 70 | 150 | 22 | 95 | 5 | mi2 | 380 ¢ 59 70

-200 200 85

-250 250 99
S -300 300 1.4
-FM31.75H-76-045 45 40
-075 75 5.0

105 105 6.1

50 | 1 (3175 76 | 150 | 30 | 13| 7 | mie | 4oL ® 62 77

200 200 9.4

-250 250 1.2
-300 300 129
-FM31.75H-96-045 45 ® 74 47
075 75 58

105 105 75

50 | 4 13175 96 | 19 | 30 | 13| 7 | mie | 4oL 10.0
-200 200 ¢ 82 128
-250 250 15.6
-300 300 185
-FM38.1H-100-045 45 073 43
-075 75 6.0

-105 105 79
150 | 1 | 381|100 | 150 | 34 | 159 | o9 NBA-M20F 10.6
-200 200 ¢80 13.7
-250 250 16.7
-300 300 19.7

BT 2 NY I —DHARICE O TRF Py TRIVNEEE T 2HENGHIFT

cd N mH &S N—C\VHH N—C\v—Hwn N—CWVAwnT




mH &S N—C\UHE N—CU—n N—CUALnT

CE R ON

¥ W

SBTU—X

YA RADYIF7—NN

#SBT 94 FI$BT2 EHREHIGY — UV T TY. BT 91 TOHBHLET)

SIDE CUTTER ARBOR

N/W

MODEL oD L ¢C H1 H2 G K W KG)
-SCA12.7-060 12.7 60 20 15 M12 X 1.25 - 1.2
-SCA15.875-075 15.875 75 26 16 M14 X 1.5 17.42 318 1.4
-SCA22.225-075 | 22.225 75 34 21 > M20 X 1.5 23.82 ) 1.7
SBT40 SCA25.4-075 75 10 2.0

. - . 20 X . . -
120 25.4 120 40 25 M24 X 2 27.78 6.35 55
-SCA31.75-075 31.75 90 46 30 M30 X 2 34.92 7.92 2.6
-SCA12.7-075 75 3.9
. X 1. -

105 12.7 105 20 15 M12 X 1.25 20
-SCA15.875-090 90 4.0
. X 1. .

120 15.875 120 26 16 M14 x 1.5 17.42 s 12
-SCA22.225-090 90 ' 4.5
. X 1. .

135 22.225 135 34 21 M20 X 1.5 23.82 17
-SCA25.4-090 90 4.7
-135 135 5.1
-150 150
X
200 25.4 200 40 25 M24 X 2 27.78 6.35
-250 250 c
-300 300
SBTS0 -SCA31.75-090 90 ;8 5.1
-135 135 5.7
-150 150
. X . .
200 31.75 200 46 30 M30 X 2 34.92 7.92
-250 250
-300 300
-SCA38.1-090 90 5.8
-135 135 6.7
-150 150
X
200 38.1 200 55 36 M36 X 2 42.06 9.52
-250 250
-300 300




SBTYU—X

FAILIR—ILRILS (U FOvIR)

OIL-HOLE ADAPTER (Set Screw Type)

? 18 S0

h1

h2( #zhE )

( When mounted on machine spindle )

{ERR CUTTING CONDITIONS
BE(STD) | #—5 (H)
e OERH ) )
MAX RPM 1500min-1{3000min-1
=aEPHEE
MAX.COOLANT PRESSURE | 0->MPa | 2.0MPa
N/W
MODEL od L oC H1 H2 H3 G B p «G)
-OH-SL16-150 | 16 -
38 25 45
-5L20-150 | 20 150 - 80
X 1. .
SBT40 5125150 | 25 43 15 20 55 |M2x 15 65 35
SL32-165 | 32 165 53 13 18 60 92
-OH-5L16-165 | 16
40 25 45 |MI12Xx 15
-SL20-165 20 98 80
SBT50 SL25-165 | 25 165 48 55 82 8.3
-SL32-165 32 58 15 20 60 M16 X 1.5 85
-5L40-165 | 40 63 105

E th1,h2 BEA—ARUEIEICKDRBET O T ENIAE T IRICE A— AR UHEEEEERNE T,
NOTE :1.When ordering,please inform h1 and h2 dimentions,which differ depending on machine maker and model.

N—CwH»

mH &S

o = 5

030



N—CVANT

N—C\UHE N—CVU—H»n

CER NN mH S

¥ W

A IWIR—=IURILS (E—ILAT—/\T)
OIL-HOLE ADAPTER (Morse Taper Type)

SBTYU—X

H2

1 HT No.

i
JL N
by
h,
) h2( aEna )

(Wnen mounied on machine spindte ) CWnen mounted an machine spindie )

L@ﬂ;
an fm |

o

#SBT 94 F(3BT2 EHIREMMHY —UVT T, BT 94 TOHMLBLET)

MODEL FIG. MT No. ¢d L H1 H2 B P N/W
(KG)
-OH-MT3-105 2 MT3 23.825 105 21 22
SBT40 -MT4-120 2 MT4 31.267 120 21 34 80 65 31
-OH-MT3-110 1 MT3 23.825 110 21 22
SBT50 -MT4-120 2 MT4 31.267 120 21 34 98 80 82 85 5.6
-MT5-135 2 MT5 44.399 135 40 45

3E th1,h2 BEX—ARUBEICKI RGN E T DT EEEEITEICE X — DR UOHEZ SRV E T .
NOTE :1.When ordering,please inform h1 and h2 dimentions,which differ depending on machine maker and model.

FA)Iik—ILI\—RF v

OIL-HOLE HARD CHUCK

SBTU—ZX

h2( $E4E )
( When mounted on mactine spindle |

B CUTTING CONDITIONS
R DR )
MAX RPM 3000min-1
= tIEHEE
MAX.COOLANT PRESSURE 2.0MPa

#SBT 94 FI$BT2 EHREHMIGY — UV T TY. BT 91 TOHBHLEY)

N/w

MODEL ¢d L @C B P kg)
-OH-CTH16-170 16 170 52 98 10.0

SBT50 -CTH25-185 25 185 68 98 80 12.0
-CTH32-195 32 195 83 120 16.0

7 'h1,h2 BEA—DRUHEICKDRBIE S DT EEEEF TICIE A—ARUEEZEEEENFT .
NOTE :1.When ordering,please inform h1 and h2 dimentions,which differ depending on machine maker and model.



SBTYU—ZX

FAIWIR—=IVIINE=—VV T F v

OIL-HOLE COLLET CHUCK

(*ﬁ@ﬁu

%)
7/

Y.
N,

L 0l
,,,,,,,,,,,, 1
h2 ( #EE )
%SBT 54 F13BT2 EHIREHIILY —UT T (BT 91 THMEHULET)
MODEL od L oC B P ?'k/g V;I
-OH-CTM20-150 20 150 52 80 4.0
SBT40 OH-C 0-15
-CTM20-165 20 165 52 80 80 4.0
SBT50 -CTM20-175 20 175 52 98 8.5
Eh1,h2 BEX—DRUEEBICKUERGUFT DT EEEEFIBICIE A—DROBBZHEEEVET .
NOTE :1.When ordering,please inform h1 and h2 dimentions,which differ depending on machine maker and model.
W O N\
AAIVIR—ILI VT IRILS
SBTY—U>o o o o
L B
m ‘ ’Djj\dp; {ﬂfg/usluble J
Q Q
‘ >
| | ‘ d COMP. F2|F1 TENSION % S
E i‘ e e &} /
h2 ( &&wE )
( When mounted on machine spindle )
fEFAZH CUTTING CONDITIONS
REUHPHE
MAX.COOLANT PRESSURE 2.0MPa
#SBT &4 FI3BT2 EHIREHMMILY — UV TTH, (BT 91 ToRBELET)
TAP COLLET N/w
MODEL ¢D1 L H B P F1 F2 D CODE kg)
-OH-TPC20-207 20 207 | 45 M4 ~ M14 OH-TCC20-© 8.5
BT4 2 1 1
SBT40 -TPC29-217 29 217 55 ° 65 > ° M12 ~M27 OH-TCC29-© 8.7
-OH-TPC20-200 20 200 | 45 %8 81 15 15 M4 ~ M14 OH-TCC20-© 11.0
SBT50 -TPC29-210 29 210 55 82 M12 ~M27 OH-TCC29-© 12.0
-TPC40-260 40 260 75 120 | 85 20 20 M18 ~M39 OH-TCC40-© 15.0

& h1,h2 BEX—ARUOBBICKURRBDF I DT EEE T IEICE A—HRUHEZEEERNET.

NOTE :1.When ordering,please inform h1 and h2 dimentions,which differ depending on machine maker and model.

S
T
>
U
|
z

mH Z g

®

~
i

W~

7




L

,_, |




S
B
T
D
J
|
X

mH &S N—CVHE N—C\V—wn

CE R ON

&

~
i

% W =

N—RFvvT

HSKYU—X

HARD CHUCK

Thru-the-tool Coolant Available

EAEETHON—RF vy I3V —UVTICEREIN DR ®The ball screw structure provides high clamping power.
(R SRV - IR M- 1B ZEINIC B RRETLTVLE T DT, ®Easy handling.
HSWBEEICHNA LRIV THEAZSVEIEDIEWY—)LLA7 | ®High accuracy and rigidity are kept long.
JRHTHET T,

F
H
\
ol Y
| ©
F SPRING ADJUST N/W
Lol &g L (s H G MIN. MAX. COLLET SCREW (kg)
-CTH16-120 16 52 C16-(16) 23
. OR-M18-25
HSKAGS -CTH20-120 20 120 60 =0 MT8xP1.5 =0 70 C20-(20) 2.5
-CTH25-120 25 68 68 M28xP1 5 60 C25-(25) OR-M28-25 2.8
-CTH32-135 32 135 80 70 ' 80 CS32-(32) OR-M28-30 3.1
-CTH16-135 16 52 50 C16-(16) 3.8
M18xP1. R-M18-
-CTH20-135 20 135 60 50 &P1.5 >0 69 C20-(20) © 835 4.0
HSKA100 | -CTH25-135 25 68 68 M28xP1.5 68 79 C25-(25) OR-M28-25 43
-CTH32-150 32 150 80 80 80 100 C32-(32) 55
M36xP1. OR-M36-20
-CTH42-165 | 42 | 165 | 95 | 90 POPT> o0 114 | caza) 6.7
N =SSN A AN THBIET (EER) NOTE :1. A Coolant pipe is supplied with chuck.
2. 27UV IyN BAIEER) [FHBLTLET. 2. A spring collet is supplied with Hard chuck.
YA ZDR T Iy NECFLOBHIBIBEBEBEUSI TS L. Unless otherwise required, maximum ID spring collet is supplied.
3. FrvILyF SEERIIBUTHEUE R A BIEBROEE L, 3. Chuck wrench and adjust screw are sold separately.
4. 29 —2)V—ICTTERDBHE, FERI(OR 947 ZRRESROH S L. 4. For thru-the-tool coolant application, OR-adjust screw is used.

5. 2 A XA VRV —CTHERTEETT .
(FBRIFEOR 94 TERET3EXTFE L)




S
B
T
4
W,
|
x

CSFvwvwo
COMPACT MILLING CHUCK

HSKYU—X

Thru-the-tool Coolant Available

Q@IHED=—RILRF UV T AR =RA ®Uses unique needle bearing system
ORELIE)EURBELIBENZRRL. FvbEIU AL @®Compact nut ensures stable repetitive accuracy and gripping
O F vyF U ITRDHIEDRHAHHEEL performance

®No sinking of cutter during chucking

S
T
2
)
I\\
A
L
M
. A
s 0
[/ |
{ ~T ~ 2
ﬁfj) X 1 f | | — | ‘;T §
& S
1 7]
) A :
E s =1 T
=
7
MODEL ¢d L oC s H ZINF N/W 7
(kg) £
HSKA50 -CS16-090 16 90 44 45 60 FK45-485 0.7 H
-CS20-095 20 95 53 50 65 FK52-55 0.8 ]
-CS16-090 90 1.0
1120 16 120 44 45 65 FK45-48S T
-C520-095 20 95 o % 65 - 1.2
HSKA63 -120 120 80 1.6
-CS25-100 100 70 1.3
1120 25 120 62 55 80 FK58-65 16 1¥T§
-CS32-105 105 80 1.3 4
135 32 35 69 60 105 FK65-70 T8 &
-C516-105 105 25 )
135 16 35 44 45 65 FK45-48S 59
-CS20-105 105 70 2.7
-135 20 135 53 50 80 FK52-55 3.1
-165 165 3.7
-CS25-105 105 70 2.8
-135 25 135 62 55 FK58-65 3.4
HSKA100 165 165 80 20
-CS32-115 115 80 29
-135 32 135 69 65 100 FK65-70 33
-165 165 105 3.9
-CS42-115 115 80 3.2
-135 42 135 86 75 100 FK85-92 3.8
-165 165 110 4.2
1. I=SUN I FIImENTHEIET . (BER) NOTE:1. A Coolant pipe is supplied with chuck.
2. FryIUF FEXIFHIBUTBIFE Ao BEEBROIZE L, 2. Chuck wrench and adjust screw are sold separately.
3. £V —RIV—[CTTHEHDE. FEERV(OR 91 ) ZRIEHRH T, 3. For thru-the-tool coolant application, OR-adjust screw is used.
4. 2Y A XAV RV —ICTHERTIEETY . OR-adjust screw is sold separately.

(BEXRIIFOR 94 TERETELTFE )



S
B
T
4
U
|
x

INER=E—U T F v
COLLET CHUCK

HSKYU—X

Thru-the-tool Coolant Available

S
J L
]
7 F
= G
n Lyt - oly
};ﬁ d S Ny
Y
| J\i
x
7]
Hl
= ¢d F COLLET ADJUST N/W
=]
= MODEL GRIPPING RANGE| - | ¢ G MIN. [MAX.|  SIZE SCREW (kg)
Max. 20,000min-1
-CTM07-090 05~7 90 23 M6 X 1 25 40 CRO7-(D) 0.7
-CTM10-090 90 43 0.8
- 1120 0.5~10 120 32 M10 X 1.5 30 60 CR10-(D) OR-M10 0.9
-CTM13-090 90 43 0.8
Z HSKA50 1120 05~13 120 36 M12 X 1.5 35 65 CR13-(D) OR-M12 10
-CTM16-090 90 43 0.9
3- 1120 1~16 120 44 M18 X 1.5 35 70 CR16-(D) OR-M18-25 10
-CTM20-090 90 43 1.0
1120 1.5~20 120 52 M24 X 1.5 38 70 CR20-(D) OR-M24-25 3
Max. 20,000min-1
-CTM07-090 05~7 90 23 M6 X 1 25 40 CRO7-(D) 1.2
-CTM10-090 90 40 1.3
. 1120 0.5~10 120 32 M10 X 1.5 30 60 CR10-(D) OR-M10 15
o} -CTM13-090 90 40 1.4
o HSKA63 1120 05~13 120 36 M12 X 1.5 35 65 CR13-(D) OR-M12 6
¥ -CTM16-090 B 90 40 ] e 1.4
1120 1~16 120 44 M18 X 1.5 35 70 CR16-(D) OR-M18-25 17
-CTM20-090 90 41 1.5
1120 1.5~20 120 52 M24 X 1.5 38 70 CR20-(D) OR-M24-25 19
Max. 8,000min-1
-CTM07-105 05~7 105 23 M6 X 1 25 65 CRO7-(D) 2.3
-CTM10-105 105 48 2.4
135 0.5~10 135 32 M10 X 1.5 30 64 CR10-(D) OR-M10 26
-CTM13-105 105 48 2.5
HSKA100 135 05~13 35 36 M12 X 1.5 35 65 CR13-(D) OR-M12 57
-CTM16-105 105 49 2.6
135 1~16 135 44 M18 X 1.5 40 69 CR16-(D) OR-M18-25 58
-CTM20-105 105 49 2.7
135 1.5~20 135 52 M24 X 1.5 40 69 CR20-(D) OR-M24-25 31
EL I-SYNMA T RABENTBUET . (BER) NOTE :1. A Coolant pipe is supplied with chuck.
2. AEVRIVZ I —ICTERTEETT . 2. CROH collet is used for thru-the-tool coolant application.
( ZJ(E. OR IA FEFRTFT T E L) 3. The above-mentioned maximum speed will vary depending on rigidity of the
3. REEDFBOEHS EHOBIEE YD NSV R CKESEESINEITDT. machine and balance of cutter. An adequated cutting condition should be
RECPOEEHERIBHIZENGBIET . selected for each case.



S
B
T
4
W,
|
A

NR=—V VT FryvI(EERIA )
COLLET CHUCK(G Type)

HSKYU—X

Thru-the-tool Coolant Available

S
T
P
)
I\\
A
| ofo :
8 s M
H
M
]
|
%
7]
il
¢d B COLLET ADJUST N/W -
=]
MODEL GRIPPING RANGE| - | € G MIN. |[MAX.|  SIZE SCREW (kg) =
Max. 27,000min-1
-CTM07-090G 05~7 23 M6 X 1 25 40 CRO7-(D) 0.7
-CTM10-090G 0.5~10 32 M10 X 1.5 30 CR10-(D) OR-M10 0.8
HSKA50 -CTM13-090G 0.5~13 90 36 M12 X 1.5 35 43 CR13-(D) OR-M12 0.8 7
-CTM16-090G 1~16 44 M18 X 1.5 CR16-(D) OR-M18-25 0.9 7
-CTM20-090G 1.5~20 52 M24 X 1.5 38 CR20-(D) OR-M24-25 1.0 .
Max. 27,000min-1 )
-CTM07-090G 05~7 23 M6 X 1 25 CRO7-(D) 1.2 y
-CTM10-090G 0.5~10 32 M10 X 1.5 30 20 CR10-(D) OR-M10 1.3
HSKA63 -CTM13-090G 0.5~13 90 36 M12 X 1.5 35 CR13-(D) OR-M12 1.4
-CTM16-090G 1~16 44 M18 X 1.5 CR16-(D) OR-M18-25 1.4
-CTM20-090G 1.5~20 52 M24 X 1.5 38 41 CR20-(D) OR-M24-25 1.5
E1 I=SYRA TSN TSYFT, (EER) NOTE:1. A Coolant pipe is supplied with chuck.
2. AEVRIVRI—ICTERTEET T, (/ERIVIE.OR IA4 FEFIRTFXFEL.) 2. CROH collet is used for thru-the-tool coolant application. }i
3. REEDHFBOEGHE. EHOBIMETIYDNS VR ICAELEAINETDTC. 3. The above-mentioned maximum speed will vary depending on rigidity of the _
FLhOEERE RIS BET, machine and balance of cutter. An adequated cutting condition should be selected ﬁq
for each case. N
=
*4



S
B
T
4
U
|
x

INRAY LNTF v D
SLIM CHUCK

HSKYU—X

Thru-the-tool Coolant Available

HOO#
@HERE(CTM YU—X) DFvhZERULME ®Nut of conventional product (CTN Series] made slim
@V —7 AETHDE ®|nterference between workpiece and jig reduced
OEEET v ®Higher workability
@I vhE ERDEZE(CR O w) EHT @Conventional collet (CR collet) usable as it is
S
7
>
)
I\\
A
pil
A
)
U
|
z
]
Hil
T
=
7
7 MODEL Fig. ¢d L @®C G COLLET
t -CTS07-045G 05~7 16 M6 X 1 CRO7-(D)
57 LG -CTS10-045G 2 0.5~ 10 45 22 M10 X 1.5 CR10-(D)
U HSKE32 -CTS07-045G 5 05~7 45 16 M6 X 1 CRO7-(D)
-CTS10-060G 05~10 60 22 M10 X 1.5 CR10-(D)
-CTS07-045G 05~7 45 16 M6 X 1 CRO7-(D)
HSKE40 -CT510-060G 2 05~10 60 2 MIT0 X 1.5 CR10-D)
HSKES0 -CTS07-050G 5 05~7 50 16 M6 X 1 CRO7-(D)
-CTS10-060G 05~10 60 22 M10 X 1.5 CR10-(D)
= -CTS07-045G 05~7 45 16 M6 X 1 CRO7-(D)
g HSKA40 -CT510-060G 3 05~10 60 2 MI10 X 1.5 CR10-D)
o HSKA40 -CTS07-050G 3 05~7 50 16 M6 X 1 CRO7-(D)
# -CTS10-060G 05~10 60 22 M10 X 1.5 CR10-(D)
-CTS07-060(G) 60
-090(G) 90
1120(G) 05~7 120 16 M6 X 1 CRO7-(D)
-135(G) 135
-CTS10-060(G) 60
HSKA63 -090(G) 3 90
1120(G) 05~10 120 22 M10 X 1.5 CR10-(D)
-135(G) 135
-CTS13-090(G) 90
-120(G) 05~13 120 28 M12 X 1.5 CR13-(D)
-135(G) 135
:g:g;:%:g 05~7 17055 16 M6 X 1 CRO7-(D)
HSKF63 -CT510-075G 4 75
CTS10-105G 05~10 105 22 M10 X 1.5 CR10-(D)

¥y FERY - FryI UV FRTBLTHUE A, RIS RO FELRNEZEEI 2T ENBIET,



YvUIFIT KILS (LF215—94 )

HSKYU—X

SHRINKING HOLDER
(Regu lar Type) Thru-the-tool Coolant Available

EEIT -SEYHINTICRE! Ideal for high-precision machining and cutting!

L
H ( T8e8A% ) | ( Insertable Length )
S ( Clamping Length )
¢ L ( w/AE )
(S Ee— NN
& - ‘F —_
| —
| E/
N/W
MODEL d L C S H

"’ ¢ (kg)

-SF06-080-N 6 25 0.85
08-080-N 8 80 27 25 =0 0.87
10-085-N 10 85 29 30 55 0.91
12-090-N 12 90 31 60 0.94

L) 16-100-N 16 100 35 40 o 106
20-100-N 20 39 48 1.12
25-110-N 25 110 46 53 75 1.35
32-115-N 32 115 53 55 1.53
-SF06-090-N 6 25 2.10
08-090-N 8 %0 27 25 =0 2.13
10-095-N 10 95 29 20 55 2.17
12-100-N 12 100 31 60 2.22
HSKA100 16-105-N 16 105 35 40 70 2.31
20-110-N 20 110 39 48 2.40
25-115-N 25 115 46 53 75 2.60
32-120-N 32 120 53 55 2.80
42-135-N 42 135 65 70 95 3.30

S
B
T
>
U
X
A

N—C\VHS N—C\Vv—n

mH &S

CERF NN



S
B
T
4
U
|
x

IvUIF T RILS (Za1—AULIA )
SHRINKING HOLDER

HSKYU—X

(New Slim Type) Thru-the-tool Coolant Available
THZMA . SEEED I TZRR! Prevents interference for high-speed, high-feed-rate machining!

L

H ( T##Ak ) | ( Insertable Length )
S S ( Clamping Length )
| ( ik )
T N |
fj - R Sy
L :
N/W
MODEL od L @C S H ke)
-SF04-050-NS 4 12 30 0.18
B HSKE25 06-050-NS 6 50 40 . 40 0.18
E!j 08-050-NS 8 0.18
= -SF04-070-NS 70 50 0.25
'f 04-090-NS 4 90 70 12 35 0.40
=2 06-070-NS 70 50 0.25
06-090-NS 6 90 70 25 55 0.40
08-070-NS 70 50 0.25
i 08-090-NS 8 90 70 25 55 0.40
10-070-NS 70 50 0.25
o 10-090-NS 10 90 70 30 55 0.40
) 12-070-NS " 70 50 30 55 0.25
12-090-NS 90 70 40 70 0.40
T
= MODEL ¢d L @C S H N/W
(kg)
-SF04-075-NS 4 12 45 0.27
06-075-NS 6 . 0.27
HSKE40 08-075-NS 8 75 55 . 0.29
7 10-075-NS 10 20 0.30
i 12-075-NS 12 0.30
+ -SF04-080-NS 4 12 45 0.43
H 06-080-NS 6 . 0.44
3 HSKE50 08-080-NS 8 80 54 o 0.45
10-080-NS 10 20 0.47
12-080-NS 12 0.48
MODEL od L @C S H N/W
% (kg)
p -SF04-080-NS 80 0.27
! 04-120-NS 4 120 11 12 45 0.75
g 04-150-NS 150 0.80
o - SF06-080-NS 80 0.88
06-120-NS 6 120 13 25 55 0.75
06-150-NS 150 0.80
-SF08-080-NS 80 0.90
HSKA63 08-120-NS 8 120 15 25 55 0.75
08-150-NS 150 0.85
-SF10-080-NS 80 0.95
10-120-NS 10 120 17 30 55 0.76
10-150-NS 150 0.88
-SF12-080-NS 80 55 1.00
12-120-NS 12 120 19 30 60 0.77
12-150-NS 150 0.90
-SF04-135-NS 4 11 12 45 1.10
06-135-NS 6 13 05 2.00
HSKA100 08-135-NS 8 135 15 55 2.10
10-135-NS 10 17 20 2.10
12-135-NS 12 19 60 215

041



S
B
T
>
U
X
A

RUJJILF D (2T —{KEY)

DRILL CHUCK
(SINGLE PIECE WITH SHANK)

HSKYU—X

OTERDRUILF vy I KUL FENELIVINIRTT, ®Drill chuck is positively coupled with the holder.
@ vV I—{MEDBIC FEERSHUFEE Ao @®Short (L length) and compact.
OSMNULININES. HEBLYFTHHDIIEBHEKFT . @®Clamping force can be increased by the attached wrench.
S
-
:J
U
I\\
R
N
A
)
U
I\\
R
S
AN
, U
B AN
7))
L1 Al
T
=
L L1 N/W 7z
MODEL ¢d ¢cC OPEN CLOSE OPEN CLOSE (kg) 7
HSKA50 -SDC08-125 03~8 36 123 130.5 48 55.5 1.1 4
-SDC13-155 0.3~13 50.5 153 164.5 65.5 77 1.7 g
HSKA63 -SDCO08-125 03~8 36 123 130.5 48 55.5 1.3
-SDC13-155 03~13 50.5 153 164.5 65.5 77 1.9
-SDC08-130 03~8 36 128 135.5 48 55.5 2.5
HSKA100 -SDC13-155 153 164.5 3.1
03~1 . .
-SDC13-205 3 o0 203 2145 652 & 3.9 #
SE.I-SUN A T IIBEINTHIET . (BER) NOTE:1.Coolant pipe is included. Each SDC chuck is supplied with a wrench. ﬂﬁ'
2. FryIUYFHIEEINTHSIET. 2.Each SDC chuck is dupplied euth a wrench.
&




S
B
T
4
U
|
x

YA ROYIRILY AR

HSKYU—X

SIDE LOCK HOLDER

S

T L

d H1

| H3 H2

A G M

pmVallle
\ Wy N

‘ [

i I — NN

H M - - D [z

=7 I U T o

]

|

z Al

]

Hl

T

8 H1 N/W

MODEL d(H6 L C H2 H3 M G
¢a(He) ¢ MIN. | MAX. kg)

-SLA06-075 6 75 30 18 28 13 M6 M5 0.7
-SLA08-080 8 80 . 23 33 15 M8 M6 0.8

7 HSKAS0 -SLA10-090 10 90 25 38 18 ] M0 | M8 0.9

7 -SLA12-100 12 100 a2 30 43 20 M2 | M10 | 1.1

7 -SLA16-120 16 120 8 35 50 24 M4 | M12 17

12 -SLA20-140 20 140 50 55 70 25 M16 20

i -SLA06-075 6 75 30 18 28 13 M6 M5 0.9

U -SLA08-080 8 80 35 23 33 15 M8 M6 1.0
-SLA10-090 10 90 25 38 18 ) M0 | M8 11
-SLA12-100 12 ) 30 43 20 M2 | MI10 13

HERBES -SLA16-100 16 | 190 g 35 50 24 M14 16

-SLA20-120 20 120 50 25 MT6 25
-SLA25-130 25 130 | 61 == 70 5 % | wmis | M2 35

po -SLA32-140 32 140 72 65 80 28 M20 42

: -SLA06-085 6 85 30 18 28 13 M6 M5 22

-SLA08-090 8 90 . 23 33 15 M8 M6 23

# -SLA10-100 10| 100 25 | 38 18 o [wio | me | 24
-SLA12-110 12 42 30 43 20 M2 | M10 | 26

ey SLA16-110 16 110 48 35 50 24 M4 29
-SLA20-130 20 130 50 25 M16 38
-SLA25-140 25 120 | 61 == 70 9 25 | mie | M2 a5
-SLA32-150 32 150 72 65 80 28 | M20 55
E N I=SUNNATRIBENTHUET . NOTE:1. Coolant pipe is included.

2. 7SYMIRN —b v TRAEETER TS, 2. For endmill of straight shank with flat.



S
B
T
>
U
X
A

Y4 ROYIRILSY (FUJLF)

SIDE LOCK HOLDER (DRILL)

HSKYU—X

S
>
i
L i
H1 A
H3  HZ
| G
— . x
. [ARA) (U] G
. g Y
5 D)
1l ,L ,,,,,,,,,, | o] L e
A ::u@j :I}l Wt | RS
| 1y AV |
- § ] -
hLo__ | _
- A‘Lﬁ"’
= ---Hdl-
' — ]
Hl
T
=l
T
o
hes
H
N/W =
MODEL od oC L H1 H2 H3 G o
-SL16D-090 16 a1 49 13
-SL20D-090 20 5 90 51 14 4 MT0 > P1.0 14
HSKA63 -5L25D-090 25 8 57 15 -
X .
-SL32D-105 32 61 105 61 15 20| MI2XP1.25 g -
-SL40D-120 20 68 120 71 25 M4 X P15 25 &
-SL16D-090 16 a7 49 27
X . >
-SL20D-090 20 45 90 51 14 14 MT0 > P1.0 28 B
-SL25D-090 25 8 57 29
X .
LY -SL32D-105 32 61 105 61 15 20 | MI2XP125 o
-SL40D-105 20 68 71 25 M14 X P15 36
-SL50D-120 50 83 120 81 15 30 M16 X P15 27

044



S
B
T
4
U
|
x

E—ILAT—/\IR)LT AEY

HSKYU—X

MORSE TAPER HOLDER (Type A)

\X);, MT No.
\/ | o G
ASH IR SY
S
7
>
U
|
A
N/W
b d L C
MODEL MT No [ o (k)
-MTA1-100 1 12.065 100 25 1.2
HSKA50 -MTA2-120 2 17.780 120 32 1.4
N -MTA3-140 3 23.825 140 40 1.5
@ -MTA1-100 1 12.065 100 25 16
E -MTA2-120 2 17.780 120 32 1.8
|
f G -MTA3-140 3 23.825 140 40 2.2
2 -MTA4-160 4 31.267 160 50 25
-MTA2-120 2 17.780 120 32 3.0
-MTA3-140 3 23.825 140 40 34
MEREHD -MTA4-160 4 31.267 160 50 3.7
-MTA5-200 5 44.399 200 65 49
] EN.I-SUN U TRIBEINTEIE . (EER) NOTE:1. Coolant pipe is included.
) 2. IVIINT I IR ER TS, 2. For tongue type morse taper shank cutting tools.
T
=l
— — \Y
CEH IS4 A7 —/ VAR
HSKU—X
7 FACE MILL ARBOR (Type A)
Z . .
H L oy %
y G T ¢ =1 L
% e
(0] -]
ﬁ H1
KEY
MODEL FIG. | ¢D(h6) | L | ¢C1 | ¢C2 | H1 | H2 61 |camp ot | VW
W K (kg)
e -FMA22.225-045 1 22225 | 45 40 18 ] 8.0 4 M8 MBA-M8 06
-FMA25.4-060 2 25.4 60 50 22 95 5 M12 | MBA-M12 | 0.8
-FMA25.4-060 1 25.4 50 - 22 - 9.5 5 M12 | MBA-M12 | 1.2
HSKA63 -FMA31.75-060 5 31.75 | 60 60 24 30 . 12.7 7 M16 | MBA-M16 | 1.4
-FMA38.1-060 38.1 80 28 34 15.9 9 M20 | MBA-M20 | 1.8
-FMA25.4-060 25.4 50 - 22 - 9.5 5 M12 | MBA-M12 | 25
-FMA31.75-060 1 31.75 | 60 60 24 30 . 12.7 7 M16 | MBA-M16 | 2.8
HSKA100 -FMA38.1-060 38.1 80 28 34 15.9 9 M20 | MBA-M20 | 3.4
-FMA50.8-075 2 50.8 e 100 | 38 36 | 10 [19.05| 10 | M24 | MBA-M24 | 4.9
-FMA47.625-075 3 | 47.625 1286 | - 38 - 254 | 12,5 - - 6.2

E N I=SUN A TIIBENTHEIE T (EER)
NOTE:1.Coolant pipe is included.



FH IS4 A7 —/\B&!

1

HSKYU—X

L

L

Pl
2 (2|
20

C

T

22
@0
@1

FACE MILL ARBOR (Type B)

2c1

KEY
MODEL FIG. | ¢D(h6) L »C1 $C2 H1 H2 G1 |CLAMP BOLT Y
W K (kg)
-FMB25.4-060 25.4 80 - - 9.5 5 M12 MBA-M12 1.7
-FMB38.1-060 38.1 85 28 6 15.9 9 M20 MBA-M20 1.8
HSKAG3 -FMB27-060 2 27 60 80 - 26 - 12 6 M12 MBA-M12 1.7
-FMB40-060 40 85 28 6 16 8.5 M20 MBA-M20 1.8
-FMB25.4-060 1 25.4 60 80 - - 9.5 5 M12 MBA-M12 2.9
-FMB38.1-060 85 3.5
FMS38.1F-075 5 38.1 75 710 28 e 6 15.9 9 M20 MBA-M20 18
HSKA100 -FMB27-060 1 27 60 80 - 12 6 M12 MBA-M12 2.9
-FMB40-060 85 3.5
FMB40F-075 3 40 . 710 28 6 16 8.5 M20 MBA-M20 18
-FMB60-075 4 60 140 - 25 25.4 12.5 - 6.8
E . I—SUN A A HIBEINTHIET . (BER)
NOTE:1.Coolant pipe is included.
— — \Y
A=W 77 —) \‘ CEU
HSK~U—X
FACE MILL ARBOR (Type C)
i
K
@ ¢ S s| ¢
H
H
KEY N/W
MODEL FIG. @®D(h6) L ®C1 H i = CLAMP BOLT (kg)
-FMC25.4-060 2 25.4 70 20 9.5 5 M12 X 35L 1.5
-FMC38.1-060 38.1 85 22 15.9 7 M16 X 40L 0.8
HSKA63 -FMC22-060 1 22 60 45 18 10 5 M10 X 30L 1.1
-FMC27-060 5 27 70 20 12 6 M12 X 35L 1.5
-FMC32-060 32 85 22 14 7 M16 X 40L 1.8
-FMC25.4-060 1 25.4 70 20 9.5 5 M12 X 35L 2.9
-FMC38.1-060 2 38.1 85 22 15.9 7 M16 X 40L 3.5
HSKA100 -FMC22-060 22 60 45 18 10 5 M10 X 30L 2.4
-FMC27-060 1 27 70 20 12 6 M12 X 35L 3.0
-FMC32-060 32 85 22 14 7 M16 X 40L 3.4

EN. I=SUN A TRIIRENTHEIFT (EER)
NOTE:1.Coolant pipe is included.

N—C\V—Hmwn

NERCE: NI

mH &S

CERF NN



S
B
T
4
U
|
x

TTAAZILT—/\ HE (29— RIU— )
FACE MILL ARBOR (Type H)

HSKYU—X

Thru-the-tool Coolant Available

s @EY <
=
>
] LA
|
x <
IS
L1
pil
)z:| K
>
U e i
X CREHINE
H
Hl
I L1
g8
CLAMP BOLT | Hws— | N/W
MODEL FIG. | ¢D #C L LH H | W | K " 0 mivkxE | ke
-FM16H-37-060 1 16 37 | 60 34 | 16 | 8 5 | me | 2sL ® 30 0.7
7 -FM22H-47-060 60 34 0.9
Z oo 1 22 47 oo 2o 17 | 10| 5 | mi0| 30l ® 37 3
HSKA50 -FM27H-60-060 60 34 71
2 27 2 12 M12 L
i 090 0 "o [es | ° Sl B -
FM22.225H-47:080 | | o5 | 47 0134 1o | g | 35 | mio | 3oL 39 0.9
-090 : 90 64 ' ¢ 1.3
-FM16H-37-060 60 34 1.1
050 1 16 A 2. 16| 8 5 | M8 | 25L ® 30 5
-FM22H-47-045 45 19 1.1
i -060 60 34 1.2
! e 1 22 47 oo 2o 17 ] 10| 5 | mi0| 30l ® 37 s
5 -150 150 | 124 2.4
-FM27H-60-060 60 34 15
090 1 27 60 o5 2o 20|12 ] 6 | mi2) 35 ® 50 X
-FM32H-85-060 60 34 1.7
2 32 85 22 | 14 | 7 | Mi6 | 40L 71
HSKA63 -090 90 64 ¢ 23
-FM22.225H-47-045 45 19 1.0
-060 60 34 1.1
o 1| 22225 | 47 | —o oo 17| & |35 mio| 30l ® 39 e
-150 150 | 124 2.4
-FM25.4H-70-060 60 34 16
090 | 2 254 | 70 | 90 | 64 | 22 | 95 | 5 | M12 | 350 ® 59 23
-150 150 | 124 37
-FM31.75H-76-060 60 34 1.8
2 | 3175 | 76 30 [127] 7 | m12 | 35L 62
-090 90 | 64 ¢ 2.5

IR 2y I —DHHRC RO TUSF Py TRILNEEE I 2UEN HUET .
MRECTERRT — SN A TEBUTWVET . (DB ESEVDSEIRFEEA Y32 ElEd.)

047



S
B
T
>
U
X
A

TTAAZILT—/\ HE (29— RIU— )
FACE MILL ARBOR (Type

HSK>U—X

Thru-the-tool Coolant Available

CLAMP BOLT | Awo— | N/W
MODEL FIG.| ¢D | ¢C L LH H | w | K > o miRE| ke
-FM22H-47-105 105 76 31
-150 150 121 37
oo | 2 | 47— = 17010 | 5 | mi0| 300 | 037 |53
-250 250 221 5 S
-FM22H-60-060 60 31 28 T
-105 105 76 37 >,
150 | 1 22 | 60 [ 150 121 17 | 10 | 5 | mi0| 30L | ¢50 | 47 D
-200 200 171 538 ;l(
-250 250 221 6.9
-FM27H-60-060 60 31 28
090 | 1 27 | 60 90 61 20| 12| 6 | M12]| 35 | ¢50 | 35
-150 150 121 48
-FM27H-76-060 60 31 32 A
090 | 1 27 | 76 90 61 2 |12 ] 6 | M2 ] 3L | ¢66 | 43 o
-150 150 121 6.4 5
-FM32H-96-060 60 31 3.9 D
090 | 1 32 | 9% 90 61 2 | 14| 7 | me| 4L | 082 | 55 I
-150 150 121 76 A
-FM40H-100-075 75 46 5
o5 | | 40 | 100 ¢ e 26 | 16 | 85 | MBAM20F | ¢85 ¢
-FM22.225H-47-105 105 76 31
-150 150 121 37
00| | |22225| 47 [0 = 17| 8 | 35 | M0 | 300 | 640 7 &
HSKA100 -250 250 221 5 i
-FM22.225H-60-060 60 31 28 T
-105 105 76 37 -
450 | 1 |22225| 60 [ 150 121 17 | 8 | 35 | mi0| 30L | ¢52 | 48 =
-200 200 171 58
-250 250 221 6.9
-FM25.4H-70-060 60 31 3
-090 90 61 3.9
q50 | | | 254 | 70 g o 22 | 95| 5 | M2 | 3L | $59 45 =
200 200 171 7.2 7
-FM31.75H-76-060 60 31 3.3 iz
-090 90 61 43 B
05 | 1 | 3175 76 | 105 76 30 | 13| 7 | M6 | 400 | 062 | 49 y
-150 150 121 6.4
-200 200 171 8.2
-FM31.75H-96-060 60 31 39
-090 90 61 56
05 | 1 | 3175 | 96 | 105 76 30 | 13 7 | M6 | 400 | 082 | 64 %
-150 150 121 9 po
-200 200 171 18 &
-FM38.1H-100-060 60 31 673 | 41 "
-090 90 61 53 >
qos | | | 381 | 100 o 5 34 | 159| 9 | NBAM20F I
-150 150 121 79

IR By — DR RO TUSF Py TRILNEEE I 2UED HUET .
MRECTERRT — SN A TEBUTWVET . (TERESEVDSSIRFERA Y32 ElEd.)

048



-




N—C\V—Homwn

N—RFvvo
HARD CHUCK

I; Thru-the-tool Coolant Available
K
Ij L2
|
x
J
Q [ ——— u$ o
S J SRRV

L3

L L1
MODEL ¢D ¢d L L1 L2 L3 ¢C N/W (kg)
K ST32 -CTH16 32 1.0
A ST42 -CTH16 42 16 » 8 >0 42 >2 1.5
M
U
I,
x
X = U ~ “9:
— — W
IVR= D Frvd
7]
o COLLET CHUCK
= Thru-the-tool Coolant Available
F
G
7 |
7 \
£ o | — 7o
| Y
57
U |
L2 L3
L1
£53
iy od
B MODEL ¢D GRIPPING | L1 L2 L3 ¢C G F Cg;’: T égég\i}— 'XV;/
%l RANGE MIN. | MAX. &
-CTM07-120 120 | 100 23 M6 X 1 25 65 | CRO7-©
T2 2 5~7 2
$T120 -CTM10-120 0 0> 120 | 95 0 30 60 | CR10-© | OH-M10 | 0.28
ST25 -CTM07-140 5 0.5~7 140 | 120 | 20 23 M6 X 1 25 65 | CRO7-© 0.42
-CTM13-140 0.5~13 140 | 95 45 36 |M12x15| 35 70 | CR13-© | OH-M12 | 0.55
-CTM07-125 125 | 95 30 0.59
5~7 2 M6 X 1 2 RO7-
-215 0-5 215 | 120 | 95 3 6 > 65 | CRO7-© 0.87
-CTM10-125 125 | 95 30 0.65
5~ X 1. - N
215 0.5~10 215 190 | 25 32 |M10X 15| 30 75 | CR10-® | OH-M10 11
-CTM13-155 155 | 95 60 0.81
T32 2 5~1 M12 X 1. R13- H-M12
ST3 215 3 0.5~13 215 1755 | @0 36 5| 35 85 | CR13-O | O 11
-CTM16-1 1 .
< 6-155 1~16 > | 9 €0 44 | M18 X 1.5| 40 65 | CR16-© 068
-215 215 | 155 | 60 OHM18 1.2
-CTM20-155 155 | 95 60 1.0
1.5~2 2 | M18 x 1. 4 7 R20-
-215 520 215 | 155 | 60 > 8 ° 0 0 | CR20-O 1.2




22X RILS (RULTA D)

SHRINKING HOLDER SHANK
(Slim Type) Thru-the-tool Coolant Available

RIAEZOVT VvV IICEE! Converts the smallest cutting tools to a long shank!

H ( TgFAL ) ( Insertable Length )

S ( Clamping Length )

( RHR )
Q i i — O U
A} i JI ASHERE Y

L1

MODEL ¢d ¢D L L1 oC 5 H N/W (kg)
-SF 04-150 4 65 9 12 0.15
ST16 -SF 06-150 6 16 150 (47) 11 o5 55 0.16
-SF 08-150 8 (28) 13 0.17
-SF 04-150 4 9 15 0.21
-SF 06-150 6 65 11 25 55 0.22
ST20 -SF 08-150 8 20 150 13 0.23
-SF 10-150 10 (47) 15 30 60 0.25
-SF 12-150 12 (28) 17 65 0.25
-SF 04-250 4 150 9 12 0.44
-SF 06-250 6 (133) 11 5 55 0.45
ST25 -SF 08-250 8 25 250 (114) 13 0.48
-SF 10-250 10 (95) 15 30 60 0.50
-SF 12-250 12 (76) 17 65 0.50
-SF 04-300 4 180 9 12 1.10
-SF 06-300 6 11 5 55 1.15
-SF 08-300 8 (181) 13 1.20
sT32 -SF 10-300 10 = 300 (162) 15 30 60 1.30
-SF 12-300 12 (143) 17 65 1.35
-SF 16-300 16 (104) 21 40 80 1.35

% RSN Y A XPRWEY v/ T (ST12 -STA2 %) BHEUF T, (FHBICDTHL TR BRIVLEDELZTL.)
%A size and another work shank (S12T -542T etc.) other than the above also receive it. (Please inquire about details)

N—C\V—Hmwn

H
S
K
M
)
|
e

N—C\HE

mH &S

CERF NN



N—C\V—Homwn

H
S
K
2
U
|
e

RUJILFrwI 7 —/\
JACOBS TAPER ARBOR

N—C\VHE

mH &S

CE /NN

N
Q JT No.
AN
- )
Q
© L
L H1
|
H2
MODEL JT No. @D1 ®D2 L H1 H2 N/W (kg)
20-J6 6 20 17.170 60 24 4 0.19
25-J6 6 25 17.170 80 24 4 0.35
32-J6
6 3 17.170 80 24 4 0.55
32-J3 3 20.599 28 5 0.59
42-J6 6 42 17.170 80 24 4 0.91
T—I)LAT—/\NJLwh
MT No. MT No.
1| / 1|
Q ( m* U Q ‘:' [ o U
AN} ‘ — | A ‘ SR Y
h |
| |
L L1 L L1
MT
MODEL FIG. ¢D L L1 @C N/W (kg)
MT No. ¢d
20-MT1 56 20 1 12.065 0.16
-MT2 20 58 35 235 2 17.780 0.13
25-MT1 1 25 66 15 3 1 12.065 0.27
-MT2 73 20 2 17.780 0.24
32-MT1 66 15 1 12.065 0.47
-MT2 32 71 20 375 2 17.780 0.46
-MT3 2 3 23.825 0.35
42-MT1 1 76 20 1 12.065 1.02
-MT2 4 475 2 17.780 0.93
-MT3 5 77 15 ’ 3 23.825 0.76
-MT4 85 30 4 31.267 0.75

05




b/ ROvI7—/\

SIDE LOCK ARBOR

Thru-the-tool Coolant Available

|
o Ty
L
L1
MODEL ¢D ¢$d(H6) L L1 @C H1 H2 G N/W (kg)
-506-120 6 13 0.38
ST25 -S08-120 25 8 120 30 20 30 15 M6 0.37
-$10-120 10 30 40 20 M10 0.42
-506-150 6 13 0.72
ST32 -S08-150 3 8 150 38 20 30 15 M6 0.72
-$10-150 10 30 40 20 M10 0.75
-$12-150 12 - 32 0.77
O N\
SvwTik)US (1EO#E)
TAP HOLDER(Clockwise Rotation)
L1
COMP. F2|F1 TENSION
‘ _,Nm
S S | R = —
® Q | 1L L)
|l 5
8
AN
L L2
TAP N/W
MODEL ¢D1 | ¢D2 L L1 L2 ®C1 | ¢C2 | ¢C3 H F1 F2 D COLLET (kg)
-TPC20-150 20 150 105 32 40 47 45 M4-M14 CODE 1.5
T32 2 112 1 1
e -TPC29-175 3 29 175 120 45 55 63 55 > > M12-M27 | TCC29-© 2.5
-TPC20-150 20 150 105 32 40 47 45 M4-14 TCC20-© 2.1
ST42 42 117 15 15
-TPC29-175 29 175 120 45 55 63 55 M12-M27 | TCC29-© 3.0

054

N—C\U—Hmwn

H
S
K
)
y
.
2

N—C\VHE S

mH &S

CERF NN

fil

#



IFE7S54 A7 —/VARY
FACE MILL ARBORS(TypeA)

S
B
T
>
U
X
A

H
S
K G
] : <
I § @B S
2 T
[
L L1 H
KEY CLAMP N/W
MODEL oD1 | ¢D2 | @C L L1 H W % G B ke)
-FMA22.225-045-100 100 0.9
500 22225 45 o 17 15 17 M8 MBA-M8 e
-FMA25.4 -054-100 100 1
<T32 200 32 | 54| 5% 500 15 22 95 5 M12 | MBA-M12 5
-FMA31.75 -063-100 100 1.2
. e 3175 63 —5 30 12.7 7 M16 | MBA-MI16 5
'ﬁﬁ -FMA38.1 -079-100 38.1 | 79 100 18 34 15.9 9 M20 | MBA-M20 1.6
& -FMA22.225-045-100 100 1.4
5 ]
1 S 22225 45 =5 17 8 35 M8 MBA-M8 o
| -FMA25.4 -054-100 100 1.5
% 5 200 42 | 254 | 5% oo 15 22 9.5 5 M12 | MBA-M12 76
-FMA31.75 -063-100 100 1.7
Ber 3175 | 63 55 30 12.7 7 M16 | MBA-M16 o
-FMA38.1 -079-100 381 | 79 100 18 34 15.9 9 M20 | MBA-M20 2.1
]
L I E : _J Z J ==
=
FACE MILL ARBORS(TypeC)
G
7 - ~
7 S b 7Z NN | N CR— &
t N W—[ AL s ! i
H
IJ K
L L1 H
KEY CLAMP N/W
MODEL ¢D1 | ¢D2 | @C L L1 H W % G E— ke)
pre -FMC16-035-100 100 0.8
. -150 16 35 150 16 8 5 M8 M8 X 25L 1.1
5 200 200 14
o -FMC22-045-100 100 0.9
-150 22 45 150 18 10 5 M10 | M10Xx30L | 1.2
DY -200 32 200 15 15
-FMC27-053-100 100 1.0
-150 27 53 150 20 12 6 M12 | M12x35L | 1.3
-200 200 1.7
-FMC32-064-150 32 64 150 22 14 7 M16 | M16x40L | 1.5
-FMC16-035-100 100 13
-150 16 35 150 16 8 5 M8 M8 X 26L 1.6
-200 200 26
-FMC22-045-100 100 1.4
-150 22 45 150 18 10 5 M10 | M10Xx31L | 1.9
2 200 | ¥ 200 | 0 25
-FMC27-053-100 100 15
-150 27 53 150 20 12 6 M12 | M12x36L | 2.0
-200 200 2.6
-FMC32-064-150 32 64 | 150 22 14 7 M16 | M16 X 41L | 2.2

055



S
B
T
=
y
|,
P

YA RHYIT—7—N\

SIDE CUTTER ARBOR

H
S
K
>
D
|\\
A
o 4 w1
Q g N~
S X
=
E E ‘ G QO’L— <
L L1 30 H1
2 HE
= >
@R muEy (e
H3 H| |
e N
A
>
U
1,
A
L1 o | @ N/W
X
MODEL ¢D1 | ¢D2(h6) | L ol OFTION | C1/lc2 ®C3 |H1|H3|H4 |H5|H6| G1XP |W1 |W2| K1 | K2 | K3 kg)
-SCA15.875 15.875 26|17|15875|16 13| 3 |22|M14x 15[ 318|318 | 1742 | 3.18 | 177 | 1.0
S SCA22.225 3 25|, 15 130 | 60 342322225 |21 18| 4 |30 |M20x 1.5(3.18 | 3.18 | 23.82 | 3.18 | 24.1 | 1.2 v
-SCA25.4 254 40(28| 254 |25| 5 |21 4 [32|M24x2|635|635| 2778 | 635|281 | 1.4 ]
-SCA31.75 31.75 4633|3175 |30|21(26| 5 [41|M30x2|792|792| 3492 | 792|352 | 1.7 T
-SCA25.4 254 40|28 254 |25|25(21| 4 |32|M24x2|635|635]| 2778 | 635|281 | 2.0 =
ST42 | -SCA31.75| 42| 3175 [117| 15 | 30 | 60 |46|33| 31.75 |30 26| 5 |41|M30x2|793]792(3492 (792|352 2.3
-SCA38.1 38.1 55|41 381 |36 31| 5 |46|M36X3]952|952| 4206 | 952|423 | 2.7
7
7
t
)
U
5%
iy
=
#

056



Ml




N—C\V—Homwn

N—CVANT

S
T
4
Y
|
2

CER NN mH S

¥ W

<N BER>/I\—RFvo

MAYU—-X

< NT SHANK > DA B
HARD CHUCK froetBeet

Thru-the-tool Coolant Available

2 d
2C

N/W
MODEL d L C H G
& 4 kg)
NT30W -CTH20 20 62 60 50 W1/2-12 kg)
NT40U(M) -CTH25 25 65 68 68 17
-CTH32 32 82.6 60 70(va—f) | /& TTUNC (M16x2) 25
NT50U(M) -CTH32 32 76.2 82 80 4.0
-CTH42 42 82 95 90 1-8UNC (M24x3) 45

SNERE> N\—RF vy I (E-IAT—INT VT )

RAYU—2
< MT Shank >
HARD CHUCK

sy \
T | [E k
‘—‘L ) P F N
Iy IR
Cotter hole BB -2
Nose Piece
( Sealed type )
e o N/W
MODEL F— /% No. ¢d L ¢C H v IR (kg)
MT5 -CTH32 TS 32 103.5 83 85 T v I T DERISE A A — 5
-CTH42 42 117.5 95 95 A—RU, BREEEE T, 52
MT6 -CTH32 MT6 32 84 83 85 RZHHO BEREHO 7.0
-CTH42 42 104 95 95 F—I<® 7.0




MAYU—-X

<NAEB>N\—RFvvI (22 vYRA)

< NT SHANK >
HARD CHUCK (A-set)

Thru-the-tool Coolant Available

MODEL N—=RF v v IHHE A=k yv b Ty IRINT N/W
HARD CHUCK STRAIGHT COLLET HOOK SPANNER (kg)

NT30W -CTH20 A NT30W -CTH20 5C20-06,08,10,12,16 HOOK SPANNER 2.25
NT40U(M) -CTH25 A NT40U(M) -CTH25 5C25-06,08,10,12,16,20 FK65-70 3.8
NT40U(M) -CTH32 A NT40UM) -CTH32 5C32-06,08,10,12,16,20,25 FK80-85 5.6
NT50U(M) -CTH32 A NT50U(M) -CTH32 5C32-06,08,10,12,16,20,25 FK80-85 7.1
NT50U(M) -CTH42 A NT50UM) -CTH42 5C42-06,08,10,12,16,20,25,32 FK92-100 10.8

MAYY—X

<NFAEER>/\—RF v (]

ZHTYIB)

<NT SHANK >
HARD CHUCK (A-set)

MODEL N—RF v v IHEF A=K v b F—/NdLv bk F=NALv bk | TyvIRNF |[N/W
HARD CHUCK STRAIGHT COLLET TAPER COLLET TAPER COLLET |HOOK SPANNER| (kg)

NT40U(M)-CTH25 B | NT40U(M)-CTH25|5C25-06,08,10,12,16,20 25-MT1,MT2 25-J6 FK65-70 4.5
NT40U(M)-CTH32 B|NT40U(M)-CTH32|5C32-06,08,10,12,16,20,25  |32-MT1,MT2MT3 32-J6 FK80-85 7.5
NT50U(M)-CTH32 B|NT50U(M)-CTH32|5C32-06,08,10,12,16,20,25  |32-MT1,MT2MT3 32-J6 FK80-85 9.3
NT50U(M)-CTH32 B |NT50U(M)-CTH42|5SC42-06,08,10,12,16,20,25,32 |42-MT1,MT2,MT3.MT4 42-J6 FK92-100 135

N—CV—Hmwn

mH &S

o = 5



N—C\V—Homwn

TSV IBIN—-RF vy I (IRTER)
HARD CHUCK

MAYU—-X

N—CVUAxnI

S
-
4
Y
|
x

22
2d
21

L7

mH &S

N/W
(kg)
HC-CTH42 42 117 35 18 95 175 135 17 17 7.5

MODEL ¢d L1 L2 L3 ¢ C1 ¢ C2 o P oD B

CE /NN




<NFERA>SHILY (QCHRILY)

MAYU—-X

3S(R2ME-EEE- B ZERE TIER U EAIEE
DSV REFBHEEEHTRERBY -V VTV RT LT,

<NT SHANK >
S-HOLDER(Q.C HOLDER)

SIS
S-HOLDER

ITLvIFTIIRILVIDI—R An ace of quick change holders

FEATURES

TSHOWA s-Holder is the most safe,strong and speedy(3S)
quick change holder, with variety of sub-holders.

TEZENIFTOK!

Tool change can be done in 3 seconds.

T1—2RZ)L8"B{EFTIRED R MIE

High rigidity makes the holder possible

to use a 200mm(8") face mill.

<SiR)LT>1

i o

VA Ry

REM
TAyIF I IRV DERFREER
FrvF Y TEENTY, SRILS [FEIIH
BB T RIA D REBERZREL
9.

Bl
TI—RAZ)L8" (200mM)BEVREET
ERATE BIREOREIMEETT.

TR

SEHE BB E (PAT.831025)[C k>
TALyhEREL BRICERLEIOT
NIR—ETERESZDUENGIE
Bho

Safe
TSHOWA s-Holder is the most safe,strong
and speedy(3S)
quick change holder, with variety of sub-
holders.

Strong
Up to a 200mm(8") face mill can be used
due to the highest rigidity of the holder.

Speedy
Sub-holders can be changed quick by the
forced load and unload mechanism
(PAT.831025) eliminating theuse of a
hammer.

A eAVIN

MAYY—X

<S HOLDER > SET

SET CODE S40U-25 S40U-32 S50U-32 | S50M-32 | S50U-42 ssC%Aggz
#HE NT No. SPINDLE NT No. NT40-U NT40-U NT50-U NT50-M NT50-U NT50-M
HIWSFE S-Holder Body 540U 540U S50U S50M S50U S50M
F—/SAU—7' TAPER SLEEVE 4051-MT3 50S1-MT4
N—KF+v2J HARD CHUCK 4052-25 4052-32 5052-32 5052-42
JITAAZNF—I\ FACE MILL ARBOR 4053-F4 5053-F6
5C25-06,08 | 5C32-06,08 5C32-06,08,10 5C42-06,08,10
ARL=FILyk STRAIGHT COLLET 10.12,16,20 |10.12.16,20,25 12,16,20.25 12.16,20.25,32
F—/XaLwv b 25-MTTMT2 | 32-MT2.MT3 32-MT2MT3 42-MT2.MT3
KUJLF ¥ I7—/\ DRILL CHUCK ARBOR 25-16 32-J6 32-J6 42-16
FS65-70 FK80-85 FK92-100
7w JRI5F HOOK SPANNER Fo80.85 FK80-85 105115 105115
7AELYF HEXAGON WRENCH B14 B17

N—C\V—Hmwn

mH &S

o = 5




N—C\V—Homwn

N—CVANT

S
T
4
Y
|
2

mH &S

CE R ON

MAYU—-X

STRILI A(QCRILS)

S-HOLDER BODY

Thru-the-tool Coolant Available

N/W

MODEL NT No. L1 L ¢C G kg)
S40U-HOLDER NT40 30.85 44.85 87 5/8-TTUNC 1.6
S50U-HOLDER NT50 33.45 54.45 12 1-8UNC 3.4
S50M-HOLDER NT50 33.45 54.45 112 M24x3 3.4

MAYY—X

<STIRILI>FT—IVA

—J(S13abwyh)

< S-HOLDER >
TAPER SLEEVE (51

Collet)

N/W

MODEL MT No. L C
o ¢ (kg)
4051-MT3 MT3 62 41 15
50S1-MT4 MT4 58.5 54 2.2




<SHILI>N—RFyvI(S2aLwh)

MAYU—-X

< S-HOLDER >
HARD CHUCK (52 Couet) Thru-the-tool Coolant Available

‘ L
H
i
i

ol

DA
N/W
MODEL ¢d L ¢C H kg)
4052-CTH25 25 70 68 68 3.0
-CTH32 32 95 83 70 3.2
5052-CTH32 32 80 83 80 3.5
-CTH42 42 99 95 90 4.2

<SHIVI>TA A=)V —/N(S3TLwh)

MAYY—X

< S-HOLDER >
face mill arbor (S3 Collet)

JI-ZENE N/W
lolbiEL R L Face Mill Dia. (kg)
40S3-F4 31.75 195 105(4") 11
5053-F6 508 375 160(6) 38

064

N—C\V—Hmwn

N—CVUAnI

S
2
=
y

L,
z

mH &S

CERF NN






N—C\V—Homwn

E—ILAT—=INIv Ty NEHET A D)

YEHITER
MORSE TAPER SHANK SET(Standard)
H
S
K
=7,
iy
L
R
w hAZ(A~DRUJL)
112HEAYR & -
S 29‘\7)9 1{@ a ;;;:40; MT ( Na. )
T 3.&V9—RUIL 2{@ T
s 4.EX 2ty b =i
D 5AAINTST 118 \
I“ 6.LVF Ttevhk L1 L2 L3
A
WE ~| RUFBREEYI—RUVIFBIFEWICIRIE T D A A I TSI EL Y FFGBEINE T,
HITZeD N/W
MODEL Hole dia HEEN od | L1 | L2 | 13| oC1 #C2 |MTNo.| G P
% -A,s-55-200-S | 50~55 BK50 BK53 o 48 21
& -A-65-200-5 | 5565 BK55 BK60 53 22
D MT4 | -B 80-200-S 65~80 BK65 BK73 | 12 | 200 30 | 130| 35 63 MT4 | PT1/4 | 2.7
:IC‘ -C100-200-S | 80~100 | BK8O BK90 38 78 32
-D120-200-S | 100~120 | BK100 | BK110 45 98 43
1502005 | 120150 | s s o 55 18 7.0
MT5 | -F180-200-S | 150~ 180 s 20 | 200 | 30 | 163 | 65 148 | MT5 | PT1/4 | 94
-G210-200-5 | 180~ 210 and’zenterdr“ 75 178 12.5
|
-H240-300-5 | 210~240 85 207 239
MT 2 40 | 22 MT6 | PT3/
6 1270300 | 240~270| SO separately 0300 40 | 228 oo 237 6 38 86

E—I)LRAT—/INv 2 TJtvk

RN
7 —
; N G AIUR—ILRILSR)
Z {IMITE
v MORSE TAPER SHANK SET
: .
/ (For Oil-Hole Adapter)
53
g EYRAEA~DRUIL)
Y 1BEAYR 1@
2,9‘\7y9 1{@ G Z‘;jgj([; MT ( Na. )
3.&V9—RUIL 2{@ A T
457 2tvhk o8] SR jj
52"{“‘17’57\ 1{@ \ - ; LS
6.LVF 1tk %
MI&E¢D TEEX N/W
MODEL i Gt R ¢d | L1 L2 | L3 | L4 | L5 | C1 | C2 | MT No. G kg
-A,s-55-200-OH-S 50~55 BK50 | BK53 ” 48 2.1
-A,-65-200-OH-S 55~65 BK55 | BK60 53 2.2
MT4 -B 80-200-OH-S 65~ 80 BK65 | BK73 | 12 |200| 30 [130| 41 | 20 | 35 | 63 MT4 PT1/4 2.7
-C100-200-OH-S 80 ~ 100 BK80 | BK9O 38 | 78 3.2
-D120-200-OH-S 100~ 120 |BK100|BK110 45 | 98 4.3

067



S
B
T
4
W,
|
A

ANV—R v Ty NIEES A D)

YHITE
STRAIGHT SHANK SET(Standard)
H
S
K
)
U
|
x
TvybAB(A~DRUIL)
1EEAYR 118
2.9vV7 & | 7 s S
3.EY9—RUL 2f8 ] P =
483 2tvh S 3 g &7
S5.A4NF5T 18 ! (eXe) ]
6.LVF Teyk | L,
Lt L2 Z
MIZEeD EEX N/W
11103 Hole dia. Set blade Gl | e i = S £z e (kg) .
-A,s-55-200-S 50~55 BK50 BK53 29 48 2.1 %‘
-A,-65-200-S 55~65 BK55 BK60 53 2.2 3y
ST32 -B 80-200-S 65~80 BK65 BK73 32 12 | 200 | 130 35 63 PT1/4 2.7 If
-C100-200-S 80~100 BK80 BK90 38 78 3.2 2
-D120-200-S 100~120 BK100 BK110 45 98 4.3
-A,s-55-200-S 50~55 BK50 BK53 29 48 2.3
-A,-65-200-S 55~65 BK55 BK60 53 2.4
ST42 -B 80-200-S 65~80 BK65 BK73 42 12 | 200 | 130 35 63 PT1/4 2.9
-C100-200-S 80~100 BK80 BK90 38 78 35
-D120-200-S 100~120 BK100 BK110 45 98 4.6
~ ~
— ~ AN I\
AU—bovw 0ty
CIAT]
(Y LwhieigR) 5
MR ea) 7
STRAIGHT SHANK SET(For Turret Lathe) 5
53
2 MBS (A~DRUIL) ff
L 1
TEEAYR 118 = : Bl
2.9v7 118 [ = )
3.EY5—FUL 28 AN .
R=5] 2tvk el P 2 /T3
5A1IWTS5T 18 P e 1 <P : i
6.LVF 1evhk \ \\ | &
IIIReD TEEX N/W
MODEL Hole dia. Set blade ¢d |¢D1| L1 L2 C1 c2 H G (kg)
-As-55-200-S 50~ 55 BK50 BK53 29 48 2.6
-A,6-5-200-S 55 ~65 BK55 BK60 53 2.8
ST45 -B 80-200-S 65 ~ 80 BK65 BK73 12 | 45 | 200 | 140 35 63 42 PT1/4 33
-C100-200-S 80~ 100 BK80 BK90 38 78 4.0
-D120-200-S 100~ 120 BK100 BK110 45 98 5.1




N—C\V—Homwn

E—ILAT—=INIv 7 ByNEETA D)

FRES MORSE TAPER SHANK SET
H
S (Flat Head Type)
K
2
U
L,
e
£y AE(A~DRUIL) ]
1EEEAYR &8
e 2.9vV7 118 ‘ .
T 3.2v9—RUJL 218 \ T3 Vs
) 487 2twh L K& - i
Y 5.41WF5T 18 SRR == b
I 6.LUF Tevk o Liee
X L1 L2 L3
HTEeD HEER N/W

‘ MODEL e N e od | L1 | L2 |L3|C1|C2|MTNo.| G (kg)
% -A;s-55-200-FT-S 50~55 | BKSOF | BK53F 5o | 48 2.1
fj -A;-65-200-FT-S 55~65 | BKS5F | BK6OF 53 22
;IQ‘ MT4 -B 80-200-FT-S 65~80 | BK65F | BK73F | 12 |200| 30 |130| 35 | 63 | MT4 | PT1/4 | 27

-C100-200-FT-S 80~ 100 | BK8OF | BK9OF 38 | 78 3.2

-D120-200-FT-5 100~ 120 | BK100F | BK110F 45 | 98 4.3

E—LRT—/¥ v TEYh
W (OHMILS ATRAYR)

7
7
i MORSE TAPER SHANK SET
v (Flat Head Type For Oil-Hole Adapter)
% YRS (A~DRUIL)
fi LEEAYR 18
ﬁ 2.917)7 1@ § G 934> MT (No.)
eI 3.2Y9—RUlL 2(@ | 2 VWi
455 2tvhk e _ J‘ H T xRN T*Tq[/——\\
5.44IWFS5T 118 T et i [ N
6.LYF Ty b s
L1 L2 .LJ L3
II#ESD HEEXN N/W
MODEL Hole dia. Set blade ¢d | L1 | L2 | L3 | @1 | €2 | C1 | C2 | MT No. G (kg)
-A;s-55-200-FOH-S | 50~ 55 BK50F | BK53F 29 48 2.1
-A,-65-200-FOH-S 55~65 BK55F | BK6OF 53 2.2
MT4 -B 80-200-FOH-S 65~ 80 BK65F | BK73F | 12 [200| 30 [130| 41 | 20 | 35 | 63 | MT4 PT1/4 2.7
-C100-200-FOH-S | 80~ 100 | BK80OF | BK9OF 38 | 78 3.2
-D120-200-FOH-S | 100 ~ 120 | BK100F | BK110F 45 | 98 4.3

069




S
B
T
=
y

|,
P

ANU—b vy MEFEREAYR)

ARES STRAIGHT SHANK SET
H
(Flat Head Type) S
K
)
U
|\\
R
2y NRZ(A~DRUJL)
1EEEAYR 1@
2.91’)7 1{@ T E _ G S
3.2Y9—RUJL 2@ 1 ¢ =
487 2tk o sk ! . s
5.41IWT5T 118 ~ T Heot ! g U
6.LVF 1k I
2
MIZeD BN N/W
MODEL T e od |¢D1| L1 | L2 | cC1 c2 G ke \
-A,5-55-200-FT-S 50~55 BK50F BK53F - 48 2.1 %
-A,-65-200-FT-S 55~65 BK55F BK6OF 53 2.2 3
ST32 | -B 80-200-FT-S 65~80 BK65F BK73F | 12 | 32 | 200|130 | 35 63 | PT1/4 | 27 'f
-C100-200-FT-S 80~100 BK8OF BK9OF 38 78 3.2 2
-D120-200-FT-S 100~120 BK100F | BKI110F 45 98 4.3
-A,s-55-200-FT-S 50~55 BK50F BK53F - 48 2.3
-A,-65-200-FT-S 55~65 BK55F BK6OF 53 2.4
ST42 | -B 80-200-FT-S 65~80 BK65F BK73F | 12 | 42 | 200|130 | 35 63 | PT1/4| 29
-C100-200-FT-S 80~100 BK8OF BK9OF 38 78 3.5
-D120-200-FT-S 100~120 BK100F | BK110F 45 98 4.6
\
ANU—bv 2Tt vE
oAl w3 '/ INY 57
(Y Ly NEBAYERAYER) /
{I4ITE ea) 7 7
STRAIGHT SHANK SET(For Turret Lathe) 5
53
2y MBS (A~DRUIL) g
1AEEAYR 18 3 £
29707 18
3. EY9—RUL 2{@ 7 d .
487 2tk ‘Jin ,,,,,,,,, ] ( /1
541 T5T 118 R e RE o)
6.LUF 1k E |
ATZEeD HEER N/W
RCBES Hole dia. Set blade el et B 1 €l £ H © (kg)
-A,-55-200-FT-S | 50~55 | BKSOF | BKS3F o 48 26
-A,-65-200-FT-S 55~65 | BK55F | BKGOF 53 2.8
ST45 | -B 80-200-FT-S 65~80 | BK65F | BK73F | 12 | 45 | 200|140 | 35 63 | 42 | PT1/4 3.3
-C100-200-FT-S | 80~ 100 | BK8OF | BK9OF 38 78 4.0
-D120-200-FT-S | 100~ 120 | BK100F | BK110F 45 98 5.1

070



S
B
T
4
U
|
A

ZHN(EEREANYRA)

ol BIADE (For Standard Head)
or anaar ea
H
S
K
Y ,
7'\“ - s | oEm = —— I e w w —
;6‘3?%; ’ gi’b?_al%% / ® czsa / hS / ® CZ:SS /
Roughing blade Finishing blade
A ( ®A-R) (#E3-S )
S
T 7HR) &L EAO)E1EYRE
] Each set consists of a roughing blade(R)and a finishing blade (S).
L Hole dia Head N/W Hole dia Head N/W
7'\“ MODEL IIIZEHDmm T|H BRAAYRNo. | (kg) MODEL MIZEDmm T|H BRAAYRNo. | (kg)
A19 RS BK50 50(50 ~ 53) 0.04 D44 RS | BK100 |100(100~110) 0.08
A19.5RS | BK51 51 0.04 D44.5RS | BK101 101 0.08
A20 RS BK52 52 Ais-55 0.04 D45 RS | BK102 102 0.08
A20.5RS| BK53 53 0.04 D45.5RS | BK103 103 0.08
ol A21 RS BK54 54 0.04 D46 RS | BK104 104 0.08
éﬁ A21.5RS| BK55 55(55 ~ 65) 0.04 D46.5 RS | BK105 105 0.08
3 A22 RS BK56 56 0.04 D47 RS | BK106 106 0.08
§) A22.5RS | BK57 57 0.04 D47.5RS | BK107 107 0.08
|“ A23 RS BK58 58 0.04 D48 RS | BK108 108 0.08
A A23.5RS| BK59 59 A65 0.04 D48.5 RS | BK109 109 0.08
A24 RS BK60 60(60 ~ 65) ? 0.04 D49RS | BK110 |110(110~120)| 5 | 20 D-120 0.10
A24.5RS| BK61 61 0.04 D49.5RS | BK111 111 0.10
A25 RS BK62 62 0.04 D50 RS | BK112 112 0.10
A25.5RS| BK63 63 0.04 D50.5RS | BK113 113 0.10
A26 RS BK64 64 0.04 D51 RS | BK114 114 0.10
B26.5 RS | BK65 65(65 ~73) 0.05 D51.5RS| BK115 115 0.10
B27 RS BK66 66 0.05 D52 RS | BK116 116 0.10
B27.5RS | BK67 67 0.05 D52.5RS | BK117 117 0.10
B28 RS BK68 68 0.05 D53 RS | BK118 118 0.10
B28.5RS | BK69 69 0.05 D53.5RS| BK119 119 0.10
B29 RS BK70 70 0.05 D54 RS | BK120D 120 0.10
B29.5RS | BK71 71 0.05 E120 RS | BK120E 120 0.16
B30 RS BK72 72 B-80 0.05 E125 RS | BK125 125 0.16
- B30.5RS | BK73 73(73 ~ 80) 0.06 E130 RS | BK130 130 0.18
/ B31 RS BK74 74 Y 0.06 E135RS | BK135 135 8 E-150 0.18
7 B31.5RS | BK75 75 0.06 E140 RS | BK140 140 0.20
= B32 RS BK76 76 0.06 E145RS | BK145 145 0.20
H B32.5RS | BK77 77 0.06 E150 RS | BK150E 150 0.20
1 B33 RS BK78 78 0.06 F150 RS | BK150F 150 0.30
B33.5RS | BK79 79 0.06 F155 RS | BK155 155 0.32
C34 RS BK80 80(80 ~ 90) 0.07 F160 RS | BK160 160 0.32
C24.5RS| BK81 81 0.07 F165 RS | BK165 165 F-180 0.34
C35 RS BK82 82 0.07 F170 RS | BK170 170 0.34
C35.5RS | BK83 83 0.07 F175RS | BK175 175 o5 0.36
C36 RS BK84 84 0.07 F180 RS | BK180 180 0.38
fitT C36.5RS| BK85 85 0.07 G180 RS | BK180 180 0.38
3 C37 RS BK86 86 0.07 G190 RS | BK190 190 G210 0.41
- C37.5RS| BK87 87 0.07 G200 RS | BK200 200 12 0.43
# C38 RS BK88 88 0.07 G210RS | BK210 210 0.45
C38.5RS| BK89 89 100 0.07 H210 RS | BK220 210 0.45
C39 RS BK90 90(90 ~ 100) 0.08 H220 RS | BK230 220 H-240 0.48
C39.5RS| BK91 91 0.08 H230 RS | BK240 230 0.50
C40 RS BK92 92 0.08 H240 RS | BK240 240 0.52
C40.5RS| BK93 93 0.08 1240 RS | BK240 240 0.52
C41 RS BK94 94 0.08 1250 RS | BK250 250 1270 0.55
C41.5RS| BK95 95 0.08 1260 RS | BK260 260 0.58
C42 RS BK96 96 0.08 1270 RS | BK270 270 0.60
C42.5RS| BK97 97 0.08
C43 RS BK98 98 0.08 S »
C435RS| BK99 ) 008 >89 —RU)L CENTER DRILL
MODEL | &ZDIA. Head JERIAWKNo. '2'(;’;’
CD-12 12mm A1-55,A2-65,880,C100,D120 0.04
CD-12C 12mm A1-55,A2-65,880,C100,D0120 0.04
CD-20 20mm E150,F180,G210,H240,1270 0.15




EHITR

B0 (TR RE)

BLADE (For Flta Head)

N—C\V—Hmwn

@ D44RF T @ D44SF
100~110 100~110
Roughing blade Finishing blade
( ®9-R ) ( #E9-S )
FHAREMAER(S)ET YL
Each set consists of a roughing blade (R)and a finishing blade(S).
Hole dia Head
MIODEL AT ZSDmm T H BR~YENo. >
A19RS FT 50(50 ~ 53) 2
Ai-55-FT U
A20.5RS FT 53(53 ~ 55) | .
A21.5RS FT 55(55 ~ 60) A
A-65-FT
A24RSFT 60(60 ~ 65)
B26.5 RS FT 65(65 ~73)
5 20 B-80-FT
B30.5RS FT 73(73 ~ 80)
C34 RS FT 80(80 ~ 90)
C-100-FT
C39 RS FT 90(90 ~ 100)
D44 RS FT 100(100~110)
D-120-FT
D49 RS FT 110(110~120)

IJRAT2avr7—N
EXTENTION ARBOR

EHITR

MODEL #D1,6D2 L oC HEAD "(‘I{;’;’
-A-150 150 08
16 29 A1-55 - A-65
-300 300 16
-B-150 150 12
18 35 B 80
-300 300 23 %
-C-150 150 1.4 p
20 38 C100 i
-300 300 2.7 =i
-D-150 150 1.9 H
22 45 D120
-300 300 38
-E-150 150 28
EXT 30 55 E150
-300 300 55
-F-150 150 39
35 65 F180
-300 300 7.8
-G-150 150 5.1
40 75 G210
-300 300 102
-H-150 150 6.4
45 85 H240
-300 300 12.8
--150 150 79
50 95 1270
-300 300 16.0




N—C\V—Homwn

— O I\ L= S 7 WA
Z—1—X—=/N\—RU)L ZEEAYRE(RK
7N /
S STANDARD HEAD ASS'YY
H
S
K
2
U
l,
R _
S| 8
S
T
>
)
|
X\\ L
HABFE(BIEEYI—RUILIFRIFEY)
WITH BLADE CLAMPS (Blade and center drill are sold separately.)
IIIZE$D Hole dia. N/W
- MODEL MIN. MAX. ¢d L @C1 @»C2 (kg)
)| -As-55 50 55 40 29 48 0.4
fj -A,-65 55 65 415 53 0.5
| -B 80 65 80 12 47 35 63 0.7
x -C100 80 100 50.5 38 78 1.0
HD -D120 100 120 62 45 98 1.7
-E150 120 150 55 55 118 2.6
-F180 150 180 63.5 65 148 4.3
-G210 180 210 20 75 75 178 6.7
-H240 210 240 75.5 85 207 10.0
-1270 240 270 76 95 237 11.8

: Za1—ZX—/V—RUJL FEFAYREE
- LIHITR

= FLAT HEAD ASS'Y

]

ﬁ S

fity

= SIS A B S (D4 S|y

8l e 7 \i; 7777777777 47] 7777777777 5e

BREGE(BIEEYI—RUILIERITEY)
WITH BLADE CLAMPS (Blade and center drill are sold separately.)

IIIE$D Hole dia. N/W

MODEL MIN MAX. ¢d L #»C1 »C2 kg)
-As-55FT 50 55 43 29 48 0.4

-A,-65FT 55 65 45 53 0.5

HD -B 80FT 65 80 12 51 35 63 0.7
-C100FT 80 100 56 38 78 1.0

-D120FT 100 120 69 45 98 1.7

073



E—ILRAT—=/I\ I VTEHEIEK

HITR

MT DRILL ARBOR

G Pratd MT ( No. J

-1

oC

e
T 1
S }
0 [ e e e <=
E*”éb e

L1 Lz L3

MODEL MT No. L1 L2 L3 ¢C G I-?E:-I; '\(llg;l
As-55
MT4-A-200 157 29 1.4
A-65
MT4-B-200 MT4 150 130 35 B8O 1.8
MT4-C-200 144 38 C100 2.0
MT4-D-200 131 0 45 PTi/4 D120 2.5
MT5-E-200 137 55 E150 3.8
MT5-F-200 MT5 126 163 65 F180 4.5
MT5-G-200 112 75 G210 5.2
MT6-H-300 209 85 PT3/8 H240 7.8
MT6-1-300 MTé 206 40 228 95 1270 11.0

OHE—ILAT—/\ vV JBYE

HITR

OH MT DRILL ARBOR

G r-930> MT ( No.)

_ [ Gauge line
JE o i
-t il [
L1 Lz = -‘:
DRILL N/W
MODEL MT No. L1 L2 L3 L4 L5 @C G HEAD (kg)
As-55
MT4-A-200-OH 157 29 1.4
A,-65
MT4-B-200-OH MT4 150 30 130 41 20 35 PT1/4 B80 1.8
MT4-C-200-OH 144 38 C100 2.0
MT4-D-200-OH 131 45 D120 2.5

N—C\V—Hmwn

N—CwH»

o = 5




N—CV—Hmwn

N—CVANT

N—CV—wn

N—C\VHZ

7
7
t
if
J

¥ W

ANU—R v T8

A= ST DRILL ARBOR
o ET"""""T"‘ o
— ]
DRILL N/W
MODEL oD L1 L2 #C G HEAD ke)
As-55
-A-200 157 29 " 1.6
A-65
ST32 -B-200 32 150 130 35 PT1/4 B8O 2.0
-C-200 144 38 C100 2.1
-D-200 131 45 D120 2.7
As-55
-A-200 157 29 " 1.8
A,-65
ST42 -B-200 42 150 130 35 PT1/4 B8O 22
-C-200 144 38 C100 2.3
-D-200 131 45 D120 2.9

ANV—bIv VT BIR(T Ly Mgt

ZH)

tIHITR
ST DRILL ARBOR (FOR LATHE)
g
~
J B Y a8 (AN
DR Gl ZDA
MODEL ®D L1 L2 ¢C G SER-I; Tl:g
-A-200 157 29 P55 1.9
] ] ] Ar65
ST45 -B-200 45 150 140 35 PT1/4 B80 2.3
-C-200 144 38 C100 2.4
-D-200 131 45 D120 3.0
—t N ~ »
J—228NU2D
YIHITE
COOLANT RING
AR FAWTST
MODEL ID(mm) QOil PILZ
-MT4 32
ST32 -MT5 45 P14
-MTé6 65 PT3/8
FAIVTSTEE
MODEL 2-4.»757
FLIWUYTEYh Coolant ring set Oil Plug
AAWUVT 1@ Coolant ring_1pc PT 1/4 CR-MT4.CR-MTS
ZbyN— 1@ Stopper 1pc 3/8 CR-MT6

XAAIWTSTRBEYNIBENTHBIVEE A
#Oil plug is sold separately.

SY7IIN— VTS ETRADISEIC. S EHEHEL TRALE T,
Qil ring used supply coolant through the drill in rotational applications.




B~ (E&E7 Ul

[ FH)

tIHITHR

T/C GUIDE

(For Through Hole with Standard Head)

BRAANYE LoF
oI HEAD WRENCH
-B80-S B-80( ¢ 65- ¢ 73) LuF L
-B80-L B-80( ¢ 73- ¢ 80)
DG -c/D C-100/D-120 No wrench
-E/F E-150/F-180 LTS
-G/H/1 w/wrench

AL

2fEtvh  2pc/set

iy

BEAA NZRF 3L BB U TROEBER OBENZH/ BRICIIZ 2B ERE T
T/C guides will minimize vibration when drill goes through the other end.

tIHITR

BLADE CLAMP

2y MM RINE)
2pc set with screws

BRENYRE FOR STANDARD HEAD

MODEL

BC

-A.s-55

-A,-65

-B 80

-C100

-D120

-E150

-F180

-G210

-H240

-1270

FEHEANYRRE FOR FLAT HEAD

MODEL

BC

-A.s-55FT

-A,-65FT

-B 80FT

-C100FT

-D120FT

N—C\V—Hwn N—C\VAwnT N—C\V—Hmwn

N—C\VHH

7
7
t
of
W)







N—C\V—Homwn

N—RFvvIH 77t —

77tHU
ACCESSORIES for HARD CHUCK
H
S .
K I
:J
U ~ \Y W
| AFUF Iy (N\—RF vy I ) —
2
SPRING COLLET (For HARD CHUCK) u
HARD CHUCK | N/W
. MODEL ¢d oC L1 L2 CODE No. (kg)
T C12L-D | o 8 10 12 18.00 40 | 13 CTH12L 0.12
3 Cc16-D 6 8 10 12 16 24.00 50 17 CTH16 0.18
U C20-D | © 8 10 12 16 | 20 28.75 50 | 15 CTH20 0.20
7'\“ C25-D 10 12 16 | 20 | 25 35.75 68 | 19 CTH25 0.30
C32-D 16 | 20 | 25 | 32 4295 80 | , CTH32 0.48
%CS32-D 16 | 20 | 25 | 32 ) 70 CTH32 0.48
C42-D 20 | 25 | 32 | 42 55.00 2 | 21 CTH42 0.65
C50-D 32 | 42 | 50 | 508 65.00 95 | 25 CTH50 0.80
:ﬂ, SE%CS32-D(SHORT) (&, N—RF+wISBT40-NT40ICERL TLEE L, NOTE: 3#CS32-D(SHORT) spring collet is for BT40-NT40 Hard Chuck.
b
A
I} ZRL—h3bwh : i
STRAIGHT COLLET L
CODE N/W
MODEL
. © SC ¢D — ¢d oc : (kg)
» SC16 |4 -6-8-10-12 20 47 0.05
Al SC20 |-4)-6-8-10-12-(13)-(14)- 16 23.5 50 0.07
T SC25 |-4-6-8-10-12-(13)-(14) - (15 - 16-(18) - 20 30 60 0.18
8 SC32 |-3)-@4)-(5)+-6-8-10-12-(13)-(14) - (15) - 16 - (18) - (19) - 20 - (22) - (23) - (24) - 25 - (28) 375 70 0.30
SC42 |-6-8-10-12 -16-(18)-20 -25-(28) - 32 47.5 80 0.57
(FBHEEREBYET ) - .
\Y \Y W
BiCA ./ —X(\—FF vy T H) et
NOSE PIECE (For HARD CHUCK) -
HARD CHUCK | N/W
MODBEL el CODE No. | (kg)
NG16-D 6 8 10 12 16 CTH16 0.10
NG20-D 6 8 10 12 16 20 CTH20 0.10
NG25-D 12 16 20 25 CTH25 0.15
NG32-D 16 20 25 32 CTH32 0.20
NG42-D 20 25 32 42 CTH42 0.33
fits NG50-D 32 42 50 50.8 CTH50 0.50
ﬁ 7% CS32-D(SHORT) (&, N—RF+vTSBT40-NT40ICERL T ZE L. NOTE: %#CS32-D(SHORT) spring collet is for BT40-NT40 Hard Chuck.
<~
Frvld LVF
CHUCK WRENCH
F v I RINF HOOK SPANNER
F+w21—F CHUCK CODE LyFa—kr N/W (kg)
CSF+wJ CS CHUCK WRENCH CODE
CTH12L - CTH16 FK 50-55 0.16
CTH20 - CT25G FK 58-65 0.23
CTH25 FK 65-70 0.23
CT32G FK 70-75 0.28
CTH32 FK 80-85 0.39
CTH42 FK 92-100 0.40
CTH50 FK 105-115 0.71
CTH55 FK 120-130 0.71

079



CS FvwJH 7

JeUlU—

77tHU

AMU—baLwvk

ACCESSORIES for COMPACT MILLING CHUCK

STRAIGHT COLLET (For COMPACT MILLING CHUCK)

(=) Van ol U
ASY U ASYERSY
L
CODE N/W
MODEL CW 9D — ¢d e L (kg)
CW16 |-4)-6-8-10-12 20 46.5 0.07
CW20 |-(4)-6-8-10-12-(13)-(14) - 16 26 55 0.10
CW25 |-(4)-6-8-10-12-(13)-(14)- (15 -16-(18) - 20 30 65 0.25
CW32 |-3)-4-(5)-6-8-10-12-(13)-(14-(15)-16-(18) - (19) - 20 - (22) - (23) - (24) - 25 - (28) 37.5 70 0.40
CW42 |[6-8-10-12 -16-(18)-20 - 25+ (28) - 32 47.5 75 0.60
(BEEEREBIFT.)
E 5] : A\l
SR (CSF+vTH)
ADJUST SCREW (For CS CHUCK) Ovsr - P
O ring- P Oyys - S
O ring- S
R
@ 1+t }}# =
Lok -1
COMPATIBLE
CS TYPE MODEL D M P S SHANK SIZE
OR-CS16-M10 M10 X P1.5 SBT30
- -M12 16 M12 X P1.5 P14 SBT40(50)/HSK63(100)
OR-CS20-M10 M10 X P1.5 SBT30
e -M12 20 MI12 X P1.5 P16 o SBT40(50)/HSK63(100)
OR-CS25-M10 M10 X P1.5 SBT30
CS25 -M12 25 M12 X P1.5 P-21 SBT40 / HSK63
-M18 M18 X P1.5 S-9 SBT50 / HSK100
OR-CS32-M10 M10 X P1.5 o5 SBT30
CS32 -M12 32 M12 X P1.5 P-26 i SBT40 / HSK63
-M18 M18 X P1.5 <9 SBT50 / HSK100
CS42 OR-CS42-M18 42 M18 X P1.5 P-36 i SBT50 / HSK100

Fyovd LIF

CHUCK WRENCH
FvJ Z/¥3 HOOK SPANNER
F+w2 31—k CHUCK CODE LrFa—kr N/W (kg)
CSF+wJ CS CHUCK WRENCH CODE
Cs16 FK45-485 0.16
Cs20 FK50-55 0.16
Cs25 FK58-65 0.23
Cs32 FK65-70 0.23
Cs42 FK85-92 039

ENVFAZAN—RILYNCWI A N ZRBLTHBIUET.
2.CWILyh-ZNF-BEXIFHBLTEVFE A,
3.BT30(CDT (. —EpE MERRA'SGY (EATEBRVBEHHUET .
49— —(CTTERDEIE. FHER TV (ORY 1 7 ) ZRIEBRHLIEE L,

080

NOTE :1.A dedicated straight collet (CW type) is available.
2.CW Collet and Chuck wrench and adjust screw are sold separately.
3.Model BT30 may sometimes not be used because a part of these chucks has
4.limitations in the diameter under head.
5.For thru-the-tool coolant application, OR-adjust screw is used.

N—C\V—Hn N—C\UAnI N—C\U—Hmwn

N—C\VHE S

7]
Hl
T
8

fil

#



N—C\V—Homwn

CR dbLwhk

S R COLLET
H
S
K
%
U
1,
X (A) B)
@ @
L 4xd
S
I
y : :
| -
1
F-rAg (16°)
Taper (16°)
A
z IRTUBE (MAX.um)RUNOUT
> N ALK .um
i SRR s PR S (B)
= A8 TR O Ly MR EBAREAR(AA) ] 3
OV TDARIDESZ A ELIEST AREAR(A) 2 5
WETOT. ALY EIEGT BT EERETD) 5 15
T [BEICERTEED, EiR B&
Easy collet seting e
. g BIENERUIL. VR
gﬂ ®A half of ID of the ring is enlarged. ERERWER | jmmEs sERE—9MTE
T Collet can be mounted easily by e ROETE(T R0
= inclining it p— %&Eé{bgjj_ )
BEE T E(0— )
SIDER CTM(CTS)07 CTM(CTS)10 CTM(CTS)13 CTM(CTS)16 CTM(CTS)20
CHUCK
dbyk
COLLTE CODE CRO7-® CR10-© CR13-© CR16-D CR20-®
ER TYPE ER11 ER16 ER20 ER25 ER32
1 05~10| 1.0 [05~10] 1.0 | 05~10 | 1.0 | 10~15] 1.0 | 15~20
15 [10~15] 15 [10~15] 15 | 10~15 | 15 | 15~20 | 15 | 20~25
20 | 15~20| 20 | 15~20| 20 | 15~20 | 20 | 20~25| 20 | 25~30
25 | 20~25| 25 |20~25| 25 | 20~25| 25 | 25~30 | 25 | 30~40
30 | 25~30] 30 [25~30| 30 | 25~30 | 30 | 30~40 | 30 | 40~50
o 35 [30~35| 40 [30~40| 40 [ 30~40 | 40 | 40~50 | 40 | 50~60
fi 40 | 35~40| 50 |40~50] 50 | 40~50 | 50 | 50~60 | 50 | 60~70
& 45 | 40~45| 60 |50~60| 60 | 50~60 | 60 | 60~70 | 60 | 70~80
£ . 50 |45~50| 70 |60~70| 70 | 60~70 | 70 | 70~80 | 7.0 | 80~90
55 |50~55| 80 |70~80| 80 | 70~80 | 80 | 80~90 | 80 |90~100
60 |55~60| 90 |80~90| 90 | 80~90 | 90 |90~100] 90 [100~110
65 | 60~65| 100 |90~100] 100 |90~100| 100 |100~110] 100 |110~120
70 | 65~70 1.0 [100~110] 11.0 [110~120] 11.0 [120~130
120 | 110~120] 120 |120~130] 12.0 |130~140
130 [120~130] 130 |130~140] 130 |140~150
150 [140~150] 150 |150~160
160 |150~160| 160 |160~170
18.0 17.0~18.0
19.0 [ 180~190
200 [19.0~200
¢D 11.5 17 21 26 33
L 18 27 31 35 40

081



N—C\U—Hmwn

CRA A JLik—)LOLYNOHSY A7)

r7otH%y
CROH COLLET (OH type)
. H
Thru-the-tool Coolant Available S
K
i
OAEME MLy ®For thru-the tool coolant application. |
@7MpaDEEFTREICY—UVT @®High pressure up to 7 Mpa is acceptable. A
QIZHERIVS LI F v NCIERTIRE @®Bearing of nut is not affected by codunt.
@ZV\RUEIUILY N TT—S5 2 M EiEHRR
Ty b S
T
HFEILY bFrv s T FOFMTY/ -5 haRSILI—UVYT :J
Standard holder Coolant is stopped before nut U
x
Coolant —
g{} :X:l\\
w dby &R PRNFEE (MAX, pm)
ZoEaLy hEgs) GRADE RONOUT 4xD
e e i o caet BIRERAA) 5 .
i
A
&I HAG CTM(CTS)07 CTM(CTS)10 CTM(CTS)13 CTM(CTS)16 CTM(CTS)20 i
CHUCK 0
duyhk %
COLLTE CODE CROHO7-© CROH10-© CROH13-© CROH16-O© CROH20-©
ER TYPE ER11 ER16 ER20 ER25 ER32
2.0 1.9~20 2.0 1.9~20
25 |24~25] 25 |24~25 &)
3.0 29~3.0 3.0 29~30 3.0 29~30 3.0 29~30 3.0 29~30 Hl
4.0 3.9~40 4.0 3.9~40 4.0 39~40 4.0 3.9~40 4.0 39~40 T
4.5 4.4~45 4.5 44~45 4.5 44~45 4.5 44~45 4.5 44~45 =
5.0 4.9~5.0 5.0 49~50 5.0 49~50 5.0 49~50 5.0 49~50 -
5.5 54~55 55 54~55 5.5 54~55 5.5 54~55 5.5 54~55
6.0 5.9~6.0 6.0 55~6.0 6.0 55~6.0 6.0 55~6.0 6.0 59~6.0
6.5 6.4~6.5 6.5 6.0~65 6.5 6.0~6.5 6.5 6.0~65 6.5 64~65
7.0 6.9~7.0 7.0 6.5~7.0 7.0 65~70 7.0 65~70 7.0 69~70
7.5 70~75 7.5 70~75 7.5 70~75 7.5 75~75
8.0 75~8.0 8.0 75~80 8.0 75~80 8.0 75~8.0
8.5 8.0~85 8.5 80~85 8.5 80~85 8.5 8.0~85
9.0 8.5~9.0 9.0 85~9.0 9.0 85~9.0 9.0 85~9.0
9.5 9.0~95 9.5 9.0~95 9.5 90~95 9.5 9.0~95
10.0 9.5~10.0 10.0 95~100 10.0 9.5~10.0 10.0 9.5~10.0
od 10.5 10.0~105 10.5 10.0~105) 105 10.0~10.5
11.0 10.5~11.0 11.0 105~11.0 11.0 105~11.0
11.5 11.0~115 11.5 11.0~115 11.5 11.0~115
12.0 115~120 12.0 11.5~120 12.0 11.5~120 53
12.5 120~125 12.5 12.0~125 12.5 12.0~125 fitT
13.0 125~130 13.0 125~130] 13.0 125~13.0 =
13.5 13.0~135 135 13.0~135 s
14.0 13.5~14.0 14.0 13.5~140 #
14.5 14.0~145 14.5 14.0~145
15.0 145~15.0 15.0 145~15.0
155 15.0~155 155 15.0~155
16.0 15.5~16.0 16.0 155~16.0
16.5 16.0~16.5
17.0 16.5~17.0
17.5 17.0~175
18.0 17.5~18.0
18.5 18.0~185
19.0 18.5~19.0
19.5 19.0~195
20.0 19.5~20.0
¢D 11.5 17 21 26 33
L 18 27 31 35 40
L CEROBE RUILZEILY MEEBRWRF TREAL T ZE L, NOTE :1. When is use insert a drill to the end from the rear of the collet.
2. ALYNFURUADY A X(FUPE~T1F20.1 or 0.5) ZEARISEE. 2. Do not use smaller sized cutting tools than inner diameter of collet,
T—SYMIRHEI) D BORNIEEZBENHUET, or coolant may leak out of acollet..
3. 7SYMIRM =P VO EERT BE LMDV —U VT DHEELE B Ao 3. g&a\s\;f;rf shank cutting tool is used , sealing fancyion of collet does

082



N—C\V—Homwn

CRA A )LIk—ILOLY K (CI A T)

77tH5U
CR-C COLLET (Ctype)
H }
S Thru-the-tool Coolant Available
K
i
| OREBEHIL Y ®For thru-the tool coolant application.
A @7MpaDEEFTREICY—UVT @®High pressure up to 7 Mpa is acceptable.
OIZHERILS LIZSEF v NCERTIRE @®Standard holders and nuts can be used.
S FESY b
T St Sronvs o PTaGES)
)
7} /
I Coolant
S
BEAL EgEy dby &R IRFEE (MAX, pm)
e i RONOUT 4xD
N BREER(AA) 5
A _
Ij Ell'?- U%EZIEW CTM(CTS)07 CTM(CTS)10 CTM(CTS)13 CTM(CTS)16 CTM(CTS)20
% dbvhk
COLLTE CODE CRO7C-©O CR10C-© CR13C-©O CR16C-©® CR20C-©
ER TYPE ER11 ER16 ER20 ER25 ER32
[ [H =l £
3.0 29~3.0 3.0 29~30 3.0 29~30
) 4.0 39~40 4.0 39~4.0 4.0 39~40
Al 45 |44~45] 45 44~45 45 [44~45
T 5.0 49~50 5.0 49~50 5.0 49~50 5.0 49~50 5.0 49~50
= 55 54~55 55 54~55 55 54~55 55 54~55 55 54~55
- 6.0 59~6.0 6.0 55~6.0 6.0 55~6.0 6.0 55~6.0 6.0 59~6.0
6.5 6.4~6.5 6.5 6.0~6.5 6.5 6.0 ~6.5 6.5 6.0~6.5 6.5 6.4~6.5
7.0 69~7.0 7.0 6.5~7.0 7.0 6.5~7.0 7.0 65~7.0 7.0 69~70
7.5 70~75 7.5 70~75 7.5 70~75 7.5 75~75
8.0 75~8.0 8.0 75~8.0 8.0 75~8.0 8.0 75~8.0
8.5 8.0~85 8.5 8.0~85 8.5 80~85 8.5 8.0~85
9.0 8.5~9.0 9.0 85~9.0 9.0 85~9.0 9.0 85~9.0
9.5 9.0~95 9.5 9.0~95 9.5 9.0~95 9.5 9.0~95
10.0 9.5~10.0 10.0 9.5~10.0 10.0 9.5~10.0 10.0 95~10.0
10.5 10.0~10.5 10.5 10.0~10.5 10.5 10.0~10.5
od 11.0 105~11.0 11.0 105~11.0 11.0 10.5~11.0

115 [11.0~115] 115 [110~115] 115 [11.0~115
120 [115~120] 120 [115~120] 120 [11.5~120
125  [120~125] 125 [120~125] 125 [120~125
130 [125~130] 130 [125~130] 130 [125~130
i 135 [130~135] 135 [130~135
; 140 [135~140] 140 [135~140
145  |[140~145] 145 [140~145
150 [145~150] 150 |145~150
155 [150~155] 155 |[150~155
160 [155~160] 160 |155~160
155 |[150~155| 165 160~ 165
160 [155~160] 170 [165~17.0
175 [17.0~175
180 [175~180
185 [180~185
19.0  [185~19.0
195  [190~195
200 | 195200

D 11.5 17 21 26 33
L 18 27 31 35 40
&L CEADKR RULZE LY MEERRWBRE THAL T IZE L, NOTE :1. When is use insert a drill to the end from the rear of the collet.
2. ALY NFOREADY A X(FUR~T 4 F20.1 or 0.5) ZEARIGEF. 2. Do not use smaller sized cutting tools than inner diameter of collet,
T—SUMIRHEI) DBDRNDESSBENGHIE T, or coolant may leak out of acollet..
3. ISYMIRM—b v VO ERT B E LY DY—U Y T RELE B Ao 3. If flat-face shank cutting tool is used , sealing fancyion of collet does
not work.



CRowabwhk

77tHU
. CR TAP COLLET

OCRILYNCARDEYIEDHZEFFFT=IvTILYE

OCR collet with square hole for shank end of tap

(¥>oO9vyIlIRA) (for synchro tap).
:;:: xi D
H |
MODEL od K H L COLLET CHUCK TYPE
M3 (51) 4.0 32 15
M4 5.0 20 15
-M5 55 25 15
-M6 6.0 25 15
iE;?gf -U5/16 6.1 5.0 15 27 CTM/CTS 10
M8 6.2 5.0 20
-M10 7.0 55 20
U7/16 20
P1/8 8.0 6.0 20
M3 (1) 4.0 32 15
M4 5.0 2.0 15
-M5 55 45 15
-M6 6.0 45 15
-U5/16 6.1 5.0 15
32;32? M8 6.2 5.0 20 31 CTM/CTS 13
-M10 7.0 55 20
U7/16 20
P1/8 8.0 6.0 20
M12 85 65 25
U172 9.0 7.0 25
M3 (51) 4.0 32 15
-M4 5.0 4.0 15
-M5 55 45 15
-M6 6.0 45 15
-U5/16 6.1 5.0 15
M8 6.2 5.0 20
-M10 7.0 55 25
C(E;gg)B ::’17 //;6 8.0 6.0 58 35 CTM/CTS 16
M12 85 65 25
U172 9.0 7.0 25
M4 105 8.0 25
P1/4 1.0 9.0 17
-U5/8 12,0 9.0 25
M16 125 10.0 25
-P3/8 14.0 1.0 18
M3 (% 1) 4.0 32 15
-M4 5.0 20 15
-M5 55 25 15
-M6 6.0 45 15
-U5/16 6.1 5.0 15
-M8 6.2 5.0 20
-M10 7.0 55 25
-U7/16 20
8.0 6.0
CR20GB -P1/8 20
(ER32) | -m12 85 65 25 40 CTM/CTS 20
U172 9.0 7.0 25
M4 105 8.0 25
P1/4 1.0 9.0 17
-U5/8 12.0 9.0 25
-M16 125 10.0 25
-P3/8 14.0 1.0 18
-M18 12.0 1.0 28
-M20 15.0 12.0 28

E L EARBIS BBV IDI Y TITEIHLET
2. fRAABEE . EnEIRICECE T

NOTE :1. Above table is for a tap of JIS standard shank.
2. Run-out accuracy is subject to ordinary (STD) class.

"

S
B
T
4
W,
|
A

N—CV—un N—CVUA»nT

N—C\VHH

mH &S

&
-
&

¢



N—CV—n N—CVUAxwnT N—C\V—mwn

N—C\VHZ

mH &S

&
i
&
*s‘

CRYvZ7abwk OHIAT7-CIAT

77tHU

O=SET—SUNITHILLIEEYI—RIV—AY ALYk

(¥»o09yFIIA)

OIL HOLE CR TAP COLLET OH type/C type

Thru-the-tool Coolant Available

®0H-type collet with square hole is for high-pressure
centre-through coolant feeding ( for synchro tap).

2D

2 d

2D
K

2 d

MODEL D K H L COLLET CHUCK TYPE
-M6 6.0 45 22
CRI0GH -U5/16 6.1 5.0 22
CR10GH.c| M8 6.2 50 22 27 CTM/CTS 10
P1/8 8.0 6.0 22
-M6 6.0 45 25
-U5/16 6.1 5.0 25
CRI3GH -m8 6.2 5.0 25
CRI3GHC|— M0 74 22 2 31 CTM/CTS 13
(ER20) -U7/16 80 60 25
P1/8 : : 25
-M12 8.5 6.5 25
U1/2 9.0 7.0 25
-M6 6.0 45 25
-U5/16 6.1 5.0 25
-m8 6.2 5.0 25
-M10 7.0 5.5 25
-U7/16 25
CRI6GH |__-P1/8 80 60 25
CR16GH-C| -M12 8.5 6.5 30 35 CTM/CTS 16
(ER25) -U1/2 9.0 7.0 30
-M14 10.5 8.0 30
P1/4 11.0 9.0 30
-U5/8 12.0 9.0 30
-M16 12.5 10.0 30
-P3/8 14.0 11.0 30
-M6 6.0 45 25
-U5/16 6.1 5.0 25
-m8 6.2 5.0 25
-M10 7.0 5.5 30
-U7/16 30
178 8.0 6.0 %
CR20GH -M12 8.5 6.5 30
CR20GH-C| -U1/2 9.0 7.0 30 40 CTM/CTS 20
(ER32) -M14 10.5 8.0 30
P1/4 11.0 9.0 35
-U5/8 12.0 9.0 35
-M16 12.5 10.0 35
-P3/8 14.0 11.0 35
-M18 14.0 11.0 35
-M20 15.0 12.0 35

E L EARRBIS BBV v IDI VT ITBIELET .
2. RIEER EERICECE T,
3. CIMTRZEEERTT,

NOTE:1. Above table is for a tap of JIS standard shank.

2. Run-out accuracy is subject to ordinary (STD) class.
3. Ctype is made-to-order.

085



SN— V' —Hmn

INERE—UVTFvvIR 779 U—

77t9U
ACCESSORIES for COLLET CHUCK
‘ H
U
m”‘g S
= ¥ S :5
|
FwNCTMFA) - g
2
NUT (For CTM Type) H
Z4EF  Standard use J—52V8A)V—HE Throu
MODEL M oC H | CTMNo. | N/Wikg) MODEL M oC H | CTMNo. | N/Wikg) S
NUT-CTMO7H |M14 x 075 | 23 15 007 | 0.0 NUT-CTM10-OH| M22x 1.5 | 32 20 | CTM10(G) | 0.15 T
NUT-CTM10H | M22 X 1.5 32 20 0.10 0.15 NUT-CTM13-OH| M26 x 1.5 36 22 CTM13(G) 0.18 ;j
NUT-CTM13H | M26 X 1.5 36 22 0.25 0.18 NUT-CTM16-OH| M32 x 1.5 44 23 CTM16(G) 0.20 |
NUT-CTM16H | M32 x 1.5 44 23 0.40 0.20 NUT-CTM20-OH| M40 x 1.5 52 25 CTM20(G) 0.21 2
NUT-CTM20H |[M40x 1.5 | 52 25 060 | 021 Fia?
i TN
| I 75 e W A I P
FwCTSH) THE S €y T HL S O)
m Il N 5
NUT (For CTS Type) H N %
¥
MODEL |FIG.| M  |®C| H | CTSNo. | WRENCH No. | N/W(kg) MODEL  |FIG.| M |®C| H | CTSNo. | WRENCHNo. | N/Wikg) f
NUT-CTS07 M13x0.75] 23 | 15 | CTSO7 | US-CTSO7 0.05 NUT-CTS07G M13x0.75] 23 | 15 | CTS07 G | US-CTS07G 0.05 7:
NUT-CTS10 T [M19x1.0 |32]20|CTS10| US-CTS10 0.05 NUT-CTS10G 2 [M19x1.0 | 32|20 |CTS10G|US-CTS10G 0.05
NUT-CTS13 M24x 10 | 36|22 |CTS13| US-CTS13 0.07 NUT-CTS13G M24 X 1.0 | 36 | 22 [CTS13 G| US-CTS13G 0.07
E: :\\ _ W VA s_ ~ \Y VA :_ ~ \Y
FELXI(N=RFry I IRV VT Frv I IBEAVLF I Z—=U VT FryIH) 5
I
ADJUST SCREW (For HARD CHUCK, COLLET CHUCK, SLIM CHUCK, NEW MILLING CHUCK) ?
MODEL | FIG. G L|B O-ring s
OR-M10(-25) | | MIOX15 | 25 | 25 S5
OR-M12(-25) MI2x15 | 25 | 25 55
OR-M14(-30) M14 X 1.5 30 4 P-6
OR-M18(-25) 25 | 5 P9
OR-M18(-35) MIBX 1.5 35 Po
OR-M24 -25 25 6 P-9
OR-M24(35) | M24XS 3 P o
[Fig.1] [Fig.2] OR-M28 -25 5 | 6 P16
- g,m; - /gTﬂ; OR-M28 -30 M28 X 1.5 30 | 6 P-16
/ 7~ OR-M28(-40) 40 | 6 P16
(W] (]
| ? R\ OR-M36 -20 vaex 1o | 20| 6 P21
L B ‘ J— == OR-M36(-40) : 40 | 6 P21
L B
9: “ |J\ 53
vvd UDUF o
CHUCK WRENCH "
FrwJRINF HOOK SPANNER
F w2 1—R CHUCK CODE LYFa—R | N/W (kg)
JLvhF w2 CTS-G CHUCK | WRENCH CODE
CTS07 G US-CTS07 G 0.05
CTS10 G US-CTS10 G 0.05
CTS13 G US-CTS13 G 0.10
FvwIRINF HOOK SPANNER
F w2 —R CHUCK CODE LYFa—R | N/W (kg)
JLwkFvwZ CTM CHUCK | WRENCH CODE FrwIRINF HOOK SPANNER
CTMO7 FP-CTMO7H 0.05 F w2 —R CHUCK CODE LyFa—K | N/W (kg)
CTM10 FP-CTM10H 0.05 JLwkFrwZ CTS CHUCK | WRENCH CODE
CTM13 FP-CTM13H 0.10 CTS07 US-CTS07 0.05
CTM16 FP-CTM16H 0.15 CTS10 US-CTS10 0.05
CTM20 FP-CTM20H 0.15 CTS13 US-CTS13 0.10




N—C\V—Homwn

TIVAI YR

FEEs PULL STUD BOLT
H
S
K °
3 Q
U
|
A B 3 — B L > 8
= AN AN AN
L2
S
T L1
>
] L
|
A SBT(BT)
1); °
S B bl oD1 | ®D2 | ®D3 | ®D4 L L1 L2 6 BE
P30T-MAS1
MAS-1 & P30T-MAS1(SKD) 11 16.5 | 125 7 43 23 18 45
pil P30T-MAS2
EE 30 MAS-2 B P30T-MAS2(SKD) 11 16.5 | 125 7 43 23 18 60
D] P30T-JIS
I 12 | 16. 12. 4 234 | 184 | 7
;|<‘ JIs ##g P30T-JISGKD) 6.5 5 8 3 3 8 5
P40T-MAS1
MAS-1 8¢ P4OT-MAS1(SKD) 15 23 17 10 60 35 28 45
P40T-MAS2
MAS-2 1 2 17 1 2
S-2 BY P4OT-MAS2(SKD) 5 3 0 60 35 8 60
7] X—higE |PS-F2 - B
SR AR
) 40 90" B PS-F2(5KD) 15 23 17 10 60 35 28 90 | DMG 7t #m@B LR
T P40T-JIS SHER T
| 1 2 17 14 4 2 2 7 = N
=] IS Wi P40T-JIS(SKD) ? 3 > ? 3 > =EET0OVY
PS-V7.5N . ,
X—H3RHE PS-V7.5N(SKD) 188 | 22 17 11245 | 441 |19.11|14.03 | 45 PIHETS VT
X—73RE | (MP40)-M1 15 23 17 10 50 25 18 90 SHAER T
MAS-1 8 | P50T-MAS1 45
MAS-28  |P50T-MAS2 23 38 25 17 85 45 35 60
X—NifE | PS-Y3 90 | DMG Zrfétk OKK a8 AT
50 JIS#E | P50T-JIS 28 38 25 21 74 34 25 75
X—HiRHE | PS-VI5N/V20 2896 | 37 25 |20.83| 652 | 252 |17.58| 45 PIYHETH YT
X—h#HE | (MP50)-M1 24 36 25 18 71 31 23 90 SHE T
X—7iFHg | PS-J1 23 39 25 18 104 | 64 56 R4 =gsT1T0v7

SBT(BT)30=M12 SBT(BT)40=M16 SBT(BT)50 =M24
&) 1L EROMHRICE S TII T IVRIVNI D RIEDE T DT, RO E CHER<IEE V.
2.(SKD) 94 F135'1 AW ERAL. BEZERHIEFILRILNTT .

087



77tHU

VI —-)— TILRAIYER

PULL STUD BOLT WITH COOLANT HOLE

g
© N N —~—___ 1%
- [~ _ 1Y S S N A L ANy L ] AN
HEREEY = = =
o ANy 1S Y <]
HJU
L2
L1
L
SBTET)  yos Azt oD1|oD2|0D3|oDa| L | 11| 12 | 6° | od |FIG. Bz
w7
P30T-MAS1(H)
MAS-1 & | RSt (H)(SKD) 11 (165125 7 | 43| 23| 18 | 45 | 25| 1
P30T-MAS2(H)
MAS-2 8 P30T-MAS2(H)(SKD) 11 1165125 7 43 | 23 118 | 60 | 2.5 1
P30T-1F( ¢ 4 & 510) .
30 A—hiE P30T-1F( ¢ 4 & S10)(SKD) 11 [16.5|125| 8 43 | 23 | 18 | 45 4 1 | TO7Fwo
P30T-2B( ¢ 2.5) .
A e KD 11 |165]125) 75 | 43 | 23 | 18 | 45 | 25| 1 |75%
P30T-JIS(H)
JIS 3R P30T-JIS(H)(SKD) 12 165|125 8 43 123.4118.4| 75 4 1 1JIS-B6399-89
PAOT-MAS1(H)
Mas.1 g | PAOT-MAS1( 6 4 & O15)(5KD) 1512317101601 35) 728 . 41
P4OT-MAS1( ¢ 3 & P5/015) 15123 17|10 | 60 | 35 | 28 PNES T
PAOT-MAS1( ¢ 3 & P6) 151 23 [ 17] 10 | 60 | 35 | 28 3 Y1450
MAS-2 B | PAOT-MAS2(H) 15 23 [17] 10 | 60 | 35 | 28 | 60 | 4 | 1
PAOT-JIS(H) 6/7 JI5B6399-89
JIS 3R P40T-JIS( ¢ 7)(SKD) 19 1 23|17 14 | 54| 29| 23 7
P40T-JIS( ¢ 7 & O15) BB 754 B
40 R=HiE P40T-JIS( ¢ 7 & O15)(SKD) 19123117 | 14|54 | 29| 23 75 7 1
PAOT-JIS( ¢ 4 & S15) T—0%
RA=HIRE P40T-JIS( ¢ 4 & S15)(SKD) 19 123|117 | 14 |54 | 29| 23 4
X—73HE | PAOT-JIS( ¢ 7 &327FVF) 19123 |17 | 14 | 54 | 29 | 23 7 BOTE
PS-V7.5N(H) YT D
RA=HIRE PS-V7.5N( ¢ 7 & O15)(SKD) 18.8| 22 | 17 |12.45|44.1 {19.11|14.03| 45 7 1
PAOT-MORI( ¢ 7 & P9/015) DVIG 7okt
A—hiHE P40T-MORI( ¢ 7 & P9/015)(SKD) 19123117 |14 154|129 | 23|75 7 2
MAS-1 & | P50T-MAS1(H) i
X—734& | PSOT-MAS1( 6 6 & P21) 2313825117185 145135145 6 gm0
MAS-2 8 | P50T-MAS2(H) ]
X—N¥HE | PSOT-MAS2( 6 6 & P21) 231382517185 145| 35160 | 6 ge oo
X—hiiE | PS-Y3(H) 2338 25|17 85|45 3590 | 6 | 1
JIS#R#E | P50T-JIS(H) 0] 1
X—#3#8 | PSOT-JIS( ¢ 6 & P21) 28138 1 25| 21 | 74| 341 25 | 75 o (mms S 4 2 aufn
X—73#& | PS-V15N/V20(H) 2896 37 | 25 2083 6522521758 45 | 10 | 1 |[v<oF<T w2
PSOT-MAST( ¢ 8 & P9/P21) EUIDTY 45 DVIG 7e#5HE
X—345 [ P5OT-MAS2( 6 8 & PI/P21) EVID7Y 2338|2517 |85 |45 |35 60| 8 | 2
50 PS-Y3( 6 8 & PO/P21) EUTDTY 90
P50T-MAS1( ¢ 5.5 & P9/P21) T A5 45 ZETE T7UNIC
*—NBUE 50T MAS2( 6 5.5 & PI/P21) TS 2338251718545 35 701 55| 2 i
P50T-MAS1( 6 6 & P9) Y157 h 45 SIS
*—AWUE peoTMAS2(0 6 & PO) STAFT b 2338125178545 35 057 6| 3
P5OT-MAS1( 6 6 & S9/P21)OKK 45 OKK
X—$3#% [P50T-MAS2( 6 6 & S9/P21)OKK 23| 38| 25|17 |85 | 45|35 [0 | 6 | 4
PS-Y3( & 6 & S9/P21)OKK 90
PSOT-MAS1( ¢ 6 & S9/P21) F=7 T ADT 45 AIREA]
=T | oroT MAS2( 0 6 & S9/P21) T T KDY 2313812517185 45|35 57 6| 2
A=—H#HE | (MP50)-M1(H) 24 | 36 | 25 | 18 | 71 31 23 1 90 8 1 |=HBEITZE

F) 1L EROMRICESTI T VRV MRS RIGDE T O T ERORE SRR EE L,

088

N—C\U—Hmwn

N—C\—n N—CVUAnI

NV E

7]
Hl
T
=

fil

#



N—CV—Hmwn

X —H— i (54<H#4& - CODE No.) vy STIRE
e TV4 (0EDIFR) (2 &—AJI—: MAS-1# (CODE : 17406 or 17326)) BT40 | MAS-TI &
. IKEGAI TVU4 (Ut &) ,HM4 (TVH4) (&> &—ZJ—: JIS##E (CODE : 173400r 17342)) 40 | JISHR#&
TV5 (HICX) , TVUS (U2 %) ,HM5 (TVH5) (t>&—RAJ—:MAS-1# (CODE : 17450 or 17456)) 50 | MAS-1#
ILPYU—X BT30 |MAS-1#®
174 ILP - ILM - ILS>U =X 40 | MAS-T B
ILM - ILS ) =X 50 | MAS-I#
S$300, SS300, DT> &) —X (& —AJ— : MAS-1# (CODE : 17300)) BT30 | MAS-1#
H JE30S, 30G, ES400, E-130, BE-130, EV360, 360Te, WE30Ve, GE30V, GE30H 30 |Mas =
S (£>#—ZJL— : MAS- & (CODE : 17302)) =
K Irvaw A—/X—=400, 450FV, VMC¥ ) =X, HMCY ) =X (£ &—AJL— : MAS-1# (CODE : 17406 or 17326)) 40 | MAS-1 3
> ENSHU GE460H, 480H, GE40H, JE) —X, ES450, EV450, 450Te, EV530S 20 | Mas T
U (£>%—2J— : MAS-T'# (CODE : 17408)) -
|“ EV650, 600MV, VMC>|J—X, 500H, 630H, V65E (£>&—2AJ— : MAS-1# (CODE : 17456)) 50 |MAS-1#®
A JEBO, 80G, GE580H, 590H, EV530, EV540 (> 4&—2ZJL— : MAS-II# (CODE : 17458)) 50 | MAS-TI#
MA, MB, MC, MD, MF, MU, MX-A>)) —X VH-40 VR-40 MP-46V GENOS¥)—X BT40 | MAS-II®!
*—o< &= — (JIS) 40 | JIS#HH&
OKUMA MA, MB, MC, MD, MX-B MCV-A, B MCR, MU, MF>1) —X MCM-B 50 | MAS-TI#)
T E—RI— 50 | MAS-TI#
S MILLAC V¥U—=X, H¥)—=X MAC TURNY!J—X MM-300 ML-300 BT40 |MAS-1#®
T T E—AIN— 40 | MAS-1%#
s MILLAC VI U—X 40 | MAS-IT#
0 *—5% T E— R 40 | JISHR
I (KPREFHEM) MILLAC V¥U—X, H¥J—X VIMZJ—X VMP-10, 16 50 | MAS-TI#
2“ o E—AN— 50 | MAS-IT#
MILLAC VIZJ—X 50 | MAS-I#
22— — 50 | MAS-T#
PM300, 350 BT30 | JIS#R#&
PCV, TRC, VM, AMC, DGM, VP, GC, HM, HP, VC<!)—X PG8 PM4001I DV5, V1 VB53 GR400 40 | MAS-TE
KRR MCV-350, 410/40 PCH-400, 500 HPV400 MPH-400 40 |90°®!
3, OKK MCV, MCH, MHA, KCV, ACM, DCM, VM, HM>IJ—X PCV-510, 620 VG5000 GC600 DV5 50 |90°®
2 PCV50, 55, 60 50 |[MAS-1#®
E £ &—2— 50 |90°®
IJ OSH-54 OSV>) —X 0SU-545 BMVII-85 BT40 | MAS-TI &
Y P FTV-500, 500HV 40 | JISHIE
I“ BMV-40NC (OP) , 400NC (OP) , 500LNC, 500ANC OSV-139 FTV-1200 50 | MAS-1#®
A 7+ — T LBMHERT TDC Omega-M, VTLex-M, Neoa &) =X BT50 | MAS-TI#!
oM T E—Z)I— 50 | MAS-TI#
HX-250G BT30 | JIS#&
&= — (58MedCenter , #FMycenter) 30 | JISHIH&
RIS Ms:center-SXG. il_XiF, 7X. HX4(?E)G. Supercell-400 M}/trunnion-‘c’: dIGcenter-§ 40 | JISH#&
] KITAMURA ;ﬂ;; A— (izf¥Mycenter, sirfzJIGeenter, PIf%Bridgecenter, 5&Mytrunnion, 58SUPERCELL, 40 | Uisseis
¥Mycenter)
‘E’U Mycenter-4XiF, 7X, HX500i, 630i, 800iL, 1000i, 1250i, BridgeCenter-8F, 10 50 | JISH#&
> &—2ZJ— (FIf¥Bridgecenter , 5&iMytrunnion , 58#SUPERCELL , ##Mycenter) 50 | JISHI&
T VMC, HMC, Arik, KN, VTC:/!)—X PC-30E 30F 30H 30W KPC30a, 30b HPC-30Vb PCV-30, 150 BT30 | MAS-TI &
=k F7 - 2-Kb—=Yar | £V &—Al— 30 | JISHH&
KIRA KV, Arik, VTC, KN>JU—X PC40G 40 | MAS-1#
T E—RI— 40 | JIS#HE
AR KV =X KMV =X KBTZ =X KHZU =X CMN> ) —X KHM-125 KBM11X BT50 | MAS-1#
22— — 50 | MAS-T#
N, Z>)—=X BT30 |MAS-1#
ST YNTC TMC, NH, NV, H, N, Z, ZV, ZH> ) =X 40 | MAS- 18
KOMATSU NTC ZV5400 ZH4000, 5000 (> &—2RJI—) 40 | MAS-T#
TMC, CNC, N, ZV¥ 1) =X 50 | MAS-1#
ZV5500 (> &—2ZI—) 50 | MAS-1#®
B1J—X CM-350 SSR-550 HSR-7, 10 BT40 | 90°#
ERME AR Y E=RN—9—5 A 40 | X—H—FHK
SHIZUOKA T E2—ZAIN—I7H 40 | X—H—HHE
B> 1J—X SMV—X SG-600 50 | 90°&
] FEELEA 7  MAS-T1E (17062) , MAS-TE (17064) , MAS-90° (17070) , JIS-75° (17495) MAS-1,1,10,JIS
SHIBAURA £ &—Z)—: MAS-1-045& 6 (930952) , MAS-I-94.5& 6, MAS-90°-94.5& 6, JIS-»8 (930958) BTS0 MAS-1,I,II,JIS
FEATH CMV-50, 70T BT40 |MAS-T&!
SHINNIHON CMV, DC, ESP, FSP, HF, HPS, PS, RB, BFR>J—X PC-55V EXI-70K 50 | MAS-T#
ﬁ PV640J BT30 |MAS-1#®
i JIAFU b FA, FV, FUN, FXN, JV, PV¥'I) —X e500H4, UX570 40 |MAS-1#
ﬁ JTEKT FV, FVN, FHN, FXN, PV, BN, FH, FA, RB, SB>!J—X SV-65 e500H5 50 | MAS-TI#E
DN-1V, 2V, 1H (£>&—2ZJL—) 50 | MAS- 1%
*5[ )7+ 4—V15 NSV15, VC15 H15 H15B BT30 | MAS-II#!
A¥ITIY SC-H40 40 | MAS-1#
2 E—A— 40 | MAS-1#
RETH MAC-V1E, 430VP VP10 BT40 | MAS-1 &
TAKIZAWA MAC-V40, 40B Y520 40 | JISHI&
MAC-V40, 40B Y520 (> &—2AJ—) 40 | JISFIHE
- MV, TK-VS> =X BT40 | MAS-I &
R VSTU—X 50 |[MAS- T

E L BROMRICE S TIRTIVAR Y RERXSRBRYETOT, BIBOMLHRE ZRBEED,
Note : 1. Please check oparation manual of machines to select appropriate type of the pull stud.




WA —T— W& (5+<1#2% - CODE No.) Svos ST
VA3, VL3 BT30 |MAS-1#
T A= A= 30 | X—H—ikE
vz VA4 BBT40 | MAS- 1%
SUGAMI T E—Z— 40 | X—H—Hikk
FMA3-II, FMAS-II BT40 | MAS-T#Y
> A=A~ 20 | X—H—I0k
e s5vsvmy | PN U—ZPNA00, PN50O ' ‘ ‘ BT40 | MAS-I%
N ULTY/NS U—X, HN-S3 =, HNS U= X, IN6XS =X, HN-FCS =X, HN-BARS J—X . o | was.1m
HIN-S BARS U — X", HN-VS 1 — X
I FZ-16, 16L, 16E, 26, 26L DZ-16, 16L, 16LA BT30 |MAS 1™
e MC-3VA, 3VS, 4VS EN-3, 4, 6 EN-40 HN-40 40 [MAS- 1%
MC-50V, 70V, 80V, 6V, 5VA, 6VA, 8VA T-80MH, 180MH 50 | MAS-T1#
Sy ROBO DRILL/DRILL/DRILL MATES U—X a —T14iA a —T21iD a —T21iE a —T21iF a—D14iA BT30 |MAS- 1%
FANUC A= A— 30 | A—H—HtE
TC-221, 225, 227, 229, 229N, 22A, 311, 312N, 31A, 321, 323, 324, 324N, 325, 32A, 32B, S2A, S28,52C, | oo [\ oo
IS5Y—T% R2A, 228, S2D, 32BN, 31B, R2B, S500X1, S700X1
BROTHER > &—2— 30 | X—H—#E
TC-731, 731S 40 | MAS-T1 2
HEN, HTNC, ESY J—X NJ50 RS50H PM70H RM70 ESB0H ESBOVA BT30 |MAS- 1%
HFN, HTNC, RM, DM, HFNS | — X NS70 MOH630 THMC410 TM70H TG70H MBE 40 [MAS- 1
K—aR T E—AN— 40 [MAS- 1%
HFN, HTNCS U — X G50H C50H DM100H RM100H NM100 DM100H NM100 50 | MAS-1%
A= A= 50 |MAS-1%
MMIN, MDT, MBN, MSN, MEN, MJN, MZN, MKNS U—X BT30 |MAS 1%
T E—A— 30 [ A—D—FkE
BRTE MBN, MCN, MHNS ) —X MCV-800 40 |MAS-T®
HOWA > H— R~ 40 |MAS-T®
MBN-800 HS-500 50 |MAS-1®
T E—A— 50 |MAS- 1%
a1, A, VS J—X J55, 88 D300, 500, 800Z BH50 BTa0 | JISHE
T R— AN JISHRE
BNC, FNC. MCY' J—X SF64 A5, 66,88 FB1275U—X 10 | MAS- 1)
WE 751 ABF | 28— RA— MAS-1%
MAKINO al, AV, GFYU—X oo | JISH
T R—A— JISHRIE
FDNC. FNC, GF, MC, MCC, MCD, MCFJ—X_GN1712-A_a71,81 A77,88,99,100 V77 o [MAS- 18
T R—AN— MAS-1%
_ CNJ2 MAS- 1%
:’AX?}Z; g A 'ENU2, AGES0, MG30, DGA0, SG10 BT40 r55°m
CNJ2 50 | MAS-1%
J—FE—A—S—X JISEA
T E—AN— B30 [issi
MX1) —Z, VX)) =X, V.Plus>!) —X
IBISHAYER | MAM72-35V, MAM72-52V, MAM72-63V, MAM7-70V, 4o | JISHIE
MATSUURA H.PIus-300 H.PIus-400 H.Plus-405 H.Plus-504
T E—A— JISHE
MAM72-100H, H.Plus-500, H.Plus-630 N
T B— A — JISHRE
VS, HR. HT, HUS'U—X VT3A VU50A BT40 | A — D&
Vertex>1) —X 40 | JIS#FIHE
T E—A— 40 | JISHA
SHRETE VU, VJ, VS, H, HU, HS, HR, HPTS U—X 50 | X—h—FkE
MITSUI T A=A 50 | X—H—foks
T E— A= 50 | A—DH—Hts
T E—AN— 50 | X—h—Hlk
T E—A— 50 | X—h—IkE
. [V-360 M-VAC, V5C M-H4B, H58 MPAYU—X MV U—X MHS U—X BT40 |MAS- 1%
BABEYI VY- S o :
e Y [V MV, VLR, MVS, MPA, MAF, MVR, MHT, MKH, DHY/ 1 =X 50 |MAS- I
T E—A— 50 |MAS-I%
TV-300, 400 ACCUMILL4000 ULTIMILLH3000, V3000 MILLTAP700 MAX3000 BT30 |MAS-1#
e A= A= 30 —
ﬁfgﬁg”l’gﬂm SV, SH, SLV, MV, MH, NV, NMV, NVD, NH, AFM, Dura Vertical, NVX, NFIX, VS, NTS)—X _SuperTILT500 SLV5000, 5250 40 [90°m
T E—AN— 40 | JISHA
SV, SH, MV, MH, MB, NV, NH, NVX, NHX, VS, NMH, NMV, NT> 1) —X 50 | 90° &
SRR (G | VKU—X UM40,50 VS-40,50,60 VKCYU—X VAYU—ZX HG400 HSYU—X HK630 HAVU—X BT40 |MAS- 1%
(formerlyHITACHI) | VK-45, 65, 65,85 VAYU—X VGYU—X VFSU—X VS-50,60 HSYU—X HK-630 HGZU—X HCYU—X 50 |90°m
IMPULSE30 %1 JA, B,C_UN-600V, 600H BT30 |MAS 1™
ve¥EIHys | VTG, V, VQC, AV, FJV, FH, FF, VARIAXIS, NEXUS, INTEGREX, VON, FCN, PFH, 1U—X ANGULAX900 40 | A—D—Fks
MAZAK VTG, V, VQC, AV, FJV, SV, H, FH, MTV, HV, INTEGREX, VORIEX, VCN, HON, VERSATEGH, 11 & U—X 50 | X—h—Hik
H-12, 12N, 15,20, 25 V12, 15,20 VQC-10/15, 20/50 50 —
VPSU—X. PX30i. H30I. H4O0i BT40 | JISKHHE
T A= A— 40 | JISHA
RET% XS U—Z. VIS U—X 50 |MAS-1%
YASUDA Y &=~ 50 | MAS-1#!
XS U—Z. VIS U—X 50 |MAS-I®
T E—A— 50 |MAS-I%

F L BROMRICE S TIRTIVAR Y RERXSRABRYETOT, BIBOMLHRE ZRBEED,
Note : 1. Please check oparation manual of machines to select appropriate type of the pull stud.

N—C\V—Hmwn

] N—CURLIT ]

N—C\—wn

N—C\VHE S

7]
Hl
T
g8




N—CV—n N—CVUAxwnT N—C\V—mwn

N—C\VHZ

7]
Hl
T
8

77tHU

IEAET 54 A7 —=INHI SV TRV (BRIRL)

CLAMP BOLT FOR FACE MILL ARBOR
(WITHOUT STEPS)

MODEL L L1 L2 ¢C G
MBA-M8F 23 18 7 20 M8 X P1.25
MBA-M10F 31 22 9 28 M10 X P1.5
MBA-M12F 35 25 10 33 M12 X P1.75
MBA-M16F 40 30 10 40 M16 X P2.0
MBA-M20F 50 36 14 50 M20 X P2.5

77tHU

Y

L7

2 C

Lz

IEE7S54 A7 —/NBIS VT RILE

CLAMP

BOLT FOR FACE MILL ARBOR

MODEL L L1 L2 L3 | ¢c1 | ¢c2 G
MBA-M8 23 14 9 7 20 15 M8 X P1.25 N w wﬁ .
MBA-M10 27 16 1 9 28 18 M10 X P1.5 s R s
MBA-M12 30 18 12 10 33 23 M12 X P1.75
MBA-M16 40 24 16 10 40 23 M16 X P2.0
MBA-M20 50 30 20 14 50 27 M20 X P2.5 L3]
MBA-M24 59 35 24 14 65 37 M24 X P3.0 | L2

L
AU—RRU—=T
FEEs STRAIGHT SLEEVE
MODEL D1 | ¢d | ¢D2 | L1 12 | P1 P2 H o | NW (kg)
OH-5L20-16 20 | 16 | 30 | 48 6 - 25 | 44 | 007
OH-5L25-16 16 0.19
20 25 o 35 | 58 6 20 | 15 | 44 2
OH-5L32-16 16 0.35 "
20 32 [ 20 | 42 | 63 6 20 | 15 gj 0.32 P
25 25 0.22 R -
OH-5L40-16 16 057 1 3 4 E =8
B 5 40— N SINANY s
40 50 | 63 6 20 | 15 =
-25 25 54 0.45 L2
-32 32 0.30 L1

091




N—C\V—Hmwn

E—ILRAT—NZAU—=T

rJ€9U
MT SLEEVE
H
,,,,, A{E, ﬁ
MT No. HZ H1 3
\ T
Y |—|7—— BNE A
F——
~N 4|
S S
MT No.(®) ) L2 T
L1 8 Y
7
PR
MT No. | MT No. N/W N/W
MODEL ® L1 L2 H1 H2 e e
OH-MT4-3 . 3 140 225 21 22 0.37 0.37
OH-MT4-2 2 124 6.5 17 20 0.42 0.42
OH-MT3-2 3 2 112 18 17 20 0.17 0.17 9,
2
5]
|
z
~ ~ —_— O O
<HSK v o> IJ—Z2KINAD
7IEHU 0
< HSK SHANKU > COOLANT PIPE T
=]

BEET (Fixed Type) = (Movable Type)

|
a ol = N
N U e 2 J a
OEEX (Fixed type) @I (Movable type)
MODEL HSK No. ¢D1 D2 MODEL HSK No. ®D1 D2
CLP-032 HSK32 6 M10 X 1.0 CLPF-040 HSK40 8 M12 X 1.0 53
CLP-040 HSK40 8 M12 X 1.0 CLPF-050 HSK50 10 M16 X 1.0 i
CLP-050 HSK50 10 M16 X 1.0 CLPF-063 HSK63 12 M18 X 1.0 &
CLP-063 HSK63 12 M18 X 1.0 CLPF-100 HSK100 16 M24 x 1.0
CLP-080 HSK80 4 M20 X 1.5 #
A BEER I EHHOBIRICE X —H—RBIC TR ET V.
NOTE1: Please confirm it to the machine maker in choice of fixed type or movable type. &3ENXHI ORDERING EXAMPLE
® @
-
@ R Name

@ HSK No. HSK No.




N—CV—n N—CVUAxwnT N—C\V—mwn

N—C\VHZ

mH &S

&
i
&
*‘:‘

BERFASENHXE (BIE

77tHU

TVIYFTHA BIRTEFY

One-touch size selection

FvFNRIVATRT
Thru-the-tool Coolant Available

M SHBEZERET DDENHIEEA

No need set heating and cooling times

hogk

Haeting

BRIENIET OFLIUA

Maximum-speed heating in under 10 sec

.

HEDFEAFIE IREMYZETVNET

Tool is inserted or removed

.

BE)iSA
Automatic cooling
MENSFHANBBFEHINTVET

Automatic control from heating cooling also possible.

High-frequency induction heater
(Console model, Automatic type)

BILY (B4 DR S LU GSHSEIE Y —F VY —(C T,
BESNCVETAFHMILI LDV TOREDIITOIHE
Heating and cooling times for each holder (standa

@11k B8 -/ \ 1 R -HIHEXG Specifications: Compatible with cemented carbide, high-speed steel, and steel tools

Bz Model SF-DRU-15K
<%  Dimensions 690mm (W) X 500mm (L) X 1780mm (H)
SEikEEH  High-frequency output 15KW
ANEE  Input power supply AC200V 348 (3-phase)
{|FESE  Power supply capacity 60A (18KVA) [ &AHFIEF ] [ at max. output ]

YU VS—FEM For cylinder raising and lowering
X Aursource Y—UYJ O ESHIA For on-machine tooling cooling
I7—8&  Air capacity 0.4MPa (200L/min)
RESEE  Weight #100kg  About 100kg
BRAKIS VvV IRAR (RHE) . .
Applicable holder shank shape (standard) BT40 - 50/ H5K-63 - 100
BRAKRILIYLX SF04 ~ SF50.8 (LFa5—9 A FRILS—1h)
Applicable holder size (regular type holders, etc.)
BRAABVrVIE | RE N N .
Applicable tool shank diameter and tolerance ¢ 4~ ¢ 50.8 /16 REA tolerance within h
fIBEED L (31E5R) SFO4 ~ SF12 H / SF16 ~ SF32 A / SF42 ~ SF50.8 A
Included standard coils (3 types) For SFO4 to SF12, SF16 to SF32, and SF42 to SF50.8
EliAmE =
Tool insertion and removal direction @ Upward
FE5 / REEANO—T . ) .
Upwardraising&lowering mechanism and stroke BEE /700mm - Automatic type : 700MM

HNAZ MATRICDEFLTR RIVIRICLWRBIFT DT FIRTER TS,
#For cemented carbide and steel tools, specifications will vary depending on the holder shape ; please inquire for details.

@65/ Heating time

RILFB AR Holder size

HABEV+>V 1% Tool shank

hOZABSR Heating time

SF04 ~ SF12 b4~ ¢12
10 L
SF42 ~ SF50.8 ® 42 ~ ¢ 50.8 naer seconds

H0EIA)L  (SF-DRU-15K  RRUSF-DRU-S15K  $ti@fERTIAETA L)
BWAE D+ IRpA~¢50.8% STERDIRAETD A )L THIN. (SF-DRU-15K)
BAEY vV IEGA~1 2% 1 IBEEDIRLEIA )L THIG. (SF-DRU-S15K)
BRI IRXTRIBA D EE.

FFUavaL WEHRRE BETEE

(TYS A FRILI DSFO6 ~ SF32%2T > I LS HE)

BE91 )

Fd) are set by the sequencer. Settings for special holders are




SERFTINAEE EUE FHIAT)

(Console

FENREIC & DIIEASRIFERE
Manual setting of heating conditions

~NIZABFREERTE Heating time setting
SHAEANT ) /E

SXE Output (output power] etting

hogEk

Haeting
RENIE ORI

Maximum-speed heating in under 10 sec

@I@

HEDOFEAF G IREMYZETVNET

Tool is inserted or removed

.

FENGE

Manual cooling
A7Y3VIC T ETI7 — SR REIE

Compatible with optional on machine air cooling

High-frequency induction heater

model, Manual type)

[oa]

@1tk #BEE -/ \ 1 X -SHHEIS Specifications: Compatible with cemented carbide, high-speed steel, and steel tools

Bzt Model SF-DRU-S15K
Ti%  Dimensions 690mm (W) X 550mm (L) X 1445mm (H)
BSREiEHH  High-frequency output 15KW

ANEE  Input power supply

AC200V 348 (3-phase)

FRESE  Power supply capacity

60A (18KVA) [ &AWE/EF ] [ at max. output ]

ZEIE  Aur source

JAIAHR %7y 3y (Y—UVTOK EHHIESE)
For coil cooling 3 optional (For on-machine tooling cooling)

I7—8E Air capacity

0.4MPa (200L/min)

KRBEEE  Weight

#) 80kg  About 80kg

Upwardraising&lowering mechanism and stroke

BRAKIWVS vV IRAR (RE)
Applicable holder shank shape (standard) BT40 - 50/ H5K-63 - 100
BRAKLI YL SF04 ~ SF50.8 (LF¥a25—9 4 FmILSMHh)
Applicable holder size (regular type holders, etc.)
BREAEV VIR I BE ®4~d12/h6 RERN %FTY3> (¢ 16 ~ ¢ 50.8)
Applicable tool shank diameter and tolerance % optional (¢ 16 to @ 50.8) tolerance within hé
IBEEIC IV 3ER)
Included standard coils (3 types) SFO4 ~SF12/ - For SFO4 1o 512
EliAmE

Elky
Tool insertion and removal direction +A Upward
FiF88 / FEANO—2 FEPE / 450mm  ¥F SV 3V (FK700mm)

Manual type ; 450mm 3 optional 700mm max

#NA R -HTERICDOEFLTR IRILITARICKVEBRIE T DT BRI T,
#For cemented carbide and steel tools, specifications will vary depending on the holder shape ; please inquire for details.

@65/ Heating time

HRILF YA Holder size HEY v T Tool shank HIZAESES  Heating time
SF04 ~ SF12 bd~¢12
1070
SF16 ~ SF32 16~ ¢ 32 U fo/llj\] |
SF42 ~ SF50.8 ® 42 ~ ¢ 50.8 nder 10 seconds

Heating coil (same coil be used for models SF-DRU-15K and SF-DRU-515K)
BCompatible with tool shank diameters of 4 to 50.8mm using 3 types of standard coils (model SF-DRU-15K)
BCompatible with tool shank diameters of 4 to 12mm using 1 types of standard coils (model SF-DRU-515K)

B Connector type for easy replacement.

Option coils

Hinquire regarding special shapes
(One-coil capability for SFO6 to SF32 TY Type holders, etc.)

094

N—C\VHwn N—C\VUAwnI N—C\V—Hmw

N—C\VHE S

7]
Hl
T
8

fil

#



N—CV—n N—CVUAxwnT N—C\V—mwn

N—C\VHZ

mH &S

&
i
&
*‘:‘

SEKASIARE (FLE FEHI(T)

High-frequency induction heater
(Bench model, Manual type)

O EXEGFEER T RIELEEBICPTLVEETIVIVING  ®Lightweight, compact shrinking tooling system that is both

77tHU

RENAREETI, user-friendlyand eco-frindly and can be used anywhere the
O FBEDIZLEIA LT, ¢4 ~ $20 Y+ VI DBEAEDEMND  single included standard

TRETT, @coil enables cemented carbide cutting tools with a shank
ORIERHSHUHY—ILRILT [CEL NS E Y g B2 diameter of 4 fo 12mm fo be mounted.

(3T EERAENTETT, ®The only operation required is to set the appropriate heating

time for the tool holder, no bothersome adjustment are needed.

@f1#k Specifications #BENEEMA For cemented carbide cutting tools only

B  Model SF-DRU-1.2KT

<%  Dimensions 480mm (W) X 500mm (L) X 790mm (H)
=mREEEA  High-frequency output 1200W

AZEE  Input power supply % AC200V  50/60Hz

Z|FESE  Power supply capacity 10A

KB\SEE  Weight #) 20kg  About 20kg

BRAKIS vV IRAR (IREE) . )

Applicable holder shank shape (standard) BT40 - 50 / H5K-63 - 100

BRAKLIYLR SFO4 ~ SF20 (Za—RULIAT - TY 94 )
Applicable holder size (New slimtype, Tytype holders)
BRAXNEY VIR | RE

Applicable tool shank diameter and tolerance ¢ 4~ ¢ 20 h6 R tolerance within h6
TEEEIC IV (1785) N

Included standard coils (1 types) SF04 ~SF20/  For SF04to SF20
"EiRSmE

Ellay
Tool insertion and removal direction” S Upward

FiE8 / REEZbO—T

F .
Upwardraising&lowering mechanism and stroke FEE /400mm  Manual type ; 400mm

@65/ Heating time

3 ; HNEI VIR pilIEE
llergEs (Rt €k Tool shank diameter Heating time
X947 Main type YA Size
Z—a1—2RUL New slim 20 ~35#
4~¢2
TY SF04 ~ SF20 ° 020 20 to 35 seconds
AbL—b Straight

MRIVI TR PIBATBHEDY vV IRECKIRIBUET
#Will vary according to the holder's shape and the tool's shank tolerance.

=027 Y25 LERB
SR (SF-DRU-15K + /211 =wb CA-1116A)

Example of cooling system use
(SF-DRU-15K + CA-1116A cooling unit)

RENRCTRERICNEABARS BINILY DF vyF U T B ERHISH T 57 —U Y I Ny RE TNTSHIKERVALTI—UY T 1y e
AT LMELELIZ,

This cooling system comprises a cooling head for force-cooling the holder chuck after high temperature heat expansion
for shrink fitting, and a cooling unit that supplies cooling head.

W{ERA7E How the cooling system is used
BENAUTRILS (T T —U Y TNy RED SR BT THEiBs!
Simply place the coolingb head on the shrink fitting holder and cooling begins immediately.

J—Ur7 1y BEREENFEEESF-DRU-15KIFFEU TT .,
%The cooling unit and SF-DRU-15Khigh-frequency induction heater are sold separately.




77tHU

J—UJ 1wk
(BNERAEKEIFSENTHIFEA)

Cooling Unit (Heater not included)

HOM

ONIENSHEET. LIN 53
@ —UVINYRENRE BT DEESGH,

FEATURES

®From heating to cooling takes only T minute
@Simply place the cooling head on the shrink fitting holder to

cool it.

BENACTHBICHBABRS BIomLI DF vy 0 I BET—U VT \YNEEHISH T 2T —UY T 1ZYR T,
I—UVT1ZyNI39A T OBREIRFENHEBCTERAVREIFER S,

This cooling unit force-cools the cooling head and holder chuck after high temperature heat expansion for shrink fitting.

The CA-1115a cooling unit can be used with the 3 types of high-frequency induction heaters.

@ftik Specifications
B Model CA-1116A
&  Dimensions 354mm (W) X 384mm (L) X 85Tmm (H)
EE Weight # 41kg  About 41kg
EIEE  Rated power supply AC100V

T—UIID~\YR /| 7T IS

2-VyrAvE

7I7tYU .

Cooling head and adaptors
g-uvgavk | o od 1 I—-UVITITY @f\m}é é{gﬁ)
Cooling head Cooling adaptors holders (examples)

CL-AD-090-04 SBT40-SF04-090-NS

-AD-090-06 -SF06-090-NS

CL-HD-090 90 33 65 -AD-090-08 -SF08-090-NS
-AD-090-10 -SF10-090-NS

-AD-090-12 -SF12-090-NS

CL-AD-120-06 SBT50-SF06-090-N

-AD-120-08 -SF08-090-N

-AD-120-10 -SF10-090-N

CL-HD-120 120 55 65 -AD-120-12 -SF12-090-N
-AD-120-16 -SF16-105-N

-AD-120-20 -SF20-105-N

-AD-120-25 -SF25-105-N

CL-AD-125-04 | SBT50-5F04-175-N-TY

-AD-125-06 -SFO6-175-N-TY

-AD-125-08 -SF08-175-N-TY

-AD-125-10 -SF10-175-N-TY

CL-HD-125 125 46 110 -AD-125-12 -SF12-175-N-TY
-AD-125-16 -SF16-175-N-TY

-AD-125-20 -SF20-175-N-TY

-AD-125-25 -SF25-175-N-TY

- -SF32-175-N-TY

CL-AD-150-32 SBT50-5F32-105-N

CL-HD-150 150 85 100 -AD-150-42 -SF42-120-N
-AD-150-50.8 -SF50.8-115-N

Cooling Head

Water

auT_ =

Water
U

[ r-vorrsra-
| Cooling Adaptor

NN
AN

N—C\V—Hmwn

N—CwH»

mH &S

&
fitg
&

Y -



N—CV—Hmwn

N—Cv—Hwn

mH &S

&
i
&
ﬂ

77tHU

V— LUt S

TOOL PRESETTER

STP-300S (SIMPLE TYPE)

STP-300 (STANDARD TYPE)

N ER R OB DB

External Dimensions

SECNESNONCNONORSNONORCECONONC!

1510

ZEBARIZ Y b
Z BN\ RIL
28T A VIV —
XS4 vILsr—
XEARIZY b
X &N\ R
TEmdE (#Fv3ay)
TEMSNY RIL
=dpin!

il

Z SR ENENTF

@ 1ksh
BEFvRY
BEF v+ RS

Z-axis Measurement Unit
Z-axis Handle

Z-axis Dial Gauge

X-axis Dial Gauge

X-axis Measurement Unit
X-axis Handle

Tool Setting Pot (Option)
Tool Setting Handle
Plate

Shelf

Z-axis Moving Handle
Fixing for Spindle

Caster (Rotary type)
Caster

NETER R OEE D2
External Dimensions

B

1721 082y

o 335

®  X#@NVRIL X-axis Handle

@  Z®@NYRI Z-axis Handle

® X#mRT—IL Z-axis Scale

@  Z®wRT—)U X-axis Scale

® Z8IAVILT—Y X-axis Dial Gauge

® X#IAPILS—T X-axis Dial Gauge

@ AyEas Pull-stud clampingUnite
FIFIIZY b Digital display

© BEK Projector (Light source unit)
7] Projector (Projecting unit)
@  @gN\YRL Handle for spindle rotation
@  Z#@AHN— Cover for 2-axis




77tHU

V— LUt S

TOOL PRESETTER

STP-400 (QUALITY TYPE)

STP-500 (HI-QUALITY TYPE)

HWIETER R S EBD LN
External Dimensions

GECESEESRENONONCORSNONCNCNCONONC)

: ©
7 =
L
5
Q= o
(2. 5a] /’§ <
N @ S E
g =
le
I ®
880 | 44 520 )
L 946 | | 583

G 0o

FIINERRIZY b
®B’E

X/ R
ZE8NYRIL

BRER

AV RL

AV RIVEER/N Y RU
2V RIVEE/ T
I7—2U VI INHER
BRI

X Z#ITA LTS —
X, Z®AT—)U

X, Z@WE—-Y
FrRY

UAJLRIL b
ERNU I 7 &GS

Digital display

Optical Projector
X-axis Handle

Z-axis Handle

Control panel

Spindle

Spindle turning handle
Spindle fixing knob

Air cylinder storage unit
Accessory storage unit
Dial gauge for X, Z-axis
Scale for X, Z-axis
Motor for X, Z-axis
Caster

Level bolts

Connecting unit

NI ER R OB DB

External Dimensions

FQ)
ON L o
C)
- @
‘ H®
o3 s
®  ZEYRLEEE/NY KU Spindle turning handle
@ 2BV RLEOE/ T Spindle fixing knob
@  I7—YUIURE Air cylinder storage unit
@  BRER Control panel
® NYRKRVS Hand pump
® BEBREREERY Connecting unit
@  (EBNHEE Accessory storage unit
FUIINERRIZY b Digital display
© X Z#@IAvILr— Dial gauge for X, Z-axis
B Optical Projector
® ZRF—=)bazvhk Scale unit
® ACH—RE—% AC servo motor

N—C\V—Hmwn

N—CV¢Hwn

mH &S

&
fila
&



J N—CVUAWKnI N—CVU—Hmwn

N—CV—wn

N—C\VHZ

g

Hl

m H

&
i
&
*4

77tHU

Wt#R—85% Specifications

V— LUt S

TOOL PRESETTER

STP-300S STP-300 STP-400 STP-500
CODE (Simple Type) (Standard type) (Quality Type) (Hi-Quality Type)
80070 80074 80076 80078
Xét - . N 0~¢500
— X-axis 0~¢300 0~®300 0~®400 0~3800
Measurement Range Y 30~430 50~500 50~500 50650
Y-axis (0p.630) (0p.650) (0p.650)
Xt . ' . )
p 0.002 (dia) 0.002 (dia) 0.002 (dia) 0.002 (dia)
FIINRRI=YE X-axis
Digital Display Unit Y
Y-axis 0.01 0.005 (0.001) 0.005 (0.0071) 0.005 (0.0071)
. XX“. 0.01 0.001 0.001 0.001
SV IT—I5H -axis
Dial Gauge Reading Y 0.01 0.01 0.01 0.01
Y-axis : (0p.0.001) (0p.0.0071) (0p.0.001)
Xt LS el M—JLATU21— MR—)LATU1— M—JLZAIY21—
Ry X-axis Special screw Ball screw Ball screw Ball screw
Feed Mechanism Yéi BHaL R—ILRIU2— R—ILRIU2— R—ILRIU2—
Y-axis Special screw Ball screw Ball screw Ball screw
8 =g BE 2K) BE 2K
BREAE (XS, ZE8h) (VR IN\RILEME) FH) (M%) JYIVZNYRIV (EEEE)
Operation Method Manual Manual Electric (2 levels) Electric (2 levels)
(X-axis & Z-axis) X ) Manual Plus handle
(Using handle) (Using handle) (Fine Adjustment) (Fine Adjustment)
SERE—9 (X#h. Z#) AVFTITVavVE-Y AC O—IRE—%9

Motor Type (X-axis & Z-axis)

Induction motor

AC servo motor

RAIU—-VE
e Screen Dia.
Optical Projector s%

Maghnification

ZEVRILER (WInb. TIEETEW)
Spindle Shank (To be selected)

BT30, 40, 50
HSK32, 40, 50, 63, 80, 100
KM32, 40, 50, 63, 80

¢80 ®»120
(0p.$180) (0p.$180) 180
x10 x10
(0px20) (0px20) x20
BT30, 35, 40, 45, 50 (0p. £5ZvIRLVRIL) (op.Ceramic Spindle)
HSK32, 40, 50, 63, 80, 100  KM32, 40, 50, 63, 80

(op.Y—IVETHERMEL) (op.Tool height adjustment mechanism)

(op. 9 FIWAEVRILi#:  TP-300ND3) (op.Double spindle type TP-300N only)

Y —LERERE
Auto Tool Locking

FH
(N RJVERE)
Manual
(Using handle)

FRE
Air pressure

0.4~0.7mpa (4~7kgf/cm2)
(op HEfLER) (op.Hydraulic type)

Y=IWI5277 (kgf)
Tool Clamping Force

ZERE  Air pressure 0.5MPa)

1200

CHET#  Hydraulic type)

et

Power Supply

AC100V£10% 50/60Hz

BENRFDBE. CHH TSV (4 TY3Y)

Please advise when ordering if another
voltage is required. (Optional)

AC200V£10% 50/60Hz

HiEFE W x D x H (mm)
External Dimensions

768 x 450 x 1520

933 x646 x 1721

946 x 583 x 1740

1309 x 706 x 2140

BE (kg)

Weight 70 35 400 700
TINFyIRRIZY MBI KRS
o Battery for Digimatic scale unit Light source lanmp
REMER

Standard accessories

NA9=5=J1150, T=NTU—F. LYFtw b A=ty URLRILNEROR/ T, BB RIEHES. BEX
Master gauge L150, Taper cleaner, Wrench set, Cover set, Spanner, Pedestal, Accuracy Table




N—C\V—Hmwn

V—=ILTUEvIFIEHY
TOOL PRESETTER ACCESSORIES

77tHU

OHAmEF(CIF. Code No.&F LA wRNoO. ZHIFER FE L,
@®\When ordering, please inform code no. and pull-stud no.

Z|AY—7'

TAPER REDUCTION POT S
I
MODBEL Eit:’a;:ir Izqt.j'-l'aplefr ?
T4030 NT40-NT30 NT30 x

T4035 NT40 NT35

. T5030 NT50 NT30

7=\ Ext Taper T5035 NT50 NT35

T5040 NT50 NT40

T5045 NT50 NT45

AU — T ZESBICLS>TIBD TU Y I THIED Y v RO T EZAETEE T,
JLYMAREITI DT FIVRAIYRES IEBDSAETEE T,

dbwhk
Il KTPIY—IA FEDHACF TIPS TINGIET,
Collet ¥NT50-HSK (32~100).NT50-KM (32~80)AU—THHHET .

lj\-‘lT_/ \ By using Taper Reduction Pots, a single presetter can serve all of your setting needs.
Int. Taper The pull-stud is built in, so measurement can be done with tension on the pull-stud.

mH &S

s A-pull-adapter is available which allows both regular and ANSI type to be used.
¥ Taper reduction pots for NT50-HSK (32~100) and NT50-KM (32~100) are also available.

RRIG—=Y

TEST BAR

L | ERSHLE

NT No. -« = i
NF—IY s
¢ Notch for MODEL T ¢D L
SO aper .
elimination i
( Dp  of diffused G30 NT30 $30 150mm &
reflection G35 NT35 040 150mm 5
PS.No. G40 NT40 ®40 150mm
G45 NT45 ®40 150mm
G50 NT50 ®»40 150mm
G425 NT40 ®»40 250mm
G525 NT50 ®»50 250mm
G530 NT50 ®»50 300mm

FELLTLIS0DBDDFBLTHIHL250, L300DBHDBHTINFT .
#HSK, KMAY RIS —IHHBUFET, (L250)

A 150mm length test bar is included as standard, and 250 and 300 test bars also available.

%250mm length test bars for HSK and KM are available.







N—CV—Hmwn

BT+ IESR

s, ~ N
SR BT SHANK DIMENSIONS
H
S
K
)
U
|
X L L4
Ls
M J— '}
L4
S I
J T‘ﬂF—=7‘——g —
> £ I o — 5
7} 15 S S 2 | N
|
z ]
|
H2 | H2 L3 L2
N
A
)
U
%\ BT No. ¢D1 ®D2 ¢ D3 | ¢ D4 L1 L2 L3 L4 L5 H1 H2 M
S20T 30 22.225 24 8.5 25.0 11 1.5 7.0 5 8.1 11.4 M8 X P1.25
BT30 46 31.75 38 48.4 20 13.6 8 16.3
BT35 53 38.10 43 12.5 56.4 22 2 14.6 10 16.1 19.6 M12 X P1.75
BT40 63 44.45 53 17 65.4 25 16.6 22.6 M16 X P2
9] BT45 85 57.15 73 21 82.8 30 21.2 12 19.3 29.1 M20 X P2.5
=1 BT50 100 69.85 85 25 101.8 35 3 23.2 15 354 M24 X P3
BT55 125 88.90 107 126.8 40 26.2 18 25.7 45.1
:EE BT60 155 [107.95| 135 31 161.8 45 28.2 20 60.1 M30 > P3.5
NTY v o<tikR
Z Ny
v, - NN
£ FinEs
v NT SHANK DIMENSIONS
(Manual Tool-Change Type)
M
rr=th——» & [ -
£ ] g liL:ﬂQ_ g
H2 H2 L3 L4
L1 L2
M
NT No. ®D1 | ¢D2 | ¢D3 L1 L2 L3 L4 H1 H2 A—=NILRY A=T7ARY JyhRY
Metric screw Unified screw |Whitworse screw|
NT30 46 | 31.75| 174 70 10 48.4 16 16.1 16.2 | M12 X P1.75 1/2-13UNC W1/2
NT40 63 | 44.45 | 253 95 65.4 ' ' 225 M16 X P2 5/8-11TUNC W5/8
NT50 100 | 69.85 | 39.6 | 130 12 1101.8 392 | 257 353 M24 X P3 1-8UNC W1
NT60 155 |107.95| 60.2 | 210 15 |1161.8 ' ' 60.0 M30 X P3.5 1 1/4-7UNC W1'1/4




BilE#

MT w2092

VIO TIER

E
mE

MTNo.

MORSE TAPER SHANK
DIMENSIONS (Tongue Type)

il

| ——
oD1

a

od2
|

6d2 | LI L2 e R
e Z8 a ¢D1 | 0dl | k) | max) | (vax) & C | Max) | (Max) r
MTO 9.045 3 9.2 6.1 60 | 565 | 595 | 39 65 105 4 1
MT1 12065 | 35 122 | 90 8.7 62 655 | 52 85 135 5 12
MT2 17.780 | 180 | 140 | 135 75 80 6.3 10 16 6 16
MT3 23.825 241 | 191 | 185 94 99 79 13 20 7 2
MT4 31267 | . 316 | 252 | 245 | 1175 | 124 | 119 16 24 8 25
MT5 44399 | 447 | 365 | 357 | 1495 | 156 | 159 19 29 10 3
MT6 63348 | 8 638 | 524 | 510 | 210 | 218 | 190 27 40 13 Z
\ A\
AR R I T)TER
AR MORSE TAPER SHANK DIMENSIONS
(Drawing Thread Type)
K
MT Na.
M
R “\¥ -
53 : 2
S S S ¥ o
,,,,, | 1
_I_ a
L1
L2
od2 | LI L2 T K
LLEA S 8 a @Dl | 0dl | ax) | (Max) | (Max) | (Max) f M (Min.))
MTO 9.045 3 9.2 6.4 6 50 53 4 - -
MT1 12065 | 35 122 | 94 9 535 57 : 0.2 M6 X P1.0 16
MT2 17780 | 180 | 146 14 64 69 MT0 X P1.5 24
MT3 23.825 241 | 198 19 81 86 7 06 M12 X P1.75 28
MT4 31267 | . 316 | 259 25 | 1025 | 109 9 1.0 M16 X P2 32
MT5 24399 | © 447 | 376 | 357 | 1295 | 136 10 25 M20 X P2.5 40
MT6 63348 | 8 638 | 539 51 182 | 190 16 4.0 M24 % P3 50

N—C\VHS N—C\V—Hwn N—C\VAnI N—C\V—Hmwn

mH &S

7
7
t
of
W)




N—CV—n N—CVUAxwnT N—C\V—mwn

N—C\VHZ

mH &S

7
7
t
if
J

BilE#

HSK2 v 2 OJER

SK SHANK DIMENSIONS

AIVEINTUA
Counterbalance Le 60° M
i
g i;?: W $§§§
Q
S
oD7
Q7T
L3 oyLz
L1 La
¢ D5 ¢ D6 L4
HSK No. @D1 ¢D2 ¢ D3 ¢ D4 Max) | (Max) ¢ D7 L1 L2 L3 (Max) L5
HSKA 32 32 24 37 26 4.2 4 16 3.2
HSKA 40 40 30 45 4 34 5 4.6 20 20 4 » 16
HSKA 50 50 38 59.3 42 6.8 6 25 5
HSKA 63 63 48 72.3 70 53 8.4 7.5 32 26 6.3 42 18
HSKA 80 80 60 88.8 ’ 67 10.2 8.5 40 8
HSKA100 100 75 109.75 85 12 12 50 29 10 45 20
HSK No. L6 ¢C1 ¢ C2 ¢ C3 B1 B2 B3 H1 H2 M
HSKA 32 8.92 17 21 19 7.05 9 7 13 9.5 M10 X P1.0
HSKA 40 11.42 21 25.5 23 8.05 11 9 17 12 M12 X P1.0
HSKA 50 14.13 26 32 29 10.54 14 12 21 15.5 M16 X P1.0
HSKA 63 18.13 34 40 37 12.54 18 16 235 20 M18 X P1.0
HSKA 80 22.85 42 50 46 16.04 20 18 34 25 M20 X P1.5
HSKA100 28.56 53 63 58 20.02 22 20 44 315 M24 X P1.5
J—SVNNATHER
/
SR COOLANT PIPE DIMENSIONS
O-ring
_ fFtT————+ -H
E )= B— H— =
L1 L2
L
CODE ¢D1 M L L1 L2 O-ring }I.\IISOK
CLP-032 6 M10 X P1.0 26 20.5 5.5 P4 HSK32
CLP-040 8 M12 X P1.0 29.5 22 7.5 P6 HSK40
CLP-050 10 M16 X P1.0 33 235 9.5 P9 HSK50
CLP-063 12 M18 X P1.0 36.5 25 11.5 P11 HSK63
CLP-080 14 M20 X P1.5 40 26.5 13.5 P12 HSK80
CLP-100 16 M24 X P1.5 44 28.5 15.5 P15 HSK100




N—C\V—Hmwn

HSKY w20 &I A TDRR-45H
VARIOUS FORMS OF

BilE#

HSK SHANKS AVAILABLE 5
S
K
M
AE! A-Type B&! B-Type 'f
=
D
} L
I 3
; y
U 7
|
ORR XY=V SARTSA A8 x
@& XYV IEVY @ TSV IR —HBBEIZFT =SV NNA FEERL TR DG MTTEE
O —SUNNA TEERLTOMEHTIHE OIS VIEUBICKBNVIIEE @Y ZaTILISVTR
O —N\BLHEDRSA TF+—BICKBNVIGE @Jv—IV/VF @D FyIR(FTF3aY)
OATC AU B QI v—IV/VF @V IvIICRU. T—/ BRI T B RINELIFIFT,
O a7 IWIZVTR @D FyIR (FTFvav) o
@For machining centers milling machines and lathers. ;Eﬁ
@For machining centers. @Through-the-tool coolant from flange or from coolant tube 5
@Through-the-tool coolant from coolant tube acceptable. acceptable. 7]
@\With drive slots at the top of taper portion. @With "U" drive slots at the flange. |
@®\With "U" slots for ATC. @®\With pin holes for manual clamping. X
@®\With a German notch. @®With a German notch.
@®\With pin holes for manual clamping. @®\Vith a hole for ID chip. (Option)
@®\WVith a hole for ID chip. (Option) @With one rank smaller taper size.
CE C-Type D& D-Type 7
Hl
T
8
[
OFiE (NS YR TPV VIBEATC MEEDEL SR 7
@IS VI RIV—HEHFIFT—S Y NNA FERL TOEIEMTIAE 7
@S VIEDU BICKBNLIGE t
@& NS YRTFRIVIREATC HEREDEVE R OV v IR T—/\EBIFT A RINELIEIFT, )
@ LVEHTIAE y
@ —N\BLIFEDRSA TF+—BICKBNVIGE @For non-ATC machines, such as transfer machines.
@Through-the-tool coolant from flange or from coolant tube
@For non-ATC machines, such as transfer machines. acceptable.
@Through-the-tool coolant acceptable. @\Vith "U" drive slots at the flange.
@\Vith drive slots at the top of taper portion. @\WVith one rank smaller taper size.
EE! E-Type FE&! F-Type
@& BRAGAYY =V IS AT @7 —SVhINA TEERLTORIDIEHTIAE
OB, RS+ T+ —BEL OV Y+ IICHU. T—/\NEIFT TA RINELIBIF T,
OERZICKBNLImE
OT—SVhNA F=ERLTDEIDEHTIAE @Through-the-tool coolant from coolant tube
@®\With one rank smaller taper size.
@For high speed machining centers and wood milling machines.
@®\With symmetrical shank without drive key slot.
@Friction transmission.
@Through-the-tool coolant from coolant tube acceptable.




SHOWA

SHOWA PRECISION INDUSTRIES CO.,LTD
1-1-60.Tsuneyoshi, Konohana-ku, Osaka 554-0052, Japan
TEL. 816-6460-1881 FAX. 816-6460-1884

mmm I%ﬁf%ﬁ

“-"Printmg is. done wnh(Non VOC mkhnc (wqter\ess pnmmaj

% CAT.-N0.2023-1




	聖和精密工機カタログ2023_H1
	聖和精密工機カタログ2023_web用
	聖和精密工機カタログ2023intro
	聖和精密工機カタログ2023_0116

	聖和精密工機カタログ2023_H4



